No. 451		Breakdo	wn of Un	it Price			v *	
		DO 11 000 : 5	44					
Work:		PC pile, 350 mm, B ty			L/C:	82.00	USS/no	
Unit price:			US\$/no.	(no.)	DC:	02.00		
			equiv.USS	i.110. <i>j</i>				
Remarks:		no. basis						
				<u> </u>			<del></del>	
Particular	PARTERS SAFERED TO THE SAFERED TO TH	Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	ion (US\$)
rancum		Description			Unit cost	Amount	Unit cost	Amount
I Material	The state of the s		And in column 2 is not to the last					
a) PC pile, B-350	mm Lallm	w/cap and shoe	no.	1.00	159.96	159.96	68.56	68.56
b)			1					
sub-total						159.96	1 11	68.56
2 Overhead		20%				31.99		13.71
							:	
		441			<u> </u>	<u> </u>		
Total for	i	no.	<u>                                     </u>			191.95		82.27
	:				] <b>-</b>			
	4.1							
Unit price for	no.	<u> </u>			<b></b>	192.00		82.00
			, .					
				·				
	<del></del>	ļ <del> </del>	<u> </u>		<u>-</u>			
			1 1 1 1 1 1 1			<u> </u>		<del></del>
	· · · · · · · · · · · · · · · · · · ·		1 2:				·	
					l			
					<b></b>	· · · · · · · · · · · · · · · · · · ·		
			<del></del>			· <del></del>		: :
			<del> </del>		<u> </u>			
			-					
			1					
	<u></u>							
	<del></del>				1			
	<del></del>		1					<i>-</i> . — — — —
							ļ	
								· · · · · · · · ·
					<u> </u>	<u></u>	<u> </u>	
			_		. :		<b> </b>	<u> </u>
			_	ļ		ļ.——	ļ	
			_				<u> </u>	
				ļ		I		
		<u> </u>	_		<u> </u>			
		<u> </u>						
			<b> </b>		-	1 1	ļ <del></del>	<del></del>
. •				1		1	•	:

No. 452		Breakd	own of Un	it Price				
Work:	Deising DC	pile, B-350mm, L=11	lm					
Unit price:	F/C		US\$/m		L/C	3.98	US\$/m	
om piece i	(Total		equiv.US\$	Vm)	•			
Remarks:	` .	nos, basis or	•	m pite	0.151 t	on'm	0.76	on
	110	m basis with pile bead	l treatment		0.50 r	n		•
						PERSONAL PROPERTY AND ADDRESS OF		Maria Maria Maria Papala
Particular	:	Description	Unit	Q'ty		ion (US\$)		ion (US\$)
		district of the second of the second of the second		gydnyggiptiya ikasinibili.	Unit cost	Amount	Unit cost	Amount
1 Labor			<b>!</b>		:			
a) Foreman		<u> </u>	m.d.	2.00		0.00	9.28	18.56
b) Operator A		· · · · · · · · · · · · · · · · · · ·	m.d.	1.93		0.00	10.60	20.46
c) Operator B			m.d.	1.92		0.00	7.28	13.98
d) Rigger			m.d.	14.00	1 1	0.00	9.28	129.92
e) Welder			m.d.	0.00		0.00	9.28	0.00
f) Common labor		· 	m.d.	2.00		0.00	4.64	9,28
sub-total I	·	<del></del>	· · · · · · · · · · · · · · · · · · ·			0.00	<del></del>	192.20
		· · · · · · · · · · · · · · · · · · ·						
2 Material		·	<u> </u>		<del></del>			
a) Light oil			lit.	77.40		12.38	0.04	3.10
b) Lubricant	· · · · · · · ·	20 % of a)	L.S.	1.00		2.48		0.62
sub-total 2	·				<del>-</del> -	14.86		3.72
			<u> </u>					
3 Equipment			ļ <u>.</u>	<del></del>	· · · · · · · · · · · · · · · · · · ·			
a) Hydraulic pile d		4-5 t	<u>h</u>	8.00	76.62	612.96		153.20
b) Truck crane, hy	d.	15 t	hr	4.80	13.34	64.03	3.33	15.98
c) Dump truck		<u>8 t</u>	hr	0.09	4.90	0.44	1.23	0.11
sub-total 3		· · · · · · · · · · · · · · · · · · ·	<u> </u>	<b></b>		677.43		169.29
· · · · · · · · · · · · · · · · · · ·		<u> </u>				440.00	<b></b>	
4 Overhead		20%	L.S.	1.00		138.00		73.00
	<u> </u>		<u> </u>	L		010.00		438.21
Total for	110	m basis with pile hea	id treatmen	t 		830.29	-	438.21
			<del>                                     </del>	ļ		7 66		3.98
Unit price for 1	<u>m</u>					7.55		3.30
			-	ļ	<del>-</del>			
			-	l		· · · · · · · · · · · · · · · · · · ·		<del></del>
				l				-
l			-	l		<u> </u>		
								<del>                                     </del>
		·	-1			·		
					ļ			
			-			:		
	<del></del>				<u> </u>			
				<u> </u>				
	<del>-</del>			1			· [	
	<u> </u>	·		<u> </u>	l			<del></del>
				l	<b> </b>		1	
	<del>i</del>	<del> </del>		<del> </del>	l	<del> </del>	·[	
		1				<u> </u>		

No. 453		Breakdo	wn of Un	it Pcice					
Work:		PC pile, 350 mm, B ty		<u> </u>		1.00.			. :
Unit price:	F/C:	209.00		laa N		I/C:_	90.00	US\$/no.	
Damada	•	299.00 no. basis	equiv.USS	v110.)					
Remarks:		no. vasis							
						~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		<del></del>	•
Particular		Description	Unit	Q'ty	Ť	F/C Port	on (USS)	L/C Port	ion (USS)
Janua una	ı	Description.	-		t	Unit cost	Amount	Unit cost	Amount
1 Material		AND THE PROPERTY OF THE PROPER				AND ACCOUNTS TO SECURITION OF THE PARTY OF T		A SANGER ME A SANGER AND AND AND ADDRESS OF THE ADD	
a) PC pile, B-350r	nm, L=6m	w/cap at both ends	no.	1.0	ю	87.83	87.88	37.66	37.66
b) PC pile, B-350r		w/cap and shoe	no.	1.0	ωl.	86.69	86.69	37.15	37.15
sub-total				- :			174.57		74.81
		<u> </u>			_				
2 Overhead		20%	:	<u> </u>			34.91		14.96
	<u> </u>		·		.				
- <u></u>				:	-}	<del></del>			00.53
Total for	1	no.			-1	<del></del>	209.48		89.77
			·- <del>-</del> ·		-				
		<del>`</del>	<u></u>				209.00		90.00
Unit price for 1	no.			<del></del>	$\dashv$		207.00		70.00
				<del></del>	-		· · · · · · · · · · · · · · · · · · ·		
			· · · · · · · · · · · · · · · · · · ·		-1				
	<u> </u>				1				1.1
			\$ a	1 5					<u></u>
-									
					_				
			1						
				:	┷┟		<del></del>		
	<u> </u>				-		<del></del>		
		_ <del></del>				<u>:</u>	<del></del>		<del></del>
					-			<b> </b>	
<del></del>	<u>;</u>	ļ	<u> </u>				<del></del>	<b> </b> -	
					_			<b> </b>	· · · · · · · · · · · · · · · · · · ·
	<del></del>								
			1			3			:
								<b>\</b>	<del>.</del>
			]						
			.				· · · · · · · · · · · · · · · · · · ·		
				<u></u>		·	. <del></del> - <del></del>		
				ļ					<u> </u>
		.					<u> </u>		

No. 454		Breakdown of Unit Price		
Work:	Driving PC pile, B-350m	m, L=12m		mpanyalang, manyanyakain mbila bibila dahid mili Malala Palaland
Unit price:	F/C	10.38 US\$/m	I/C	4.87 US\$/m
	(Total	15.25 equiv.US\$/ m)		
Remarks:	10 nos. basis or	12 m pile	0.151 ton/m	0.76 ton
	120 m basis with	pile head treatment	0.50 m	

Particular		Description	1	Unit	Q'ty	F/C Port	ion (US\$)	L/C Porti	on (US\$)
		A SUSTINE PRINCIPLE TO THE TAXABLE PRINCIPLE T		-		Unit cost	Amount	Unit cost	Amount
1 Labor							<del></del>		· · · · · ·
a) Foreman		<u> </u>		m.đ.	2.00		0.00	9.28	18.56
b) Operator A			_[	m.d.	2.89		0.00	10.60	30.63
c) Operator B			.	. m.đ.	2.88		0.00	7.28	20.97
d) Rigger				m.d.	14.00		0.00	9.28	129.92
e) Welder				m.d.	2.00		0.00	9.28	18.56
f) Common labor				m.d.	2.00		0.00	4.64	9.28
sub-total I							0.00		227.92
					. :				
2 Material									
a) Light oil				it.	115.40	0.16	18.46	0.04	4.62
b) Lubricant		20 % of a)		LS.	1.00		3.69		0.92
sub-total 2							22.15		5.5
. :									
3 Equipment									
a) Hydraulic pile driver	7.	4-5 t		þr	12.00	76.62	919,44	19.15	229.80
b) Truck crane, hyd.		15 t		br .	7.20	13.34	96.05	3.33	23.98
c) Dump truck		8 t		hr	0.09	4.90	0.44	1.23	0.11
sub-total 3							1,015.93		253.89
	7	1.00							
4 Overhead	<del>-</del>	20%		L.S.	1.00		208.00		97.00
				:					
Total for	120	m basis with pile	head	treatment			1,246.08		584.3
									:
Unit price for 1 m						1	10.38		4.8
					- : :				
		· · · · · · · · · · · · · · · · · · ·							
	·								
						1		1	
			-		·		<del></del>	l <del></del>	<del></del>
				··.					
	<del></del> -		_						
<del></del>	<del>}</del>							<b> </b>	
					<del></del>	<u> </u>		<b> </b>	
	<del></del>	· · · · · · · · · · · · · · · · · · ·	<del></del>			<del></del>			
	<u></u>	<u> </u>			* . * . *	<b> </b>		<b> </b>	
						<b></b>			
	<del></del>	ļ					ļ		
		j		or and a relative	NOVE TO BE OF THE				

No. 455		Breakdo	wn of Ur	it Price				
Work:	Furnichina	PC pile, 350 mm, B ty	pe. L=13n	1				
		227.00		-	I/C·	97.00	US\$/no.	
Unit price:	FIC:	27400	aguio 1164	(Ina.)		77,00		•
		324.00	egory.033	x 110. j				
Remarks:		no. basis					· · · · · · · · · · · · · · · · · · ·	
								•
	a videologia (pajanoja ar para). Primar		~~~~	Parama danah danah		***		
Particular		Description	Unit	Q'ty		tion (US\$)		tion (US\$)
one and the second	The March Property and a	CONTRACTOR DESCRIPTION OF THE PROPERTY OF THE			Unit cost	Amount	Unit cost	Amount
I Material								
a) PC pile, B-350	0mm, L=7m	w/cap at both ends	no.	1,00	102.47	102.47	43.92	43.92
b) PC pile, B-35	0mm, L=6m	w/cap and shoe	no.	1.00	86.69	86.69	37.15	37.15
sub-total						189.16		81.07
							<u>.</u>	
2 Overhead	:	20%	:			37.83	:	16.21
	<del></del>					: .		
Total for	1	no.	<b> </b>			226.99		97.28
10(4) 103						: : :		
			<b></b>					
		· · · · · · · · · · · · · · · · · · ·				227.00		97.00
Unit price for	I no.					221.00	<del></del>	
		<u> </u>			, — — <del>— —</del>			. <del></del>
			ļ					
<del></del>	<u> </u>		<u> </u>				<b></b>	<u> </u>
	<del></del> -						<u> </u>	
	<u>, , , , , , , , , , , , , , , , , , , </u>	<u> </u>	ļ. <b>_</b>					
		<u> </u>	<u> </u>		<del></del>	·	ļ - <del></del>	
			ļ			<u> </u>	ļ	
: .	<u></u>			<del></del> _	1	<del></del>		
	1	<u> </u>	<u></u>		<u> </u>	·		
	·		<u></u>	<u> </u>		. <u></u>		
· · · · · · · · · · · · · · · · · · ·			ļ				<u> </u>	<u></u> _
		<u></u>	<u> </u>					
			<u> </u>					
							<u> </u>	
			}					
	. 1		1					
l		1						
			<del></del>					
	;			I				
<u>-</u>		<u> </u>	<del></del> -	[				
		-	ļ				[	
<u> </u>	<del></del>	<del></del>	<b> </b> -				i	
			<b> </b>				<u> </u>	
_ <del></del> :.	<u> </u>		l					<b></b>
			·					ļ
J			ļ				<b></b>	<del> </del>
		. <b> </b>	ļ		ļ		ļ	<del> </del>
1		1	1	1	1	į.	1	I

No. 456		Break	down of Un	it Price				
Work:	Driving PC pile,	B-350mm, L=1	13m					:
Unit price:	F/C	9.5	9 USS/m		I/C	4.50	US\$/m	
	(Total	14.0	9 equiv.USS	Vm)	_			
Remarks:	10 nos. t	asis or	13	m pile	0.151	ion/m	0.76	lon
	130 m bas	is with pile be	ad treatment		0.50 i	7		
Particular	1	Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	tion (US\$)
The British College Control of the Control		Magazana a			Unit cost	Amount	Unit cost	Amount
l Labor				T. SPECIAL PROPERTY OF				HERY SHIPS IN SHIP
a) Foreman			m.d.	2.00		0.00	9.28	18.:

Particular	Description	Unit	Q'ty	F/C Porti	ion (US\$)	L/C Port	ion (US\$)
ettani Meledo (la Cad Callebaria Scialak di Artifesta (Scialak Artifesta)		PAGENTAGE AND		Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m.d.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	2.89		0.00	10.60	30.6
c) Operator B		m.d.	2.88		0.00	7.28	20.9
d) Rigger		m.d.	14.00		0.00	9.28	129.9
e) Welder	<u> </u>	m.d.	2.00		0.00	9.28	18.5
f) Common labor		m.d.	2.00		0.00	4.64	9.2
sub-total I					0.00		227.9
<u> </u>							
2 Material							
a) Light oil		lit.	115,40	0.16	18.46	0.04	4.6
b) Lubricant	20 % of a)	L.S.	1.00		3.69		0.9
sub-total 2					22.15		5.5
3 Equipment							
a) Hydraulic pile driver	4-51	hr	12.00	76.62	919.44	19.15	229.8
b) Truck crane, hyd.	15 t	hr	7.20	13.34	96.05	3.33	23.9
c) Dump truck	8 t	hr	0.09	4.90	0.44	1.23	0.1
sub-total 3					1,015.93	<u> </u>	253.8
						1.	
4 Overhead	20%	L.S.	1.00	<u> </u>	208.00		97.0
		<u> </u>					
Total for 130	m basis with pile head	treatmen	t		1,246.08		584.3
			. <u></u>				
Unit price for 1 m					9.59		4.5
			. <u></u>				
· <del></del>			·		;;		
······································		·	·	_:-:			· ·
				<u> </u>			
		<u>:</u>			<u></u>		<u></u>
<del></del>							
		·					
<u> </u>					111		:
· · · · · · · · · · · · · · · · · · ·				1			
				* .	1 . · · ·		
						. <u></u> [	
			<del>-</del>			T	
		l					

No. 457		Breakdo	wn of Un	H Price				
Work:	Fumishine	PC pile, 350 mm, B ty	pe, L∞17m	<b>1</b>				
Unit price :			US\$/no.		νc:_	127.00	US\$/no.	
•	(Total:		equiv.US\$	/no.)	-			
Remarks:		no. basis						
							·	
Day and an array		Descirios	llai:	O't	E/C Does	tion (USS)	L/C Port	ion (US\$)
Particular		Description	Unit	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Material	ent very divinit Dource entole re	ag agayagiyan giriyi diribi kiribi Califa Salamani						
a) PC pile, B-350n	nm, L≖6m	w/cap at both ends	no.	1.00	87.88	87.88	37.66	37.66
b) PC pile, B-350r		w/cap and shoe	no.	1.00	159.96	159.96	68.56	68.56
sub-total					-1 1	247.84		106.22
·								
2 Overhead		20%			<u> </u>	49.57		21.24
				· · · · · · · · · · · · · · · · · · ·	1.1			
Total for	<u>-</u>	no.				297.41		127.46
TOGITOF						271.41		, , , , , ,
	· · · · · · · · · · · · · · · · · · ·	<u> </u>	- <b>-</b>				· · · · · · · · · · · · · · · · · · ·	
Unit price for 1	no.					297.00		127.00
								- <del></del>
						· · · · · · · · · · · ·		<u> </u>
<u> </u>	. 1			<u> </u>		<del></del>		
:						<u> </u>	<del></del>	<u> </u>
	· · · · · · · · · · · · · · · · · · ·			<del></del>	· · · · · · · · · · · · · · · · · · ·			
	<del></del>				<del> </del>		<u></u>	<del></del>
	<del></del>			<u>-</u>				
						<del></del>		
								. :
			<u> </u>	<del></del>		· · · · · · · · · · · · · · · · · · ·		
			<u> </u>				<del></del> -	·
			<sup>!</sup>					
						<u></u>		
	:			· <del></del>				
- <del></del>	<del></del>				<b></b>			· · · · · · · · · · · · · · · · · · ·
	1 1				[			
		<u> </u>			<u> </u>			
	····						<u> </u>	·
			1.0	:	<u> </u>			
		<u> </u>	<b> </b>			ļ		
	<del></del>		·——-				<b>[</b>	
·- <del></del>				<b></b>	<u> </u>	<del></del>		<del></del>

No. 458		Breakdo	ow <b>n</b> of Un	n Price				
Work:	Driving PC	pile, B-350mm, L=17	m					
Unit price:	F/C		US\$/m		L/C	3.44	US\$/m	
<del>-</del>	(Total		equiv.ESS	√m)	-			
Remarks:	10	nos. basis or	17	m pile	0.151	ton/m	0.76 1	on
	170	m basis with pile head	treatment		0.50	m		
	~~~	Chicago Company Compan			44.14.12.12.14.44.		-	esticates and State City
Particular		Description	Unit	Q'ty		tion (US\$)		ion (US\$)
	Property States of the States				Unit cost	Amount	Unit cost	Amount
1 Labor				2.00		0.00	9.28	18.56
a) Foreman	· · · · · · · · · · · · · · · · · · ·		m.d. m.d.	2.89		0.00	10.60	30.63
b) Operator A			m.d.	2.88		0.00	7.28	20.97
c) Operator B			m.d.	14.00		0.00	9.28	129.92
d) Rigger			m.d.	2.00		0.00	9.28	18.56
e) Welder f) Common labor			m.d.	2.00		0.00	4.64	9.28
sub-total I		<u> </u>		2.00		0.00	3.07	227.92
300-10141			<del> </del>					227.72
2 Material								· · · · · · · · · · · · · · · · · · ·
a) Light oil		<del></del>	tit.	115.40	0.16	18.46	0.04	4.62
b) Lubricant		20 % of a)	L.S.	1.00		3.69		0.92
sub-total 2						22.15		5.54
3 Equipment								
a) Hydraulic pile o	friver	4-5 t	hr	12.00	76.62	919.44	19.15	229.80
b) Truck crane, by		15 t	hr .	7.20	13.34	96.05	3.33	23.98
c) Dump truck		81	hr	0.09	4.90	0.44	1.23	0.11
sub-total 3						1,015.93		253.89
4 Overhead		20%	L.S.	1.00		208.00		97.00
Total for	170	m basis with pile hear	d treatmen			1,246.08		584.35
		· 		· · ·				
Unit price for 1	mı	·				7.33	·	3.44
							·	
	<del></del>							
		l				***************************************		
	<del></del>			<del></del>		·		
		<u> </u>				·- <del></del>		
		<b></b>						
<b>-</b>	<del></del>	<u> </u>		<sup> </sup>	<del></del>		<u></u>	<u>- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1</u>
			·					
		·						
					·	<u>.</u>		<u> </u>
	<u> </u>		<b>]</b>		<u> </u>			
	<u> </u>	<u> </u>						
· — · · · · · · · · · · · · · · · · · ·			<del></del>	<u> </u>				
		- <del></del>	<del> </del>	<del> </del>	<u> </u>		<b> </b>	· · · · · · · · · · · · · · · · · · ·
l				L	J		<u> </u>	

No. 459		Break	kdov	en of Un	it Price		-		
Waster	Cumich!	PC pile, 350 mm, I	R no-	J _10~				. •	
Work : Unit price :				SS/no.		L/C:	135.00	USS/no.	* *
Our bree:	(Total :	<del></del>			/no.)	DC			
Remarks:		no. basis		4417.000	1110.7				
Kemarks:		110. V4515							
•									
Particular		Description	T	Unit	Q'ıy	F/C Port	ion (US\$)	L/C Por	tion (US\$)
t area and	Ì					Unit cost	Amount	Unit cost	Amount
1 Material	OMNOSTICATION CONTRACTOR OF THE PARTY OF THE	THE WASHINGTON		-					aran (erak di kurupan panan antah mendilah
a) PC pile, B-350mr	ր, L=7m	w/cap at both end	ds	no.	1.00	102.47	102.47	43.92	43.92
b) PC pile, B-350mr		w/cap and shoe		no.	1.00	159.96	159.96	68.56	68.56
sub-total	ا ا			- <del></del>			262.43		112.48
:			_ -	, ,					
2 Overhead	·	20%					52.49		22.50
						<u> </u>			:
									<del></del>
Total for	1	no.			1.		314.92		134.98
	:					<u> </u>	·		
					· · ·		<del></del>		<del></del>
Unit price for 1 n	o		_				315.00		135.00
				<u> </u>				· .	
				<u> </u>					
	<u> </u>				<u> </u>		·		
		:							
<u> </u>	<u> </u>	ļ	<del>-</del>  -	· · · · · ·	<del></del>		· · · · ·		
		<b></b>			<del></del>	<u> </u>	<del></del>		
	<del></del>	ļ	-						<u> </u>
	<del></del>	<del> </del>	-1	<del></del> -	· · · · · · · · · · · · · · · · · · ·	<u> </u>			
						[			
		·			- <del></del>				
	<del></del>	-			<del></del>		L		
	<del></del>	-				1			
<u> </u>		1							
				:					
							:		
	2						:		
								·	
								· · · · · · · · · · · · · · · · · · ·	
					<u> </u>			<u> </u>	
B		T	j			I .		· ·	

No. 460		Breakdown of Unit Price			
Work:	Driving PC pile, B-350:	nm, L=18m			
Unit price:	F/C	6.92 US\$/m	L/C		3.25 US\$/m
	(Total	10.17 equiv.US\$/ m)			
Remarks:	10 nos. basis or	18 m pile	0.151	ton/m	0.76 ton
	180 m basis with	pile head treatment	0.50	m	

Particular	Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Portion (US\$)		
			-2-XII W.W.2 N.W.207-10-4	Unit cost	Amount	Unit cost	Amount	
i Labor	<u></u>							
a) Foreman	<u> </u>	mi.d.	2.00		0.00	9.28	18.50	
b) Operator A	:	m.d.	2.89		0.00	10.60	30.6.	
c) Operator B		m.d.	2.88		0.00	7.28	20.9	
d) Rigger		m.d.	14.00	:	0.00	9.28	129.9	
e) Welder		m.d.	2.00		0.00	9.28	18.50	
f) Common labor		m.d.	2.00		0.00	4.64	9.2	
sub-total I				,	0.00		227.9	
			*	:				
2 Material					·			
a) Light oil		lit.	115.40	0.16	18.46	0.04	4.6	
b) Lubricant	20 % of a)	LS.	1.00		3.69		0.9	
sub-total 2					22.15		5.5	
3 Equipment			1.4		:			
a) Hydraulic pile driver	4-5 t	. hr .	12.00	76.62	919.44	19.15	229.8	
b) Truck crane, hyd.	15 t	hr	7.20	13.34	96.05	3.33	23.9	
c) Dump truck	8 t	hr	0.09	4.90	0.44	1.23	0.1	
sub-total 3					1,015.93		253.8	
			1 1					
4 Overhead	20%	LS.	1.00		208.00		97.0	
Total for 180	m basis with pile he	ad treatment		1	1,246.08		584.3	
Unit price for 1 m					6.92		3.2	
			:					
		:						
		:					:	
					F			
				[				
<del></del>								
		-						
				1				
l	-	-1		<b>!</b>				

No. 461		Bre	eakdo	wn of Un	it Price	and the second s			
Work:	Furnishing	PC pile, 400 mn	n, B typ	e, L≖IIm	1				
Unit price:	F/C:	2	52.00 l	US\$/no.		νc:	108.00	US\$/no.	
·	(Total:	3	60.00	equiv.USS	/no.)				
Remarks:		no, basis							·
						ray y salan amalandardhad Milliothicita Mi			:
			ni dinin yakan dala	***************************************	~~~			er go vagnyagyna, namin dan bal	
Particular		Description	ก	Unit	Q'ty		ion (US\$)	<del></del>	ion (USS)
e negoczyczychy niemakoniałyczniam. Necystalkie					************	Unit cost	Amount	Unit cost	Amount
l Material							212.22		
a) PC pile, B-400m	m, L≃llm	w/cap and sl	hoe	no.	1.00	210.30	210.30	90.13	90.13
b)		 					210.20		00.12
sub-total							210.30		90.13
	<del></del> <del>-</del> -	200					42.06		18.03
2 Overhead		20%					42.00		. 10.03
	·	l							
Total for	1	no.					252.36		108.16
TOTAL IVI									
					<del></del>				
Unit price for 1 r							252.00		108.00
Only pace to: 7	:			1 1					
		ļ <del></del>							
	<del></del>								
									· · · · · · · · · · · · · · · · · · ·
		414.1	1		<u> </u>				
			:				1. 194		
				<u> </u>					
					:			·	<u> </u>
	<u>:</u>			<del></del> -					
	<u></u>		·	<u> </u>			·	- <del></del> -	<del> </del>
	<u> </u>						<u> </u>		··-
	·	<u> </u>							
				<del></del> -					
	<del></del>			· · · · · ·					
							! <del></del>		<del></del>
	<del> </del>		<u>-</u>	<del></del> -					
<del> </del>		.]				<del></del>			<del></del>
			!			l		:	
		<del>                                   </del>		l	<u> </u>				
				<del></del>					
	<u></u>			;					
	<del></del>	<del></del> -				Ī			
1		-				1		[	***
		· · · · · · · · · · · · · · · · · · ·	<del></del> -			<u> </u>	<del></del> -		
			<del></del>	1		<u> </u>	<del></del>		
		-}		1	I	l		l	·

No.	462		Breakdown of Unit Price		
Wo	rk:	Driving PC pile, B-400m	m, L≖IIm		
Uni	it price :	F/C	7.55 US\$/m	L/C	3.99 US\$/m
		(Total	11.54 equiv.US\$/ m)		
Res	narks :	10 nos. basis or	11 m pile	0.199 ton/m	1.00 ton
		110 m basis with	pile head treatment	0.50 m	

	Daniel	11-1-	<u> </u>	E/C D	on (US\$)	L/C Porti	(11CC)
Particular	Description	Unit	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor		****	September 1980 Market M	OBILCOSE	Amount	Onit cost	Amount
a) Foreman		m.d.	2.00		0.00	9.28	18.50
b) Operator A	_ - <del></del>	m.d.	1.94		0.00	10.60	20.5
c) Operator B	_	m.d.	1.92		0.00	7.28	13.9
d) Rigger		m.d.	14.00		0.00	9.28	129.9
e) Welder		m.đ.	0.00		0.00	9.28	0.0
f) Common labor		m.đ.	2.00		0.00	4,64	9.2
sub-total 1					0.00		192.3
2 Material							
a) Light oil		lit.	77.70	0.16	12.43	0.04	3.1
b) Lubricant	20 % of a)	LS.	1.00		2.49		0.6
sub-total 2					14.92		3.7
3 Equipment							<u> </u>
a) Hydraulic pile driver	4-5 t	hr	8.00	76.62	612.96	19.15	153.2
b) Truck crane, hyd.	15 t	hr	4.80	13.34	64.03	3.33	15.9
c) Dump truck	81	hr	0.11	4.90	0.54	1.23	0.1
sub-total 3		. <u> </u>		· · · · ·	677.53	<u> </u>	169.3
						. <u></u>	
4 Overhead	20%	L.S.	1.00		138.00		73.0
Total for 110	m basis with pile head	l treatment	· · · · · · · · · · · · · · · · · · ·		830.45		438.3
	<u> </u>	<del></del>					
Unit price for 1 m					7.55	- <del></del>	3.9
	<u> </u>	÷					<del></del>
<u> </u>	<u> </u>				<del></del>		
				7			· · · · ·
	-[	<del></del> -		l <del></del>	· <del></del>		<del></del>
		·		T			
				·	<del></del>		<del></del>
							<del></del>
<u> </u>	···   ·			<del>                                     </del>	<del></del>	<del></del>	
		<del> </del>	<del></del> -			<del> </del> ;- <del>- </del> -	
		}	<del></del>			l	· · · · · · · · · · · · · · · · · · ·
		l	·	<del> </del>	<del></del>		
		l		I I		lL	

No. 463		Breakdo	own of Ur	nit Price	•		:	
	<b>.</b>	PG 11, 400 -						
Work:		PC pile, 400 mm, B ty		<u> </u>		110 00	1190/	
Unit price:	F/C:		US\$'no.		UC:	118.00	USS/no.	
		394.00	equiv.US	Vno.)				
Remarks:		no. basis						
THE RESIDENCE OF THE PARTY OF THE PARTY.		THE PERSON NAMED IN COLUMN TWO					O TENER WITH THE PARTY OF THE	
Particular		Description	Unit	Q'ty		tion (US\$)		tion (US\$)
		**************************************	CALADA MAND KINDO	AT . S SEC. 10	Unit cost	Amount	Unit cost	Amount
l Material								
a) PC pile, B-400	mm, L=6m	w/cap at both ends	i no.	1.00	115.88	115.88	49.66	49.66
b) PC pile, B-400	mm, L≖6m	w/cap and shoe	no.	1.00	113.79	113.79	48.77	48.77
sub-total						229.67		98.43
						1	1	
2 Overhead		20%	,			45.93		19.69
				-				
Total for		no.		:		275.60		118.12
10.01701								
	<del></del>			·		<del></del>		
Visit series for 1						276.00		118.00
Unit price for I		<u> </u>		<del></del>		2.0.03		
			· <del></del>					<del></del>
	<del></del>	1	<b></b>					· <u></u>
	<del></del>	<u> </u>	<del></del>					7. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
		<u> </u>						
	···	ļ — — — — — — — — — — — — — — — — — — —			- <del></del>		}	
				·	·			. <del></del>
	<u> </u>							
	<del></del>							<u> </u>
		<u> </u>	<u> </u>	<b> </b>				<del></del>
						<u> </u>	<u> </u>	<del></del>
	, , , , , , , , , , , , , , , , , , ,		ļ	<b> </b>				
			ļ <u>:</u>					
	·		<u> </u> -	<u> </u>				
		.l		<u> </u>			<u> </u>	
-	<u> </u>			<u> </u>				
	<u> </u>	<u> </u>	<u>                                     </u>			<del></del>		
		<u> </u>	<b> </b>			1 1	<u></u>	
					l			
		<u> </u>	<u> </u>	l				
				1 /				
					l			
I		.	1		I	<del> </del>	[	1

No. 464		Breakd	own of Ur	nit Price				
352 - 4	D : / . DO							
Work:		pile, B-400mm, L=12			LO	4.00	11001	
Unit price:	F/C (Total	15.27	US\$/m	\$1 mal	L/C _	4.85	US\$/m	
Remarks:	•	nos, basis or		sv in) m pile	0.199 to	a <b>n</b> /m	1.00 t	a-a
Remarks.		m basis with pile head			0.50 n		1.00 8	JII
	120	in basis widi pik ikac	, oceanicin		0.30 11			
Particular	STATE OF STREET	Description	Unit	Q'ty	E/C Porti	on (US\$)	L/C Port	on (US\$)
			0,,,,	\ \ \	Unit cost	Amount	Unit cost	Amount
1 Labor	**************************************					and at the state of the state of the state of		enterior establishment
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.đ.	2.90		0.00	10.60	30.74
c) Operator B			m.d.	2.88		0.00	7.28	20.97
d) Rigger		. ·	m.d.	14.00		0.00	9.28	129.92
e) Welder			, m.d.	2.00		0.00	9.28	18.56
f) Common labor			m.đ	2.00		0.00	4.64	9.28
sub-total 1						0.00		228.03
,	· · · · ·							
2 Material				<u> </u>				
a) Light oil			lit.	115.70	0.16	18.51	0.04	4.63
b) Lubricant		20 % of a)	LS.	1.00		3.70		0.93
sub-total 2					11	22,21		5.56
3 Paul		· · · · · · · · · · · · · · · · · · ·	* .	· · · · · · · · · · · · · · · · · · ·		<u>;</u>	7 (1)	·····
<ul><li>3 Equipment</li><li>a) Hydraulic pile d</li></ul>	Lisae	4-5 t	L	13.00	76.62	010.44	19.15	229.80
b) Truck crane, hy		15 t	hr hr	12.00 7.20	13.34	919.44 96.05	3.33	23.98
c) Dump truck	<u>.                                    </u>	81	hr	0.11	4.96	0.54	1.23	0.14
sub-total 3	<del></del>					1,016.03	1.25	253.92
		<del></del>				1,0,0,0,0		233.71
4 Overhead		20%	L.S.	1.00		208.00		98.00
						<del></del>		
Total for	120	m basis with pile head	l treatmen			1,246.24		585.51
Unit price for 1	10		<del></del>			10.39		4.88
·			l	<u> </u>				
						* * * * * * * * * * * * * * * * * * * *		
·			<del></del>					
		·						
	<del></del>	- <del></del>	-					
	<del></del>							
· · · · · · · · · · · · · · · · · · ·				1				
-				1 1				:
				. :				
				:				

No. 465		Breakdown of Unit Price								
Work : Unit price :			uss/no.		<i>U</i> C:_	138.00	US\$/ne.	• .		
Remarks:		no. basis								
Particular	e Xilifarii inni anno etterillianni et	Description	Unit	Q'ty		ion (US\$)	<del></del>	tion (US\$)		
I Material		THE TAIL TO SELECT A SELECTION OF THE SELECT ASSESSMENT OF THE SELECT A			Unit cost	Amount	Unit cost	Amount		
a) PC pile, B-400m	m L=7m	w/cap at both ends	no.	1.00	134.94	134.94	57.83	57.83		
b) PC pile, B-400m		w/cap and shoe	no.	1.00		133.15	57.07	<b>57.07</b>		
sub-total						268.09		114.90		
2 Overhead		20%				53.62		22.98		
Total for	<u> </u>	no.				321.71	· · · · · · · · · · · · · · · · · · ·	137.88		
:				<u> </u>						
Unit price for 1 m	10.					322.00		138.00		
	<del></del>			<b></b>						
· <del></del>	·		. <u>.                                   </u>		1					
	<del></del>						<del></del>	<del></del>		
						· · · · · · · · · · · · · · · · · · ·		<del></del>		
			<u> </u>	***				<del></del>		
	1 £-			:						
							,	<u> </u>		
	·							·		
	<del></del>	- <del></del>	<del></del>			·				
			<del></del>		<del></del>					
<del></del>	<del></del> -i		<del></del>					<del> </del>		
<u> </u>				<u> </u>	<u></u>					
								<del></del>		
	· · ·	<del></del>								
	<del></del>					<del></del>				
						<del></del>				
				:				: : : : : : : : : : : : : : : : : : : :		
	*	<u> </u>			<del></del>			<del></del>		
	<u> </u>	·		N -			ا المستحد بمستقد			
		<del></del>								

No. 466		Breakdown of Unit Price		
Work:	Driving PC pile, B-400m	m, L=14m		
Unit price :	F/C	8.90 US\$/m	L/C	4.18 US\$/m
	(Total	13.08 equiv.US\$/ m)		
Remarks:	10 nos, basis or	14 m pile	0.199 ton/m	1.00 ton
	140 m basis with	pile head treatment	0.50 m	

Particular	Description	Unit	Q'ty	F/C Port	tion (US\$)	L/C Port	ion (US\$)
rak was well at the wind with a court of complete the com				Unit cost	Amount	Unit cost	Amount
l Labor							
a) Foreman	ll	m.d.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	2.90		0.00	10.60	30.7-
c) Operator B		m.d.	2.88		0.00	7.28	20.9
d) Rigger		m.đ.	14.00		0.00	9.28	129.9
e) Welder		m.đ.	2.00	7 .	0.00	9.28	18.5
f) Common labor		m.đ.	2.00		0.00	4.64	9.2
sub-total I					0.00		228.0
	1 / L				· ·		
2 Material							
a) Light oil		lit.	115.70	0.16	18.51	0.04	4.6
b) Lubricant	20 % of a)	L.S.	1.00		3.70		0.9
sub-total 2					22.21		5.5
3 Equipment							
a) Hydraulic pile driver	4-5 t	br	12.00	76.62	919.44	19.15	229.8
b) Truck crane, hyd.	15 t	br	7.20	13.34	96.05	3.33	23.9
c) Dump truck	8 t	hr	0.11	4.90	0.54	1.23	0.1
sub-total 3					1,016.03		253.9
			1 - 1				
4 Overhead	20%	L.S.	1.00		208.00		98.0
Total for 140	m basis with pile head	l treatment	Ţ		1,246.24		585.5
Unit price for 1 m			<del></del>		8.90		4.1
:	M						1,4
						1	
		1			<u> </u>		
	·	7 1 1	<del></del> -	[- <del></del> -	: .		· · · · · ·
	·   - ·	+					
		: :					<del></del>
			7	<del></del>			
		-	*				
			**		· · · · · · · · · · · · · · · · · · ·	<del>- i  </del>	· · · · · · · · · · · · · · · · · · ·

No. 467	Breakdown of Unit Price							
Work:	Bamboo nite	le, diam. 80-100mm		4		:		
Work: Unit price:	F/C		US\$/m		L/C	0.84	US\$/m	
om pixe:	(Total		•	ťm∀	٥٠.		. =	
Remarks :	_	m basis	45.4,004	•				•
	TOV.			· · · · · · · · · · · · · · · · · · ·		paramina jardendin Dilaksi erdi ahalikilikelijak adalah. Inndustrjan Satzariyakilikelikaliya 1837 selahib, S		
		T	17.	O'-	EW v	accommodule some	tion (US\$)	
Particular		Description	Unit	Q'ty	F/C Port Unit cost	tion (US\$) Amount	Unit cost	tion (US\$) Amount
1 Labor	THE SHALL SHALL							
a) Foreman			m.d.	1.00		0.00	· — —	9.28
b) Operator A			m.d.	1.20	1	0.00	[	12.72
c) Common labor			m.d.	1.00	1	0.00		4.64
sub-total 1				1	1	0.00	<u> </u>	26.64
		1 : 4 : 4		<u>                                     </u>	<u> </u>		<u> </u>	
2 Material			( <u> </u>	\	<u> </u>		\ <u>.</u>	
a) Bamboo pile		diam. 80-100mm	lin.m	400.00	0.03	12.00	0.24	96.00
b) Light oil			lit.	56.00				2.2<
c) Lubricant		20 % of b)	L.S.	1.00		1.79	1	0.45
sub-total 2		Ţ			1	22.75	1	98.69
3 Equipment					<u> </u>		<b>!</b>	
a) backhoe		0.2 m3	hr	8.00	76.62	612.96	1	153.20
sub-total 3		\	<u> </u>	<u> </u>	<u> </u>	612.96	<b>!</b>	153.20
		200			<u> </u>	127.00	<u></u>	56.00
4 Overhead		20%	L.S.	1.00	<del>[</del>	127.00	ţ	
Total for	400	nı				762.71		334.53
							<u> </u>	
Unit price for 1 n	<u>n</u> i	<u> </u>		<del> </del>		1.91		0.84
	<del></del>	1 2 2 2 2 2	\		<u> </u>		<b> </b>	<del></del>
	<del></del>		<del></del> -	I	<del></del>	<del> </del>	<b>{</b>	
l		ļ		\		ļi	<b> </b>	·
<u> </u>		<u> </u>				1	<b>├</b> ───-	:- <del></del>
<u> </u>			·		<u> </u>	<u> </u>		
<u>-</u>		· · · · · · · · · · · · · · · · · · ·	<del></del>		i	<del> </del>	<u> </u>	
	<del></del>		<u> </u>	ļ	i	<del> </del>		\_ <del></del>
<u></u>	· · · · · · · · · · · · · · · · · · ·	-	<u> </u>	ļ	i	<del>                                     </del>	1	
			<del> </del>		<u>-</u>	[ <u>-</u>	<b> </b>	<del></del>
·								
	<del></del>	·	<b> </b>			1		
				-			·	
	· · · · · · · · · · · · · · · · · · ·				ļ			
			- <del></del>	l		<u>                                     </u>	<b>[</b>	
	· · · · · · · ·		-	<u> </u>				
: P			ļ	<b> </b>				
		<u> </u>			<del> </del>		77.2	<del></del>
			·	<b> </b>	1:	<u> </u>	[	

No. 468	Breakdown of Unit Price								
Work:	Furnishing	g and driving wooden	pile, diam.	15-18cm					
Unit price:	F/C		0 US\$/m		1/C	2.43	US\$/m		
	(Total		 8 equiv.US:	\$/ m)	•				
Remarks:	200	) m basis		-		-			
		(II) dad dahadakkanda uran uran jadi baharan dan daharan da uran baharan da ur							
Particular	\$100,7 <u>107 (no m</u> paga	Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	ion (USS)	
	The Mark Indiana consequence				Unit cost	Amount	Unit cost	Amount	
1 Labor									
a) Foreman	·		m.đ.	1.00		0.00	9.28	9.28	
b) Operator A			m.đ.	1.20		0.00	10.60	12.72	
c) Common labor			m.d.	1,00		0.00	4.64	4.6	
sub-total 1	·		- <del></del> -	<del></del> _	<u></u>	0.00	·	26.64	
2 Material			-						
a) Wooden pile		diam. 15-18m	lie m	200.00	- 013				
b) Light oil		Giant 13-16m	lin.m lit.	200.00	0.13	26.00	1.15	230.00	
c) Lubricant		20 % of b)	L.S.	56.00 1.00	0.16	8.96	0.04	2.24	
sub-total 2	<del></del>	20 % 01 0)	L.3.	1.00		1.79		0.45	
						36.75		232.69	
3 Equipment					· <del></del>				
a) backhoe		0.2 m3	þr	8.00	76.62	612.96	19.15	153.20	
sub-total 3						612.96		153.20	
4 Overhead	<u>: `</u>	20%	L.S.	1.00	[	130.00	:	83.00	
Tatal Can	200	<u> </u>				<u> </u>		1 1 1 1 1 1	
Total for	200	m		<b></b>		779.71	- <del></del>	495.53	
Unit price for 1 m			<del> </del> -	<u> </u>					
Olive processors	·		<del></del>			3.90	- 11 T 1 A	2.48	
			1					<del></del>	
·		l	1					<del></del>	
					<del></del>		<del></del>	<del></del>	
			11						
								<del></del>	
			<del> </del>						
								<del></del>	
			·			)			
·								<del></del>	
<u></u>									
<del></del>									
					.				

No. 501		Breakdo	wn of U	nit Price				
Work:	Concrete, type	1, K-325-08-25						
Unit price:	F/C	55.60	U\$\$/m3		L/C	25.31	US\$/m3	
•	(Total	80.91	equiv.US	\$/m3)	-			
Remarks:	Pump method				m3 basis			
	K-325 class,	Slump:8cm, Gm	ax : 25 mi	n				
Particular		Description	Unit	Q'ty	F/C Por	tion (USS)	L/C Port	ion
		•		1	Unit cost	Amount	Unit cost	
1 Labor	THE RESERVE THE PROPERTY OF THE PARTY OF THE	And the second s	PARESTO PERME AND					
a) Foreman		1.3	m.d.	4.80		0.00	9.28	
<del></del>				<b>j</b> 1				

Particular		Description	Ons. 3	V.,	17070111	011 (000)		
					Unit cost	Amount	Unit cost	Amount
1 Labor		THE RESERVE OF THE PARTY OF THE						
a) Foreman		1.4	m.d.	4.80		0.00	9.28	41.54
b) Operator A			m.d.	2.40		0.00	10.60	25.44
c) Operator B		:	m.d.	3.60		0.00	7.28	26.21
d) Concrete worker			m.d.	28.80		0.00	5.32	153.22
e) Common Labor			m.đ.	31.20		0.00	4.64	144.77
sub-total I	-   -					0.00		394.18
	-					1 1		
2 Material							<u> </u>	
a) Ready-mix concrete	_ -	type 1	çu.m	- 288.00	44.69	12,870.72	19.15	5,515.20
b) Light oil			lit.	166.80	0.16	26.69	0.04	6.67
c) Lubricant	· ·	20 % of b)	L.S.	1.00	1	5.34		1.33
d) Miscellaneous		2%	L.S.	1.00		258.06		110.46
sub-total 2				,		13,160.81		5,633.66
360 10(31 2	- ; -   -							
3 Equipment			\$	<u> </u>	1	-		
a) Concrete pump car		60 m3/hr	hr	8.00	17.34	138.72	4.33	34.64
b) Concrete vibrator		45 mm	day	28.80	1	30.82	+	7.78
c) Diesel generator	-	20 kVA	day	2.00		14.20	1	3.56
sub-total 3	-		1		1,	183.74		45.98
Sub-totat 5	-	<del></del>		<del></del> -				
4 Overhead		20%	L.S.	1.00		2,668.91	1	1,214.76
4 Overnead					1			
Total for	288 r		ļ	l	.	16,013.46		7,288.58
10(3) 10(	200	0.7			1			
Clair and a fact that			<del></del>	<b>}</b>	1	55.60		25.31
Unit price for 1 m3								
		<del>`</del>		<u> </u>		·		
			<u> </u>	· [	·	! <del></del>		
<del></del>			·					7 7 7
				·   <del></del> -	·			
			-					
			- <del> </del> -		<del> </del>			:
			<del></del>					<del></del>
		<del></del>	·	-				
			· ]	<b> </b>	-			
	<del>_</del>				-	:- <del></del>		<del></del>
			<u> </u>	ļ		<u> </u>		
	<u>-</u> _		-	·				
			-	.	- <b> </b>	<del>-</del> -		
			1				<u> </u>	

No. 502		Breakdown of Unit Pr	rice		
Work:	Concrete, type 2, K	300-10-40			
Unit price:	F/C	53.78 US\$/m3	L/C	24.54	US\$/m3
	(Total	78.32 equiv.US\$/m3)	•		
Remarks:	Pump method		288 m3 basis		
	K-300 class, Slump	: 10 cm , Gmax : 40 mm			

Particular	Description	Unit	Q'ty		on (US\$)	L/C Portion (US\$)	
SECTION OF THE RESERVE THE SECTION OF THE SECTION O		-		Unit cost	Amount	Unit cost	Amount
1 Labor		-			<u> </u>		
a) Foreman		m.d.	4.80		0.00	9.28	44.5
b) Operator A	-	m.d.	2.40	· · · · · · · · · · · · · · · · · · ·	0.00	10.60	25.4
c) Operator B		m.d.	3.60		0.00	7.28	26.2
d) Concrete worker	_	m.d.	28.80		0.00	5.32	153.2
e) Common Labor	_	m.d.	31.20		0.00	4.64	144.7
sub-total I			<u>:</u>		0.00		394.1
2 Material					<u> </u>		
a) Ready-mix concrete	type 2	cu.m	288.00	43.20	12,441.60	18.52	5,333.7
b) Light oil		lit.	166.80	0.16	26.69	0.04	6.6
c) Lubricant	20 % of b)	L.S.	1.00		5.34		1.3
d) Miscellaneous	2%	L.S.	1.00		249.47		106.8
sub-total 2					12,723.10		5,448.6
3 Equipment							
a) Concrete pump car	60 m3/hr	hr	8.00	17.34	138.72	4.33	34.6
b) Concrete vibrator	45 mm	day	28.80	1.07	30.82	0.27	7.7
c) Diesel generator	20 kVA	day	2.00	7.10	14.20	1.78	3,5
sub-total 3					183.74		45.9
4 Overhead	20%	L.S.	1.00		2,581.37		1,177.7
			1.1				
Total for 28	38 m3	- I			15,488.21		7,066.5
		- I					
Unit price for 1 m3			:	1	53.78		24.5
			· · · · · · · · · · · · · · · · · · ·				
			1		· · · · · · · · · · · · · · · · · · ·		
			:				
:					<del></del>	<del></del>	
		1					<del></del>
			- <del> </del>				
			<u> </u>				
		-			<u>-</u>		
		1 1		<u>-</u>			
	<del> </del>	-				<del> </del>	
		-					
	<del></del>	-				ļ <b>.</b>	<del>}</del>

No. 503	<u> </u>	Breakdown of Unit Price		
Work:	Concrete, type 3,K-2	25-08-25		
Unit price:	F/C	52.68 US\$/m3	L/C	24.06 U\$\$/m3
	(Total	76.74 equiv.US\$/m3)	-	*
Remarks:	Pump method	28	88 m3 basis	
	K-225 class, Slump	: 8 cm , Gmax : 25 mm		
			· -	

Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	ion (US\$)
Derivation of the State of the	SA SPAN	ang sharer comment i jirdi nimbu ma'ida 1866 il 1894. B			Unit cost	Amount	Unit cost	Amount
1 Labor								
a) Foreman			m.d.	4.80		0.00	9.28	44.54
b) Operator A			m.đ.	2.40	·	0.00	10.60	25.44
c) Operator B			m.d.	3.60		0.00	7.28	26.21
d) Concrete worker			m.d.	28.80		0.00	5.32	153.22
e) Common Labor			m.d.	31.20		0.00	4.64	144.77
sub-total I						0.00		394.18
						: 		
2 Material								
a) Ready-mix concrete		type 3	cu.m	288.00	42.30	12,182.40	18.13	5,221.44
b) Light oil			lit.	166.80	0.16	26.69	0.04	6.67
c) Lubricant		20 % of b)	LS.	1.00		5.34	<u> </u>	1.33
d) Miscellaneous		2%	L.S.	1.00		244.29		104.59
sub-total 2			:			12,458.72		5,334.03
								<u> </u>
3 Equipment								
a) Concrete pump car		60 m3/hr	hr	8.00	17.34	138.72	4.33	34.64
b) Concrete vibrator		45 rem	đay :	28.80	1.07	30.82	0.27	7.78
c) Diesel generator		20 kVA	day	2.00	7.10	14.20	1.78	3.56
sub-total 3	- ( ) ·		· <del></del>	: '		183.74		45.98
			<del></del>					· · · · · · · · · · · · · · · · · · ·
4 Overhead		20%	L.S.	1.00		2,528.49		1,154.84
	!				·			
Total for	288	m3				15,170.95		6,929.03
			:					
Unit price for 1 m3						52.68		24.06
	<del></del>							
	<del></del>				l -			
			<u> </u>				<u>-</u>	
		<del></del>	1 1 1 1 1		l			
			<del></del>					
				<del></del>			l	
					l			- <del></del> -
<u> </u>			<u> </u>		<b> </b>			
	_ <del></del>	- <del></del> -		<del></del>	<b> </b>			
	· · · · · ·				<u> </u>			
			<del> </del>		<u> </u>			



No. 504	Breakdown of Unit Price							
Work:	Concrete, type 4, K-	225-10-40						
Unit price:	F/C	51.95 US\$/m3	L/C	23.75 US\$/m3				
	(Total	75.70 equiv.U\$\$/m3)						
Remarks:	Pump method	288	m3 basis					
	K-225 class, Slump	: 10 cm., Gmax: 40 mm		- Principal California de America de Principal de Princip				

Particular	Description	Unit	Q'ty	E/C Port	ion (US\$)	L/C Por	tion (US\$)
				Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m.d.	4.80		0.00	9.28	44.54
b) Operator A		m.d.	2.40		0.00	10.60	25.44
c) Operator B		m.đ.	3.60		0.00	7.28	26.21
d) Concrete worker		m.đ.	28.80		0.00	5.32	153.22
e) Common Labor	1 1 1	m.đ.	31.20		0.00	4.64	144.77
sub-total l					0.00		394.18
					·		
2 Material	<u> </u>	<u></u>					
a) Ready-mix concrete	type 4	cu.m	288.00	41.71	12,012.48	17.88	5,149.44
b) Light oil		lit.	166.80	0.16	26.69	0.04	6.67
c) Lubricant	20 % of b)	L.S.	1.00		5.34		1.33
d) Miscellaneous	2%	L.S.	1.00		240.89		103.15
sub-total 2		ļ			12,285.40		5,260.59
	<u> </u>						
3 Equipment							
a) Concrete pump car	60 m3/hr	pt.	8.00	17.34	138.72	4.33	34.64
b) Concrete vibrator	45 mm	day	28.80	1.07	30.82	0.27	7.78
c) Diesel generator	20 kVA	day	2.00	7.10	14.20	1.78	3.56
sub-total 3					183.74		45.98
	<u> </u>						
4 Overhead	20%	L.S.	1.00	-	2,493.83		1,140.15
		<u> </u>	<del>-</del>		<del></del>		
Total for 288	<u>m3</u>				14,962.97		6,840.90
	r <del>-1</del>						
Unit price for 1 m3			<b></b>		51.95		23.75
		<u> </u>			<del></del>		
			<b>]</b>				
<u> </u>		<b>-</b>	<b></b>		<del></del> -		
<del></del>	·	<del></del>	Ī				<del></del>
			<b> </b>				
<del></del>	<u></u>	- <del></del>		· · · · · · · -			
			ļ				· · · · · · · · · · · · · · · · · · ·
			<u> </u>		<del>``</del>	- <del></del>	<u>:</u>
			<b></b>		<del> </del>		· 
				<b></b>			
			<b> </b>				
		·				l	
<del></del>	·	. <b> </b>		:			<del></del>

No. 505		Breakdown of Unit Price		
Work:	Concrete, type 5, K-	125-10-25		
Unit price:	F/C	46.67 USS/m3	L/C	21,49 US\$/m3
	(Total	68.16 equiv.US\$/m3)		
Remarks:	Pump method		288 m3 basis	
	K-125 class, Słump	: 10 cm, Gmax: 25 mm		

Particular		Description	Unit	Qty	F/C Portion (US\$)		L/C Portion (USS)	
and the state of t	ant Address				Unit cost	Amount	Unit cost	Amount
1 Labor								
a) Foreman		<u> </u>	m.d.	4.80		0.00	9.28	44.5
b) Operator A			m.đ.	2.40	:	0.00	10.60	25.4
c) Operator B			m.d.	3.60		0.00	7.28	26.2
d) Concrete worker			m.d.	28.80		0.00	5.32	153.2
e) Common Labor	-		m đ.	31.20		0.00	4.64	144.7
sub-total			1			0.00		394.1
				· ·	<u> </u>			
2 Material	-						1.0	
a) Ready-mix concrete		type 5	cu.m	288.00	37.39	10,768.32	16.03	4,616.
b) Light oil		. :	lit.	166.80	0.16	26.69	0.04	6.0
c) Lubricant		20 % of b)	LS.	1.00		5.34		1.
d) Miscellaneous		2%	L.S.	1.00		216.01		92.
sub-total 2	- (		]			11,016.36		4,717.
3 Equipment								:
a) Concrete pump car	<del></del>	60 m3/hr	hr	8.00	17.34	138.72	4.33	34.0
b) Concrete vibrator		45 mm	day	28.80	1.07	30.82	0.27	7.
c) Diesel generator	777	20 kVA	day	2.00	7.10	14.20	1.78	3.
sub-total 3						183.74		45.
340 10120	1:5							
4 Overhead	· · · · ·	20%	LS.	1.00		2,240.02		1,031.
			~  <del></del>					
Total for	288	m3				13,440.12		6,188.
								·
Unit price for 1 m3	1:					46.67		21.
	· ·							
1								
							li	
					·			
					l		<u> </u>	
100		-						<u> </u>
	<del></del> .					.: :		
! <u></u>						4.4 1		
	· · · .		1	l				
		.]		<b> </b>	<b></b>		1	- <del></del>

No. 506-1	Breakdown of Unit Price							
Waste	Farmania l	El with an Stalding						
Work : Unit price :	F/C	F1, with scaffolding	US\$in2		L/C	0.05	US\$/m2	
Out piece:	(Total		equiv.USS	E/m/21	DC.	0.00	033/11/2	
Remarks:	100 sq.m ba		equiv.os.	×1112)				
remarky.	100 39:111 00		<del></del>	<del></del>		<del></del>	<del></del>	
							·	
Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	ion (USS)
					Unit cost	Amount	Unit cost	Amount
1 Labor								
a) Foreman			m.đ.	6.00		0.00	9.28	55.68
b) Rigger			<u>m.đ.</u>	12.00		0.00	9.28	111.36
c) Carpenter	·	i_	m.đ	24.00		0.00	7.28	174.72
d) Common Labor	·		tn.đ.	18.00		0.00	4.64	83.52
sub-total l						0.00		425,28
: · ·	}				* *			· 
2 Material								
a) Plywood			sq.m	20.00	3.83	76.60	5.75	115.00
b) Timber, square		<del></del>	cu.m	0.80	68.09	54.47	102.13	81.70
c) Timber, log			cu.m	0.30	57.88	17.36	86.81	26.04
d) Nail			kg 	44.00	0.18	7.92	0.12	5.28
e) Annealed iron v	wite		kg	9.00	0.43	3.87	0.05	0.45
f) Form oil		40 K num	lit.	15.00	0.07	1.05	0.02	0.30
g) Cast iron pipe h) Clamp		48.6 mm	<u>m</u>	68.80 100.00	0.12	97.70 12.00	0.16	11.01
i) Catwalk woode	n nista	1.829x1.05m	pc.	5.00	8.28	41.40	12.41	2.00 62.05
j) Miscellaneous	n prate	3%	pc. L.S.	1.00	0.20	9.37	14.71	9.11
sub-total 2			1.0.			321.74		312.94
300 10.0.2								3,4,5
3 Overhead		20%	L.S.	1.00		64.35		147.64
Total for 100 m	12	<del></del> :			1	386.09		885.86
Unit price for 1	m2					3.86		8.86
			·					
, <u></u>		<u> </u>				<u> </u>		
	<u> </u>		<del></del>			<u> </u>	:	
		··· <del>·········</del>	<del></del>		·	<del></del> !		
	<u></u>							
	. <u></u>							
		: :						
			1 1					<u>.</u>
		<del></del>						
			<del></del>					<del></del>
			l					

No. 506-2		Breakdo	own of Ur	it Pelce				
Work:	Formwork, F	), without scaffoldir	าช					
Unit price :	F/C	1.99		فدالها فرهوبها والمتعدد عودتها مد	L/C	7.03 (	JS\$/m2	
ome parce .			equiv.USS	Vm2)	-			
Remarks:	100 sq m bas		-14011.004	,				
ACCINGING.	100 39 111 003							
Danie Danie		Danadation	11-:-		E/C Doct	ion (US\$)	I/C Porti	on (US\$)
Particular		Description	Unit	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor	ar alab New Mr. Ch. Chr.				Our COST	Amount		
a) Foreman			m.d.	5.00		0.00	9.28	46.40
b) Rigger			m.d.	10.00		0.00	9.28	92.80
c) Carpenter		<del></del>	m.d.	20.00		0.00	7.28	145,60
d) Common Labor			m.d.	15.00		0.00	4.64	69.60
sub-total I						0.00		354.40
						1		
2 Material			1					
a) Plywood			sq.m	20.00	3.83	76.60	5.75	115.00
b) Timber, square			cu.m	0.80	68.09	54.47	102.13	81.70
c) Timber, log			cu.m	0.30	57.88	17.36	86.81	26.0
d) Nail			kg	44.00	0.18	7.92	0.12	5.2
e) Annealed from v	vire :		kg	9.00	0.43	3.87	0.05	0.4
f) Form oil			lit.	15.00	0.07	1.05	0.02	0.30
g) Miscellaneous		3%	LS.	1.00		4.84		6.86
sub-total 2						166.11		235.6
3 Overhead		20%	L.S.	1.00		33.22		118.0
m . 1 c . 100		<u> </u>	·			199.33		708.0
Total for 100 m	12		1			(77.33		
Unit price for 1	m2		Ī			1.99		7.0
*		<del></del>	-					
,								<u></u>
	<u>-</u> -							<del> </del>
				<u> </u>	<u>:</u>			
							· · · · · · · · · · · · · · · · · · ·	
					<u>                                       </u>			
						<del></del> -		
			_ [					
			_					
			<u> </u>					
		1	1	2			. 1	

MENT-D	Carried State Control of the Control			STATE OF THE PARTY OF	THE CONTRACTOR OF THE PARTY OF		ACCEPTANT OF THE PROPERTY OF T	TRACE AND ASSESSED STREET	CONTRACTOR OF THE PARTY OF THE
	No. 507-1		Breakd	lown of Un	it Price				
	Work: Form	nwork, F2,	with scaffolding						
	E-market Park	F/C		3 US\$m2		L/C	11.22	US\$/m2	
		(Total		 5 equiv.US\$	/m2)	-	·		
		sq.m básis		<u>_</u> ~ • •					
	-			Mariana John Barri Brim, mari			t alle Personale de la specie de la section		
	· ·					~~~			
	Particular	*************	Description	Unit	Q'ry	F/C Porti	on (US\$)	L/C Port	ion (US\$)
			•			Unit cost	Amount	Unit cost	Amount
l	Labor								
a)	Foreman			m.đ.	8.00		0.00	9.28	74.24
b)	Rigger			m.d.	18.00		0.00	9.28	167.04
<u>c)</u>	Carpenter			m.d.	30.00		0.00	7.28	218.40
d)	Common Labor			m.d.	20.00		0.00	4.64	92.80
	sub-total l						0.00		<b>552.4</b> 8
				_					
2	Material								
a)	Plywood			sq.m	25.00	3.83	95.75	5.75	143.75
b)	Timber, square			cu.m	1.00	68.09	68.09	102.13	102.13
<u>c)</u>	Timber, log			cu.m	0.50	57.88	28.94	86.81	43.41
<u>d)</u>	Nail			kg	44.00	0.18	7.92	0.12	5.28
e)	Annealed iron wire			kg	9.00	0.43	3.87	0.05	0.45
ŋ	Form oil			lit.	15.00	0.07	1.05	0.02	0.30
g)	Cast iron pipe	<u> </u>	48.6 mm	m	68.80	1.42	97.70	0.16	11.01
h)	Clamp			pc.	100.00	0.12	12.00	0.02	2.00
<u>i)</u>	Cone	_	<u></u>	pc.	44.80	0.12	5.38	0.02	0.90
j)_	Separator		9 mm	nı	25.00	0.16	4.00	0.02	0.50
<u>k)</u>	Catwalk wooden plate		1.829x1.05m	pc.	5.00	8.28	41.40	12.41	62.05
l)	Miscellaneous		3%	L.S.	1.00		10.98	1	11.15
	sub-total 2						377.08		382.93
	· · · · · · · · · · · · · · · · · · ·		<u> </u>	_		·	·		<del></del>
3	Overhead		20%	L.S.	1.00	<u> </u>	75.42		187.08
	· · · · · · · · · · · · · · · · · · ·								
	Total for 100 m2			_			452.50		1,122.49
		<u> </u>		_	<u>-</u>	<u> </u>	<u>:</u>		
_	Unit price for 1 m2		·	_[]			4.53	<u></u>	11.22
	· · · · · · · · · · · · · · · · · · ·			_[]		<u> </u>			
_				_		·		- <del></del>	
			·	_				<del></del>	·
-	<u></u>					<u> </u>			
<b>.</b>		<u> </u>		-					<del></del>
<u> </u>			·						: : : : : : : : : : : : : : : : : : :
			<del></del>	_ -					
	- <del></del>		· · · · · · · · · · · · · · · · · · ·	_					<del>.</del>

No. 507-2		Breakd	own of Un	it Price					
Work: _l		2, without scaffoldi		-		- M			
Unit price:	F/C	2.54	US\$m2		I/C _	8.75	USS/m2	:	
	(Total_	11.29 equiv.US\$/m2)							
Remarks:	100 sq.m bas	is							
Particular Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Port	tion (US\$)	
Faiticusai		Description	"		Unit cost	Amount	Unit cost	Amount	
1 Labor		and the second s	12200042-042-0-0-0-0-0-0-0-0-0-0-0-0-0-0-		Treated at the same of the same of				
a) Foreman			m.d,	6.00		0.00	9.28	55.68	
b) Rigger			m.đ.	12.00		0.00	9.28	111.36	
c) Carpenter			m.d.	24.00		0.00	7.28	174.72	
d) Common Labor			m.d.	18.00		0.00	4.64	83.52	
sub-total 1				]		0.00		425.28	
		*							
2 Material									
a) Plywood			sq.m	25.00	3.83	95.75	5.75	143.75	
b) Timber, square			cu.m	1.00	68.09	68.09	102.13	102.13	
c) Timber, log			cu.m	0.50	57.88	28.94	86.81	43.41	
d) Nail			kg	44.00	0.18	7.92	0.12	5.28	
e) Annealed iron wit	re		kg	9.00	0.43	3.87	0.05	0.45	
f) Form oil		*.	tit	15.00	0.07	1.05	0.02	0.30	
g) Miscellaneous		3%	L.S.	1.00		6.17		8.86	
sub-total 2		<u> </u>				211.79		304.18	
<u></u>			-			<u> </u>			
3 Overhead		20%	, L.S.	1.00	<u> </u>	42.36		145.89	
		<u> </u>	-					025.20	
Total for 100 m2		<del></del>	-[		<u> </u>	254.15		875,35	
			-[	<del></del>		254	i	8.75	
Unit price for 1 m	n2	<del> </del>	- <del> </del>			2.54		8.73	
			-					<del></del>	
			-	<u> </u>		· · · · · · · · · · · · · · · · · · ·			
	<u></u>		<u>- [</u>	<del></del>					
1 _ <del></del>							<u></u>	<del></del>	
					[				
		<u></u>				<del></del> _		<u></u>	
<b></b>				<del></del> -	I				

	No. 508		Breakd	own of U	nit Price				
	Work;	Reinforcin	g bars						
	Unit price:	F/C	0.44	US\$/kg		IJĊ	0.16	US\$/kg	
		(Total	0.60	equiv.US	\$/kg)				
	Remarks:	1 ton basis			*				
							A)		
	Particular		Description	Unit	Q'ty	F/C Po	rtion (US\$)	L/C Por	tion (US\$)
			,			Unit cost	Amount	Unit cost	Amount
ì	Labor			*****	THE RESERVE AND PERSONS ASSESSMENT	and the contract of the contra			
a)	Foreman		<del>-</del>	m.d.	1.00		0.00	9.28	9.28
	Welder		,	m.d.	2.00		0.00	9.28	18.56
	Steel worker			m.d.	6.00		0.00	7.28	43.68
	Common Labor			m.d.	5.00		0.00	4.64	23.20
	sub-total I			113.2.			0.00		94.72
	300 10(4)		<del></del>		<del></del> -		0.00		34.12
	Material								<del></del>
	Reinforcing bas		deformed	kg	1,030.00	0.35	360.50	0.04	41.20
	Miscellaneous		1%	LS.			3.61		
-0)	sub-total 2		170		1.00		364.11		0.41
	Suo-iotai 2			<del> </del>			304.11	· <del></del>	41.61
		*							
-4	Overhead		20%	L.S.	1.00		72.82		27.27
				- <del></del>	<del></del>		426.03		
. <u> </u>	Total for	1,000	kg				436.93		163,60
				ļ	<u></u>				
	Unit price for t	kg		·			0.41		0.16
		<del></del>	:	<u> </u>			· · · · · · · · · · · · · · · · · · ·		<del></del>
	<del></del>	<del></del>	<u> </u>			<del></del>			<del></del>
							<u></u>		
	·								
				<u> </u>					<u> </u>
						·			
				<u> </u>			<u>;</u> ;		<del></del>
		·		. <u> </u>				i	<u> </u>
	· · · · · · · · · · · · · · · · · · ·			ļ. <u></u>			<u> </u>		<u> </u>
					:				
								**	
			4 1 4						
						4: 1	1 1		
	- 191 (4.27 ) (1911) (191 <del>1)</del> (1911) (1911) (1911)								<del></del>
				<u> </u>		1		<del></del>	
			} <del></del>						<del></del>
	<del></del>	<del></del>		::					
				<b> </b>					
				<b></b>	I				

No. 509	Breakdown of Unit Price									
Work:	Joint bars, d	iam. 25 mm, L=1m								
Unit price :	F/C		US\$/m	and the same of	L/C_	0.19	USS/m			
·	(Total	0.75	equiv.US\$	/m)	-					
Remarks:	I m long and	thor bar of 25 mm in d	liam.		398 I	eg basis or				
	Unit weight	: 3.98 kg/m			100 բ	oc, basis				
			****	_						
Particular		Description	Unit .	Q'ty		tion (US\$)		ion (US\$)		
CONTRACTOR OF THE PERSON NAMED IN CONTRA		18.00 mm ha may may har 12.00 mm a chair and a chair a			Unit cost	Amount	Unit cost	Amount		
1 Labor		<del></del>					0.20	9.28		
a) Foreman			m.d.	1.00		0.00	9.28 7.28	14.56		
b) Steel worker			m.d.	2.00		0.00	4.64	18.58		
c) Common Labor			m.d.	4.00		0.00	4,04	42.40		
sub-lotai l										
2 Material	<del></del>	<del></del>				. :				
a) Joint bar		25 mm	pe.	100,00	1.82	182.00	0.21	21.00		
b) Miscellaneous		2%	L.S.	1.00		3.64		0.4		
sub-total 2						185.64		21.4		
3 Overhead		20%	LS.	1.00		37.13		12.70		
								<u> </u>		
Total						222.77		76.5		
								<u> </u>		
Unit price					<u> </u>	0.56		0.1		
							<u>.</u>	- <del></del>		
				·	<u> </u>					
								<del></del>		
			l							
	<del></del>	<del></del>								
				·- <del></del> -						
} <u></u>	<del></del>	<del></del>		<del></del>						
						<del></del> .				
		·								
	÷									
			Ī.							
							<u> </u>	<del>-</del>		
			1			·				
	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1									
					<u> </u>			<u> </u>		
			· · · · · · · · · · · · · · · · · · ·							
		· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		<u> </u>			· · · · · · · · · · · · · · · · · · ·		
	<u>, , , , , , , , , , , , , , , , , , , </u>							·		
•	'	1			[ ·					

	No. 510		Breakdown of Unit Price								
	Work:	PVC water	stop, W = 200 mm						İ		
	Unit price :	F/C		U\$ <b>\$</b> /m		L/C_	2.85	US\$/m			
	•	(Total		equiv.US\$	/m)	-			1		
	Remarks:	100	m basis								
Pellullia			and the state of the		C-CENTRAL MANAGE AN				ngendraeanonnome.		
	Particular		Description	Unit	Q'iy		tion (US\$)	Unit cost	ion (US\$) Amount		
						Unit cost	Amount	CINCOST	VIII/O/III		
	Labor			m.d.	3.00		0.00	9.28	27.84		
	Foreman		<del></del>	m.d.	10.00		0.00	5.32	53.20		
	Concrete worker  Common Labor			m.d.	10.00		0.00	4,64	46.40		
<u>()</u>	sub-total I		<del></del>	nt.o.	10.00		0.00		127.44		
	500-10121 1										
	Material										
	PVC water stop		200 mm	m	100.00	4.29	429.00	1.08	108.00		
	Miscellaneous		2%	L.S.	1.00		8.58		2.16		
	sub-total 2	<del></del>					437.58		110.16		
	:										
4	Overhead		20%	L.S.	1.00		87.52		47.52		
							1 11 14				
	Total for	100	nı				525.10		285.12		
						1 -					
	Unit price for 1 a	ni	. 4				5.25		2.85		
	· · · · · · · · · · · · · · · · · · ·				: 						
			<u> </u>								
	<u></u>				<u></u>		·	<del>-</del> -			
		<del>_</del>				l		<u> </u>			
l	: 	<u> </u>	·	ļ <del></del>		l <del></del> -		<b> </b>			
				<u> </u>				l			
					<u> </u>						
				<del></del>		<b> </b>	· · · · · · · · · · · · · · · · · · ·	<b> </b>			
			·	<del> </del>							
			· <del></del>								
			<u> </u>	<b> </b>		<u> </u>	<del></del>		<del></del>		
-			<u> </u>	<b> </b>		Ŧ					
l		<del></del>		]		<del> </del>					
			<u> </u>								
		<del></del>			<u> </u>	·					
		<del></del>		1							
	<u></u>				1						
				1		·					
1				1		1					
				<u> </u>							
		<del></del>									



	No. 511	V-V-A+-M-C	Breakde	wn of U	nit Price			and the second second second	
	Work: E		joint filler, t=10mm			Com The State of t	an and a second sec		. '
	Unit price:	F/C	7.16	US\$/sq.m	ı	LC	6.30	US\$/sq.m	
		(Total	13.46	equiv.US	\$/sq.m)				
	Remarks:	100	sq.m basis						
							-		
-	Particular		Description	Unit	Q'ty	F/C Po	rtion (US\$)	L/C Por	tion (US\$)
- Table					**********	Unit cost	Amount	Unit cost	Amount
_1_	Labor								<u> </u>
	Foreman			m.đ.	3.00		0.00	9.28	27.8
	Concrete worker			m.d.	10.00		0.00	5.32	
c)	Common Labor			m.d.	10.00		0.00	4.64	46.4
	sub-total I					<u> </u>	0.00		127.4
	·								
	Material			<del></del>					
	Expansion joint fills	er	t=10mm	sq.m	100.00		<del></del>	3.90	· · · · · · · · · · · · · · · · · · ·
b)	Miscellaneous	<u> </u>	2%	LS.	1.00	. ,	11.70		7.8
	sub-total 2	<u> </u>					596.70		397.8
4	Overhead	•	20%	LS.	1.00		119.34		105.0
	· · · · · · · · · · · · · · · · · · ·	<del>:</del>			<u>::</u>		<u> </u>	.,	
	Total for	100	sq m				716.04		630.2
l		· · · · ·							. :
	Unit price for 1 sq.r	m					7.16		6.3
			·		· 		<del></del>		<del></del>
·				<u></u>			<u> </u>		ļ
ļ				ļ					
	<u></u>	<u> </u>						<del></del>	<u> </u>
<u></u>	<u> </u>	<u> </u>		<b></b>	<u> </u>	l		<u> </u>	ļ- <del></del>
		·							
		<u> </u>	<b>]</b>	<u> </u>					!
			<b></b>	]		}			·
						<u> </u>			
:_		· · · · ·							
		<u> </u>	<u> </u>						ļ <del></del>
									<u> </u>
				<u> </u>					ļ
	<u> </u>			· · · · · · ·					
l	<del></del>		<b> </b>	<u> </u>	<u> </u>				<del>-</del>
				<u></u>		<u>_</u>	·		<u> </u>
	·			<u> </u>					
	<u> </u>	· ·						<u> </u>	<u> </u>
	1.1								<del>-</del>
		· .	<b></b>					· · · · · ·	ļ
		1 1 1		<b> </b>	<b>.</b>			:	<u> </u>
			5	E			7		

No. 512	Breakdown of Unit Price								
Wad.,	la delladion	-f annersta	desin block	tiina Ka					
Work:	F/C	of precast concrete o	drain block, 40 US\$/no.	туре за	L/C	2.40	US\$/no.		
Unit price:	•		<u>10  USS</u> no. 30  equiv.USS	eina )	DC_	3,40	O25/no,		
Remarks:	(Total	nos. basis	O cdm4.024	Mno.j					
remarks :	100	nos. uasis				EXTENSION OF THE PARTY OF THE P			
		**************************************							
Dartinday	AND DESCRIPTION OF THE PARTY OF	Passentian	Unit	O'by	E/C Port	tion (US\$)	1/C Doct	ion (US\$)	
Particular		Description	Unn	Q'ty	Unit cost	Amount	Unit cost	Amount	
1 Labor	ATTACA CANCARDA CANCAR	necessaria de la company de la		************************	Cincon	MICON	UBIT COST	Allivia	
		<u> </u>	m.d.	1.00	ı	0.00	9.29	9.70	
a) Foreman				1	\$		9.28	9.28	
b) Operator A			m.d.	0.90	<b>!</b>	0.00	10.60	9.54	
c) Operator B		<del></del>	m d.	0.90	1	0.00	7.28	6.55	
d) Rigger		<del> </del>	m.d.	2.00	l	0.00	7.28	14.56	
e) Plumber		ł	m.d.	2.00	<b>1</b>	0.00	7.28	14.56	
f) Common labor			m.d.	4.00	<del> </del>	0.00	4.64	18.56	
sub-total 1					1	0.00	i	73.05	
7 77 - 1-1			-	l	1		<del></del>		
2 Material	المحالات	1		200.00	1.47	447.00	1 92	101.00	
a) Precast concrete	drain block,	type 5a	nos.	100.00	1	447.00	1.92	192.00	
b) Light oil		22.77 - (1)	lit.	51.00	0.16	8.16	0.04	2.04	
c) Lubricant		20 % of b)	LS.	1.00	<b> </b>	1.63	l	0.41	
sub-total 2				[	l	456.79		194.45	
				<del>                                      </del>	l		· ·	-	
3 Equipment			[	( cm	12.24			10.00	
a) Truck crane	<u> </u>	15 t	- hr	6.00	13.34	80.04	3.33	19.98	
sub-total 3		<del></del>			l	80.04	1	19.98	
4.0	· · · · · · · · · · · · ·	30%	-			107.27	1	5150	
4 Overhead		20%	L.S.	1.00	1	107.37		57.50	
771 #	100				l		I	344.00	
Total for	100	nos.	-			644.20	1	344.98	
**		<b>!</b>			1		I - <del>:</del>  -	3.40	
Unit price for 1	no.	ļ	- !	<del>                                     </del>	1	6.40	ı———— -	3.40	
<u></u>	<u></u>		- !	<b> </b>	I		I		
			_[	<b> </b>	<del>                                     </del>		1		
<del></del>		<u> </u>				<u></u>	ı <del>-</del>		
	<del></del>	<b> </b>	'		<del>                                     </del>		1		
	<u> </u>	<u> </u>		-					
	AND THE RESERVE OF THE PARTY OF								
					<del> </del>		r		
		:	- '				<del> </del>		
-			<u> </u>					<del></del>	
	. <del></del> !					. · · · · · · · · · · · · · · · · · · ·	2 7 7 2 2	:	
							l	<u> </u>	
<del></del>	<u></u>	<u> </u>			<b> </b>		i	·	
			— <del>  — — —</del> — — — — — — — — — — — — — — — —				i		
		<u> </u>		<u></u> /	<del>  </del>	<del></del>	<u> </u>		

No. 513	AND A ALCOHOLOGY	Br	eakdo	own of Ur	it Price		A STATE OF THE STA		
Work: I	Installation	of precast conc	rete di	tch, 1shap	e, 300x300m	am			
Unit price:	F/C		7.50	US\$/m		L/C_	3.90	USS/m	
	(Total		11.40	equiv.USS	S/m)	•		* .	
Remarks:	100	m basis							
-					ra Sa, ad. Sad danam'i asing in		(Dangelon (State State of Stat	eranasan eranas é	
Particular		Descriptio	n	Unit	Q'ty	F/C Port	tion (US\$)	L/C Port	ion (US\$)
THE RESIDENCE AS THE PROPERTY AND A SECOND SECURITION OF THE PROPERTY AS A SECOND SECOND SECURITION OF THE PROPERTY AS A SECOND	E SOVERA E DE TROPA NA	and to the state of the state o	V4 W0-05-0		CHARLES AND CAUSE OF THE	Unit cost	Amount	Unit cost	Amount
l Labor							i		
a) Foreman				m.d.	1.00		0.00	9.28	9.2
b) Operator A		· .		m.d.	0.90		0.00	10.60	9.5
e) Operator B				m.d.	0.90		0.00	7.28	6.5
d) Rigger			: 	m.d.	2.00		0.00	7.28	14.5
e) Plumber				m.d.	2.00		0.00	7.28	14.5
f) Common labor				m.d.	4.00		0.00	4.64	18.5
sub-total l		<del>-</del>	<u>-</u> _		<u> </u>		0.00		73.0
2 Material									<del>`</del> _
a) Concrete ditch, L-	shape	300x300m	m 	lin.m	100.00	5.37	537.00	2.30	230.0
b) Light oil		A-C		. lit.	51.00	0.16	8.16	0.04	2.0
c) Lubricant		20 % of b	 )	L.S.	1,00	1 1	1.63		0.4
sub-total 2			1				546.79		232.4
							1. 1		
3 Equipment		1							
a) Truck crane	1.	15 t	1.4.1	hr	6.00	13.34	80.04	3.33	19.9
sub-total 3							80.04		19.9
4 Overhead		20%		L.S.	1.00		125.37	 	65.1
<u> </u>	<u>.</u>							 	
Total for	100	nos.	<u> </u>		·		752,20	[	390.5
			<del></del> -			: 			<u> </u>
Unit price for 1 no	o	·					7.50	l	3.9
·	<u> </u>		<del></del> -				<u> </u>		
ļ . <del>-</del>			***						
									<del></del>
	<u> </u>								
<del></del>	· · · · ·		<del></del> -	<u> </u>				<b> </b>	<del> </del>
]	<del> </del>		<u> </u>			<u> </u>	· · · · · · · · · · · · · · · · · · ·		i
	<del></del>	· · · · · · · · · · · · · · · · · · ·	<del></del> ;	*	<del></del>			<b> </b>	<u></u>
·				·		<u> </u>			
·			<del></del> -						
	:								

No. 514	Breakdown of Unit Price							
Work: Inst	allation	of precast concrete di	ish 20042	M				
Unit price :	F/C		US\$/m	oomin .	1/C	6.40	US\$/m	
	(Total		equiv.USS	V m)	<b>1</b> 6 -	V.10	034111	
Remarks:	-	m basis		•				
namentalista in the state of th						TAPARENA TERRETARIA		
Particular	l	Description	Unit	Q'ty		on (US\$)	L/C Port	ion (US\$)
elipara pamanan ali dependenti deleni industri di dictionali se principara della		CONSTRUCTION OF THE STATE OF TH			Unit cost	Amount	Unit cost	Amount
1 Labor								<del></del>
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A		·	m.đ.	1.20		0.00	10.60	12.72
c) Operator B		1	m.d.	1.20		0.00	7.28	8.74
d) Rigger		·	m.d.	3,00	<u>-</u> -	0.00	7.28	21.84
e) Plumber			m.d.	5,00			7.28	36.40
f) Common labor	<del></del>	<del></del>	m.d.	5.00		0.00	4.64	23.20
sub-total 1	<del></del>					0.00		121.46
		i						
2 Material				<u></u>		[		
a) Concrete ditch		300x300mm	lia.m	100.00	8.94	894.00	3.83	383.00
b) Light oil			lit	68.00	0.16	10.88	0.04	2,72
c) Lubricant		20 % of b)	L.S.	1.00		2.18		0.54
sub-total 2		·				907.06		386.26
		; <del></del>						
3 Equipment								
a) Truck crane		15 t	br	8.00	13.34	106.72	3.33	26.64
sub-total 3		· <del></del>				106.72		26.64
		200	<u> </u> -		-!			
4 Overhead		20%	L.S.	1.00	<del></del>	202.76		106.87
Total for	100							(41.33
TOTALION	100	<u>sı</u>	<b></b>		<del></del>	1,216.54		641.23
Unit price for 1 m						12.20		
Om pice to 1 in		- <del></del>				12.20		6.40
				·	<del></del>			
			<u></u>					
···· ··· ··· ··· ··· ··· ··· ···				<del></del>				
···•			<u> </u>					
						<b>[</b>		<del></del>
						<b>-</b> [		
<u> </u>		<del></del>	<u> </u>				<del></del>	<u>:</u> .
				· <del></del>		· · · · · · · · · · · · · · · · · · ·		
						·		
				·				
			<b> </b>					<del></del>
. ALLEA MAN WAR PER TO THE PROPERTY OF THE			·					
						<u>-</u> [		
<del></del>								

No. 515-1		Breakdo	wn of Ur	ait Price				
-		of precast concrete cul		(400mm			11001	
Unit price :	F/C_		US\$/m	¥>	r.c _	8.20	US\$/m	2
<u></u>	(Total_		equiv.US\$	y m)				
Remarks:	100 t	m basis			and the second s	Marian grame grame, approved an include 1980 Mar.	***************************************	
•								Final of Parison was a second
Particular		Description	Unit	Q'ty		tion (US\$)		ion (US\$)
THE REAL PROPERTY AND ADDRESS OF THE PARTY AND	The state of the s	W-ON-STATEMENT OF STATEMENT OF			Unit cost	Amount	Unit cost	Amount
1 Labor				L			<u> </u>	
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	1.20		0.00	10.60	12.72
c) Operator B			m.đ.	1,20		0.00	7.28	8.74
d) Rigger			m.d.	3.00		0.00	7.28	21.84
e) Plumber				5.00		0.00	7.28	36.40
f) Common labor			m.d.	5.00	-	0.00	4.64	23.20
sub-total l				<b> </b>	· · · · · · · · · · · · · · · · · · ·	0.00	\ <u></u>	121.46
<u> </u>			<u> </u>	lJ	\		\ <u> </u>	
2 Material				<b> </b>	<u> </u>		·	
a) Concrete culvert		400x400mm	lia.m	100.00		1,788.00		460.00
b) Light oil			lit.	68.00	I		0.04	2.77
c) Lubricant		20 % of b)	_L.S.	1.00		2.18	\ <del>;</del>	0.54
sub-total 2	<u></u>				\ <del></del> -	1,801.06	<b>!</b>	463.20
					<u> </u>	·	\ <u> </u>	
3 Equipment			i				I	- 10 mg = 10
a) Truck crane		15 t	hr.	8.00	13.34	·	3.33	26.6
sub-total 3	·		<b> </b> i	<b> </b>	<b> </b>	106.72	\	26.64
			ļ		<del> </del>		II	
4 Overhead	1 11	20%	L.S.	1.00	<u> </u>	381.56	I	122.27
			ļ	<del></del>	ļ	\	<b> </b>	
Total for	90	m	<b></b>			2,289.34	ļ <del>i</del>	733.6
			<b> </b> -		<b> </b>	25.40	ļ	8.20
Unit price for 1 n	T)	l <u></u> -	ļ <del></del> ;		<b> </b>	23.40	<b> </b>	0.20
		l	<b> </b>	I	<del> </del>	<u> </u>	ļ <del>-</del>	<del></del>
			<u> </u>	- <del></del>	<b>╿~~~~</b>		l	
		\- <u></u>	ļ <del></del> -	<del> </del>	<u> </u>		ļ <u> </u>	
				<del> </del>	<b> </b>		<b> </b>	
		<b> </b>		·	<u> </u>		<b> </b>	
					<del>  </del>		<u> </u>	
	<del> </del>	1	<b> </b>	<del></del>	<u> </u>		{ <del> </del>	· · · · · · · · · · · · · · · · · · ·
	÷		- :			ļ\	<b> </b>	
			ļ				[——— <del> </del>	
	<u> </u>		<u> </u>				<u> </u>	
			<u> </u>		<del></del> -			
· · · · · · · · · · · · · · · · · · ·		<u> </u>			<u> </u>			
		\		<del> </del>	<del> </del>		<b> </b>	
			<b>]</b>		·		<b> </b>	<del></del>
		*						

No. 515-2		Breakdo	own of Ur	nit Price				
Work:	Installation	of precast concrete dis	tch, 400x4	100mm				
Unit price :	F/C		US\$/m		I/C	8.20	US\$/m	
• •	(Total	_,,	equiv.US	\$/ m)	•••			
Remarks:		m basis		•				
			P	<del></del>				
Particular		Description	Unit	Q'ty		ion (US\$)		ion (US\$)
	ADOLES SANTE				Unit cost	Amount	Unit cost	Amount
1 Labor				<u> </u>				
a) Foreman		·	m.d.	2.00	- <del>-</del>	0.00	9.28	18.56
b) Operator A			rn.d.	1.20	·	0.00	10.60	12.72
c) Operator B			m.d.	1,20		0.00	7.28	8.74
d) Rigger			m.đ.	3.00	1	0.00	7.28	21.84
e) Plumber			m.đ.	5.00	l	0.00	7.28	36.40
f) Common labor		· · · · · · · · · · · · · · · · · · ·	m.d.	5.00		0.00	4.64	23.20
sub-total 1			l!			0.00		121.46
				i	l			
2 Material			- ,					
a) Concrete ditch	<u> </u>	400x400mm	lin.m	100.00	·	1,073.00		460.60
b) Light oil	· · · · · ·		lit.	68.00	0.16	10.88		2.72
e) Eubricant	<u> </u>	20 % of b)	LS.	1.00		2.18		0.54
sub-total 2			<u> </u>			1,086.06		463.26
			[					
3 Equipment			[					
a) Truck crane		15 t	ħr	8.00	13.34	106.72	3.33	26.64
sub-total 3						106.72		26.64
						<u> </u>		
4 Overhead		20%	L.S.	1.00		238.56		122.27
Total for	90	m				1,431.34		733.63
Unit price for 1	តា					15.90	<u> </u>	8.20
			:					
						: .		
	<del></del>							
	<u>-</u>		1			1.2		
			<del> </del>					
				<u> </u>		<del></del>		
- <del></del>	176.4	<del></del> -	1			7		
	<del></del>	<u> </u>	<u> </u>	1				
	<del></del>		<u> </u>					
- <del>-</del> <del></del>		<u> </u>		<b> </b>				
	•						l	
	<del>- ; -</del>		<b> </b>				l	
		<del></del>	l	<b></b>	<u> </u>	<del></del>	<u> </u>	

No. 516		Breakdown of Unit Price			
Work:	Installation of prec	ast concrete ditch, 600x600mm			
Unit price:	F/C	36.90 US\$/m	L/C	17.40 US\$/m	
	(Total	54.30 equiv.US\$/ m)			
Remarks:	75 m basis	•			

Particular	Description	Unit	Q'ty	F/C Porti	ion (US\$)	L/C Porti	on (US\$)
				Unit cost	Amount	Unit cost	Amount
1 Labor				<u> </u>			
a) Foreman		m.đ.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	1.20		0.00	10.60	12.3
c) Operator B		m.đ.	1,20		0.00	7.28	8.
d) Rigger		m.đ.	3.00		0.00	7.28	21.5
e) Plumber		m.đ.	5.00		0.00	7.28	36.
f) Common labor	·	m đ	5.00		0.00	4.64	23.
sub-total 1					0.00		121.
					:		
2 Material							
a) Concrete ditch	600x600mm	lin.m	75.00	29.18	2,183.50	12.51	938.
b) Light oil		lit.	68.00	0.16	10.88	0.04	2.
c) Lubricant	20 % of b)	L.S.	1.00		2.18		0.
sub-total 2					2,201.56		941
3 Equipment							<u> </u>
a) Truck crane	15 t	hr	8.00	13.34	106.72	3.33	26.
sub-total 3				;	106.72		26.
4 Overhead	20%	LS.	1.00		461.66		217.
Total for 75	m				2,769.94		1,307.
		-					
Unit price for 1 m					36.90		17.
							<u>.                                  </u>
							2
	-	:					
			:				
		<b> </b>			: : :		
					7 1 7		
	·			[		·	

No. 517		Breakdo	wn of Un	it Price	·			.
Work:	Installation of	of precast concrete dit		00mm				
Unit price:	F/C		US\$/m		nc T	23.80	US\$/m	
	(Total_	74.60	equiv.US\$	/m)				
Remarks:		n basis	punggan gayan kadari sala	A STATE OF THE PARTY OF THE PAR		مند مسلس <u>بيون پر چشمور بي</u> -		
			*****					process and the second
Particular	Ì	Description	Unit	Qʻty	F/C Port	ion (US\$) Amount	L/C Porti	on (US\$) Amount
1 Labor	ARA			**************************************	Olist COST	VIIIÓRIII		a company and a second
			m.d.	2.00		0.00	9.28	18.56
a) Foreman b) Operator A			m.d.	1.20		0.00	10.60	12.72
c) Operator B			m.d.	1.20		0.00	7.28	8.74
			m.d.	3.00		0.00	7.28	21.84
d) Rigger	<del></del>		m.d.	5.00		0.00	7.28	36.40
e) Plumber			m.d.	5.00		0.00	4.64	23.20
f) Common labor		<del></del>		5.00		0.00		121.46
sub-total 1	7							
2 Material						<u></u>		
a) Concrete ditch		600x800mm	lin.m	60.00	1	2,422.20	17.30	1,038.00
b) Light oil			lit.	68.00	0.16	10.88	0.04	2.72
c) Lubricant		20 % of b)	L.S.	1.00		2.18		0.54
sub-total 2	<u> </u>			· · · · · · · · · · · · · · · · · · ·		2,435.26		1,041.26
3 Equipment								
a) Truck crane		15 t	hr	8.00	13.34	106.72	3.33	26.64
sub-total 3						106.72		26.64
						1 1 1 1 1		
4 Overhead		20%	L.S.	1.00		508.40		237.87
		m	- <b> </b>			3,050.38		1,427.23
Total for		111	-		·			
Unit price for	l m		-			50.80		23.80
<u> </u>	<u> </u>							
						<u> </u>		
				<u> </u>				
		1	_				<u> </u>	
	:		<u> </u>		<u> </u>			
			_	.]				
1		1						
					1			<u></u>
				1			.	
	·						.]	
	<del></del>						.	ļ
			1	1	1	<u> </u>		
						<u> </u>	_	ļ <u>.</u>
		-j		1	1	1	1	

No. 518	Breakdown of Unit Price								
Work:	Installation	of precast concrete di	tch. 800x8	800mm					
Unit price :	F/C		US\$/m	20011111	L/C	29.50	US\$/m		
Ome price :			equiv.US	(√m)	130				
Remarks :		m basis		<b>3</b> 10)					
remarks.	50	111 04313							
Particular	10-10-10-10-10-10-10-10-10-10-10-10-10-1	Description	Unit	Q'ty	F/C Por	tion (US\$)	L/C Port	tion (US\$)	
					Unit cost	Amount	Unit cost	Amount	
1 Labor						. :			
a) Foreman			m.đ.	7.00		0.00	9.28	64.9	
b) Operator A			m.d.	1.20		0.00	10.60	12.7	
c) Operator B	:		m.d.	1.20		0.00	7.28	8.7	
d) Rigger			m.d.	3.00		0.00	7.28	21.8	
e) Plumber			m.d.	10.00		0.00	7.28	72.8	
f) Common labor			m.d.	10.00		0.00	4.64	46.4	
sub-total 1	1.1					0.00		227.4	
2 Material									
a) Concrete ditch		800x800mm	lin.m	50.00	45.27	2,263.50	19.40	970.0	
b) Light oil			lit.	68.00	0.16	10.88	0.04	2.7	
c) Lubricant		20 % of b)	L.S.	1.00		2.18		0.5	
sub-total 2						2,276.56		973.2	
	:								
3 Equipment									
a) Truck crane		15 t	hr	8.00	13.34	106.72	3.33	26.6	
sub-total 3		1				106.72		26.6	
		:							
4 Overbead		20%	L.S.	1.00		476.66		245.4	
	1 1 1			<b>!</b>					
Total for	50	m	<u> </u>			2,859.94		1,472.8	
Unit price for 1	n					57.20		29.5	
<u> </u>	·		· 			<u></u>			
	<u> </u>			I				<u> </u>	
	<del></del> -	. <u></u>	<u> </u>			· · · · · · · · · · · · · · · · · · ·		· .	
		<u> </u>					·		
								<u> </u>	
	12.1	<u> </u>	·	: · · · · ·		·			
· ·									
	<u>.</u>	. <u></u>	<u> </u>	· — — — ·		<u> </u>			
	<u> </u>		ļ			<u> </u>			
								······································	
		. <u> </u>	<u> </u>	<b> </b>					
		. <u></u>				· · · · · · · · · · · · · · · · · · ·			
		·						<u></u>	
			<b> </b>					· . · . · . · ·	
			1						



Work   Installation of curb stone   Unit price   F.C	No. 519		Breakdo	wn of Ur	it Price	TO STATE OF THE PARTY OF THE PA			
Remarks   100 m bosis   168 nos. basis   168 nos. basis	Work:	Installation	of curb stone						i
Remarks   100 m basis   108 nos basis   108	Unit price:	F/C				n/c ¯	5.10	US\$/m	
Particular   Description   Unit   Qry   E/C Pertion (USS)   L/C Pertion (USS)		(Total	15.70	equiv.US\$	i/m)				
Particular   Description   Unit   Q'ty     FiC Proton (USS)   LUC Proton (USS)	Remarks:	100	m basis	-					
1 Labor		168	nos, basis						
Labor		anga na makakisha da a iya		-	zeplowialne wat de		Karantan dan Karantan	3.200 W. C. (1955 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 - 1956 -	**********
1 Labor a) Foreman (md. 1.00	Particular		Description	Unit	Q'ty				
a) Foreman	CONTRACTOR OF THE PROPERTY OF			*********	THE REAL PROPERTY.	Unit cost	Amount	Unit cost	Amount
b) Skilked labor			· · · · · · · · · · · · · · · · · · ·					0.20	0.20
c) Common labor m.d. 4.00 0.00 4.64 18.56 sub-total 1 0.00 42.40  2 Material									
Sub-total									
2 Material a) Curb stone     L-60cm     nos. 168.00     5.01     841.68     2.15     361.20 b) Miscellaneous     5 % of a)     L.S.     1.00     42.08     883.76     379.26  4 Overhead     20%     L.S.     1.00     176.75     84.33  Total for     100 m     11,060.51     505.99  Unit price for 1 m     10.60     5.10				m.d.	4.00			4.64	
A	sub-total 1	<del></del>	<del></del>	·	<del></del>		0.00		42,40
A				·		.,			
b) Miscellaneous 5 % of a) L.S. 1.00 42.08 18.06 sub-total 2 883.76 379.26 4 Overhead 20% L.S. 1.00 176.75 84.33  Total for 100 m 1,060.51 505.99  Unit price for 1 m 10.60 5.10			1.00		160.00			215	261.20
Sub-total 2   883.76   379.26						3.01		2.13	
4 Overhead 20% L.S. 1.00 176.75 84.33  Total for 100 m 1,060.51 505.99  Unit price for 1 m 10.60 5.10			3 % 61 a)	L.S.	1.00				
Total for 100 m 1,050.51 505.99  Unit price for 1 m 10.60 5.10	sub-total 2						883.70		317.20
Total for 100 m 1,050.51 505.99  Unit price for 1 m 10.60 5.10			200	1.0	100		176.75		94 13
Unit price for 1 m 10.60 S.10	4 Overnead		20%	L.S.	1.00		170.73		04,33
Unit price for 1 m 10.60 S.10	Total for	200		1 1 1			1.060.51		505.99
	rotal for	100	111						
	Light price for 1						10.60		5.10
	om pice tes 1			7.4					
			· <del></del>	1 :					
	<del></del>								
				,		1 -			
		· · ·		ļ			·		
							<u></u>		<u> </u>
				]					
		· ·	· · · · · · · · · · · · · · · · · · ·	<b></b>			· · · · · · · · · · · · · · · · · · ·		

🛊 in the control of 
1

No. 520		Breakdo	wn of Un	it Price				
		i an i and i and i	Section				•	
Work:	THE RESERVE THE PARTY OF THE PA	and demolition of scal			1.10	2.60	US\$/m3	
Unit price:	F/C	7.70	US\$/m3	u 33	170	2.60	OSSIIIS	
	-	10.30	equiv.USS	(m3)				
Remarks:	70	m3 basis						
	ngangen kurti élmekundahan San	Description	Unit	0	F/C Portion	(1100)	L/C Portion (	1221
Particular		Description	Onk	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor						AND DESCRIPTION OF THE PARTY OF		ELECTRIC STORY
			m.d.	1.00		0.00	9.28	9.28
a) Foreman			m.đ.	2.00		0.00	9.28	18.56
b) Rigger c) Carpenter			m.d.	2.00		0.00	7.28	14.56
d) Common labor			m.d.	4.00		0.00	4.64	18.56
sub-total I			- 111.0.			0.00		60.96
200-10181 1	- <del></del>							
2 Material				· · · · · · · · · · · · · · · ·				
a) Cast iton pipe		48.6 mm	m	58.80	1.42	83.50	0.16	9.41
b) Clamp		48.6 mm	pc.	44.80	7.09	317.63	0.79	35.39
c) Timber, plank		40.0 11111	cu.m	0.25	63.09	17.02	102.13	25.53
f) Timber, square			cu.m	0.18	68.09	12.26	102.13	18.38
h) Miscallaneous		5%	L.S.	1.00		21.52		4.44
Sub-total 2						451.93		93.15
Out tolar 2								
3 Overhead		20%	L.S.	1.00		90.39		30.82
Total for	70	m3 basis				542.32		184.93
					1	·		
Unit price for 1	m3					7.70		2.60
						. <u></u>		
	·							
					· · · · · ·			
	· · · · · · · · · · · · · · · · · · ·							
				·				
			<u></u>		·	· · · · · · · · · · · · · · · · · · ·		
	<u> </u>				<del></del> -			
·	·		<u>-</u>			· · · · · · · · · · · · · · · · · · ·	· ·	
			ļ				l	
	1.1							
			3	<u>.</u>	<u> </u>			
			ļ	<u> </u>		·		
	1 - 1							
· · · · · · · · · · · · · · · · · · ·				:		<u> </u>	·	
				<del></del> -	<b> </b>			<u> </u>
		<b></b>	1 - 1	] <del></del>		<del></del>	1 1	
	<del></del>		ļ		<b></b>			<u> </u>

No. 521	No. 521 Breakdown of Unit Price							
Work:	Base morta	•						
	E/C		US\$/m3		1/0	. 64.30	1100/ 2	
Unit price:	•		11	دري.	170	• 04.30	U3¥m3	
Dla .	(Total		equiv.US	Mm3)				
Remarks:		m3 basis			~~~	*****	·	
				Park and and and and and a State of the Stat				
CONTRACTOR OF THE STATE OF THE	CHARLANCE COURT		**************************************			S. C. College	THE RESERVE OF THE PARTY OF THE	
Particular		Description	Unit	Q'ty	F/C Portion		L/C Portion	
		THE COMMISSION OF THE PROPERTY OF THE PERSON	-		Unit cost	Amount	Unit cost	Amount
1 Labor								<u> </u>
a) Foreman			m.đ.	1.00		0.00	9.28	9.28
b) Concrete work			m.d.	2.00		0.00		10.64
c) Common labor		· · · · · · · · · · · · · · · · · · ·	m.d.	4.00		0.00	4.64	18.56
sub-total I	· · · · · · · ·	· · · · · · · · · · · · · · · · · · ·				0.00		38.48
<del></del>								
2 Material								
a) Cement		ordinary	ton	0.44	53.62	23.59	22.98	10.11
b) Fine aggregate			eu.m	0.92	10.85	9.98	4.65	4.28
c) Miscallaneous		5%	L.S.	1.00		1.68		0.72
Sub-total 2	<u>:</u>	<u> </u>				35.25		15.11
- · ·			:			· · · · · ·		
3 Overhead		20%	L.S.	1.00		7.05		10.72
Total for	1	m3 basis				42.30		64.31
Unit price for	1 m3					42.30		64.30
						i s		
						1.0		
Park and the state of the state		of Parities 1 Assessed Analysis Assessed to the Control of the Con			:			
:								
<del></del>				· · · · · ·				
						· · · · · · · · · · · · · · · · · · ·		
3								
The residence of the control of the					-			
		<del></del>			1 .	<del></del>		
					<del></del>			· <del></del>
			<del></del> -		·			<del></del>
	and the same of th							
	<del>i</del>		<del></del>				· · · · · · · · ·	
						<del></del>		<del></del>
	<del></del>				- <del></del>			
			·					
	•							<del></del>
		·			- ····			
		<del></del>						
<u> </u>			ļ					
						· · · · · · · · · · · · · · · · · · ·	- <del></del>	<del></del>
	<u> </u>		ļ			:		
1								

No. 601		Breakdown of Unit Price											
	Sub-base c			<del>,</del>		فسناه والمعادية المعادية المعادية والمعادية والمعادية والمعادية والمعادية والمعادية والمعادية والمعادية والمعادية		:					
Unit price :	F/C	************	US\$/m3	ni ax	r/c _	2.80	US\$/m3						
Remarks :	(Total Material :	rusher run (50%) and	equiv.USS		rad from supe	tions							
Kemarks.		cu.m, or 1,300 sq.m t		e y to the proce	((d nom sopt	/(K13							
		n thickness: 10 cm	4313										
Particular	en e	Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Porti	ion (USS)					
				`´	Unit cost	Amount	Unit cost	Amount					
1 Labor		TALL COME THE PROPERTY SECTION AND THE SECTION	CONTRACTOR MALEN		annerski etmanisticija	THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER, THE OW		-					
a) Foreman			m.d.	1.00		0.00	9.28	9.2					
b) Operator A		-	m.d.	3.60		0.00	10.60	38.1					
c) Operator B			m.d.	4.80		0.00	7.28	34.9					
d) Common labor	:		m.d.	4.60		0.00	4.64	21.3					
sub-total I	1					0.00		103.7					
2 Material													
a) Crusher-ron		50%	cu,m	91.00	3.65	332.15	0.43	39.1					
b) Earth material		50%	cu.m	65.00	2.55	165.75	1.70	110.5					
c) Light oil			lit.	237.60	0.16	38.02	0.04	9.5					
d) Lubricant		20 % of c)	L.S.	1.00		7.60		1.9					
sub-total 2						543.52		161.0					
			·										
3 Equipment													
a) Motor grader		3.1 m	hr	8.00	6.09	48.72	1.52	12.1					
b) Macadam roller		10-12 t	hr	8.00	3.67	29.36	0.92	7.3					
c) Tire roller	· · · ·	8-20 t	br	8.00	4.15	33.20	1.04	8.3					
d) Vib.roller, hand		0.6 t	hr	8. <b>0</b> 0	0.93	7.44	0.23	1.8					
e) Sprinkler truck	· · · · · · · · · · · · · · · · · · ·	4 kl	hr	8.00	2.45	19.60	0.61	4.8					
sub-total 3						138.32		34.5					
	1,11												
4 Overhead	* * * *	20%	L.S.	1.00		136.37		59.8					
	1960							** :					
Total for	130	m3				818.21		359.1					
Unit price for 1 n	13		<u> </u>			6.30		2.8					
			l					<del></del>					
	· · · · · · · · · · · · · · · · · · ·												
	<u> </u>					·							
	· :												
							·	· · · · · · · · · · · · · · · · · · ·					
	· · ·												
<del></del>	*			<b></b>									
	. :		<b> </b>	<b>]</b>				<del></del>					
			[	<b>]</b>				<del></del> .					
			<b> </b>					<del> </del>					
	:			<b> </b>	- /.		<u> </u>	· · · · · · · · · · · · · · · · · · ·					
			<b>]</b>					<del></del>					
		I .	1	ı	Į.	1	ŀ						

No. 602		Breakdown of Unit Price							
Work:	Base course	م							
Unit price :	F/C		US\$/m3		L/C	4.00	US\$/m3		
**** p*****	(Total		equiv.USS	\$/ m3)			000		
Remarks:	•	rusher-run (80%) and			ered from supp	pliers		ľ	
		cu.m, or 1,300 sq.m							
		cm in compaction thi							
Particular	,	Description	Unit	Q'ty	F/C Port	tion (US\$)	L/C Port	ion (US\$)	
					Unit cost	Amount	Unit cost	Amount	
1 Labor									
a) Foreman		:	m.đ.	1.00		0.00	9.28	9.28	
b) Operator A		· .	m đ.	3.60		0.00		- 38.16	
c) Operator B			m.d.	4.80		0.00		34.94	
d) Common labor			m.đ.	4.60	·	0.00		21.34	
sub-total 1			<u> </u>	l]	· .	0.00		103.72	
·		 	.	ļ <b>]</b>			<b>.</b>	· · · · · · · · · · · · · · · · · · ·	
2 Material			1	ļ <b></b>					
a) Crusher-run		80%	cv.m	146.00		532.90		62.78	
b) Earth material		20%	co.m	26.00		66.30	·	44.20	
c) Light oil	·		lit.	237.60	0.16	38.02		9.50	
d) Lubricant		20 % of c)	LS.	1.00		7.60	l	1.90	
e) Prime coat			lit.	1,638.00	0.16	262.08	<del>}</del> <del> </del> -	180.18	
sub-total 2		<u> </u>	-			906.90	i	298.56	
			· 1	<u></u>			l	<del></del>	
3 Equipment		31	he he		600	49.73	1 52	1216	
a) Motor grader     b) Macadam roller		3.1 m	br be	8.00 8.00	1	48.72 29.36		12.16	
c) Tire roller		10-12 t 8-20 t	hr hr	8.00	1	33.20	1—————————————————————————————————————	7.36 8.32	
d) Vib.roller, hand	<del></del> -	0.61	hr hr	8.00	<b></b>	7.44	1	1.84	
e) Sprinkler truck		4 k)	nr hr	8.00		19.60		4.88	
sub-total 3		781	1-"-			138.32	<del></del>	34.56	
300 10101	<del>-                                    </del>		-		1	******	1		
4 Overhead		20%	LS,	1.00	l	209.04		87.37	
			1						
Total for	130	m3	-	1		1,254.26		524.21	
							[		
Unit price for I	m3	3.2				9.60		4.00	
						11 1			
						1			
					1				
								-	
			.[				l		
· ·	. :				<b> </b>		II		

No. 603-1		Breakdo	wn of Un	it Price				
Work;	Asphalt pay	ement						
-	F/C		US\$/m2	n planter i manda mid make mila di mida.	1/C	2 40 1	US\$/m2	
Unit price:	(Total		equiv.US\$	/m2\	<i></i> _	2.70		
Remarks :	` •	lot-mix asphalt to be j	•					
reginarks ;	TATALCE 192 : E.	tor-may aspirant to oct	- word He	an supplied				
	5.0	cm in Finishing thick	ness	1,900 :	sq.m basis			
Particular		Description	Unit	Q'ty		ion (US\$)	L/C Porti	ion (USS)
2 47514 4141				` '	Unit cost	Amount	Unit cost	Amount
1 Labor	Parameter Spiritual Spirit	<u> </u>		MITTEL DESCRIPTION OF THE PARTY	-	CANADA SANCE AND		
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	4.50		0.00	10.60	47.70
c) Operator B			m.d.	4.50		0.00	7.28	32.70
d) Pavement worke	r:		m.d.	7.00		0.00	4.64	32.4
d) Common labor			m.d.	11.00		0.00	4.64	51.0
sub-total 1			7			0.00		182.5
	<del></del>		[					
2 Material								
a) Hot-mix asphalt			ťv.m	95.00	56.94	5,409.30	37.96	3,606.20
b) Light oil			lit.	216.40	0.16	34.62	0.04	8.60
c) Lubricant		20 % of b)	L.S.	1.00		6.92		1.7.
d) Prime coat			lit.	817.00	0.16	130.72	0.11	89.8
e) Miscellaneous		3%	L.S.	1.00		167.45		111.19
sub-total 2					1.0	5,450.84		3,616.5
3 Equipment			<u> </u>					<u></u>
Asphalt finisher	<u>r                                     </u>	2.4 m	ht	8.00	7.12	56.96	1.78	14.2
Macadam roller	r	10-12 t	hr	8.00		29.36	0.92	7.30
Tire roller		8-201	hr	8.00	4.15	33.20	1.04	8.3
Vibration roller	- 1 · · · · · · · · · · · · · · · · · ·	81	hr	6.00	10.01	60.06	2.50	15.0
sub-total 3	<del></del>		<u> </u>			179.58		: 44.9
							<del></del>	
4 Overhead		20%	LS.	1.00		1,126.08	· · · · · · · · · · · · · · · · · · ·	768.8
	·			<del>-</del>			<del></del>	
Total for	1,900	m2				6,756.50		4,612.8
			-		- <del></del>	3.60		2.4
Unit price for I	<u>m2</u>		-[			3.60	<del></del>	2.4
<u> </u>	<del></del>		-[	<del></del>				
					<u> </u>			<del></del>
	<del></del>							
				1	<u></u>			<u></u>
	<del></del>				<del></del>			
	<del></del>	<u> </u>	<del> </del>				<del></del> -	
	<del></del>		<u> </u>			·		
		<u> </u>						
	<u> </u>		·}				<del></del>	
	·		· [					
			-[	<u> </u>	<del> </del>	<del></del>		<del></del>

I

No. 603-2	Breakdown of Unit Price								
Work :	Asphalt pay	ement							
Unit price:	F/C		US\$/m3	er e energe erreinend om e sin	ĽC	48.60	US\$/m3		
0 <u></u>	(Total		equiv.USS	\$/m3)	•				
Remarks :		iot-mix asphalt to be p	-						
		<u> </u>							
	5.0	cm in Finishing thickn	ičss	1,900	sq.m basis				
Particular		Description	Unit	Q'ty	F/C Port	tion (US\$)	L/C Port	ion (US\$)	
					Unit cost	Amount	Unit cost	Amount	
1 Labor									
a) Foreman			m.d.	2.00		0.00	9.28	18.56	
b) Operator A			m.d.	4.50		0.00	10.60	47.70	
c) Operator B			m.d.	4.50		0.00	7.28	32.76	
d) Pavement worker			m.d.	7.00		0.00	4.64	32.48	
d) Common labor			m.d.	11.00		0.00	4.64	51.04	
sub-total 1				·		0.00	· · · · · · · · · · · · · · · · · · ·	182.54	
					i				
2 Material									
a) Hot-mix asphalt			cu.m	95.00	56.94	5,409.30	37.96	3,606.20	
b) Light oil			lit.	216.40	0.16	34.62	0.04	8.66	
c) Lubricant		20 % of b)	L.S.	1.00		6.92		1.73	
d) Prime coat			lit.	817.00	0.16	130.72	0.11	89.87	
e) Miscellaneous		3%	L.S.	1.00		167.45		111.19	
sub-total 2	1		<u> </u>			5,450.84		3,616.59	
	_ <del>``</del>			<u>:</u>				· · · · · ·	
3 Equipment	<u> </u>							. :	
a) Asphalt finisher		2.4 m	hr	8.00	7.12	56.96	1.78	14.24	
b) Macadam roller		10-12 t	hr	8.00	3,67	29.36	0.92	7.36	
c) Tire roller		8-20 t	hr	8,00	4.15	33.20	1.04	8.32	
d) Vibration roller		8 t	<u>hr</u>	6.00	10.01	60.06	2.50	15.00	
sub-total 3						179.58		44.92	
	·								
4 Overhead	· · ·	20%	L.S.	1.00	<u> </u>	1,126.08		768.81	
		<u> </u>	· · · ·	I	<u> </u>		-		
Total for	95	m3				6,756.50		4,612.86	
		<u></u>	<u> </u>			31.10		49.60	
Unit price for 1 s	n3			<del></del>		71.10		48.60	
			<del></del>		<del></del>	<u> </u>		<u></u>	
	<u> </u>			<u> </u>		<del></del>		·	
	<del></del>								
	<del></del>		l <del></del>						
	<del></del>			J					
	<del></del>	<del></del>	<b> </b> -						
·									
	<u></u>		l					· • • • • • • • • • • • • • • • • • • •	
<del></del>			<del>                                     </del>	4 1 1	<u> </u>	L <u></u>			
			<b>├</b>						
	<del></del>			<u> </u>	<b> </b>	<b>\-</b>			
L		And the surrent control of the surrent contro		J					

				RESERVE ENGINEERING CONTRA				
No. 604		Breakdo	wn of Un	it Price				
Work:	Bitumen co	ating						
Unit price :	*		US\$/m2		1/C	0.90	US <b>S</b> /m2	
•			equiv.US\$	/m2)	•			•
Remarks:		sq.m basis	•					
titinas.						,		
		Description	Unit	Q'ty	E/C Port	ion (US\$)	L/C Port	ion (US\$)
Particular		Description	Unit	(0)	Unit cost	Amount	Unit cost	Amount
		THE RESERVE AND PROPERTY OF SHAPE AND ADDRESS OF THE PERSON OF THE PERSO			URLCUST	Anionit	CHILCON	VIIIONI
1 Labor			l					
a) Foreman		· · · · · · · · · · · · · · · · · · ·	m.d.	1.00		0.00	9.28	9.28
c) Skilled labor	· .	<u></u>	<u>m.d.</u>	1.00		0.00	7.28	7.2
f) Common labor			m.d.	4.00		0.00	4.64	18.50
sub-total l						0.00		35.1
			:			:		
2 Material				,				
a) Hot-mix asphal	10		cu.m	1.00	56.94	56.94	37.96	37.9
sub-total 2				. :		56.94		37.90
340 (0.41 2								
2 0		20%	L.S.	1.00		11.39		14.6
3 Overhead		2010	12,0.					
						68.33		87.7
Total for	100	m2			<u></u>			
	· · · · · · · · · · · · · · · · · · ·					9.70		0.9
Unit price for I	m2					0.70		0.91
					<u> </u>			
		<u> </u>			<u></u>	· · · · · · · · · · · · · · · · · · ·		<u> </u>
		<u> </u>			1.1			<del>`</del> <del>`</del>
			<u> </u>					
	<u> </u>			<u></u>				
			:					
				i.				
			:					
- <del></del>			3					
			<u> </u>			<u> </u>		
			1	<del></del>			<del></del>	
·			·	<del></del>				
· · · · · · · · · · · · · · · · · · ·		<u> </u>	·			<u> </u>		
			<b> </b> -			<del></del>		
								. <u></u>
	<u> </u>				<u> </u>	_ <del></del>		,
	<u> </u>	l		<b></b>	<b>]</b>	·		
·								
				<u> </u>		<u></u>		
					<u></u> .	L		
:							<u>:</u>	
I		1	1	1			•	i



No. 701		Breakdo	wn of Ui	nit Price				
Work:	Furnishing and erec	tion of PC gird	ler, BM-7	10, H (m)≖	400		7.30	m long
Unit price:	F/C	459.00	US\$/no.			UC	210.00	US\$/no.
	(Total	669.00	equiv.US	S/no.)		<u>-</u>	,,	•
Remarks:	14 nos. ba	is	B-B-171 FFF VERSION	4.69	t/no.			
Particular	De	scription	Unit	Q'ty	T F/	C Portion	(USS)	L/C Portion (USS)

Particular	Description	Unit	Q'ty	F/C Porti	on (US\$)	L/C Portion (US\$)		
				Unit cost	Amount	Unit cost	Amount	
1 Labor				<u> </u>	·			
a) Foreman		m d.	2.00		0.00	9.28	18.5	
b) Operator A		m đ.	1.20		0.00	10.60	12.7	
c) Operator B		m.d.	1.20	<u> </u>	0.00	7.28	8.7	
d) Rigger		m.d.	12.00		0.00	9.28	111.30	
e) Common labor		m.d.	8.00		0.00	4.64	37.17	
sub-total I					0.00		188.50	
2 Material								
a) PC girder		nos.	14.00	366.98	5,137.72	157.28	2,201.9	
b) Light oil		lit.	84.00	0.16	13.44	0.04	3.30	
c) Lubricant	20 % of b)	L.S.	1.00		2.69		0.6	
sub-total 2					5,153.85		2,205.9	
3 Equipment		1						
a) Crawler crane	100 t	hr	0.00	75.55	0.00	18.89	0.00	
b) Crawler crane	35 t	hr	8.00	25.30	202.40	6.32	50.5	
e) Truck crane, hyd.	15 t	hr	0.00	13.34	0.00	3.33	0.00	
sub-total 3			·		202.40		50.50	
4 Overbead	20%	L.S.	1.00		1,071.00		489.00	
· · · · · · · · · · · · · · · · · · ·	<del></del>	1						
Total for 14	nos.				6,427.25	<del></del> ~	2,934.0	
					0,724123			
Unit price for 1 no.					459.00		210.00	
		÷	- <del></del>					
	-			-	21		·	
				<del></del>	· · · · · · · · · · · · · · · · · · ·			
						<del> </del>		
			<u></u>	<del>-</del>  -			·	
en a la composition de la comp				-	<del></del>		<u> </u>	
	-			<u> </u>				
					<u></u>		<del></del>	
·								
<u> </u>					<del></del>			
			<u> </u>					
		<del> </del>	<u> </u>	-		ļ		
					<del></del>			
	:_							
				<u> </u>				

Work:	Furnishing and ere	ction of PC girder, BM-70, H (m)=	450	8.40 m long
Unit price :	F/C	591.00 US\$/no.	1/C	267.00 US\$/no.
•	(Total	858.00 equiv.US\$/no.)	-	
Remarks:	13 nos. ba	sis 6.05	3 t/no.	

Particular	Description	Unit	Q'ty	F/C Portion (US\$)		L/C Portion	on (US\$)
	A Paris			Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m.d.	2.00		0.00	9.28	18.5
b) Operator A		m.đ.	1.20		0.00	10.60	12.7
c) Operator B		m.đ.	1.20	4 - 1 - E	0.00	7.28	8.7
d) Rigger		m.d.	12.00	:	0.00	9.28	111.3
e) Common labor		m.d.	8.00		0.00	4.64	37.1
sub-total I			•		0.00		188.5
							1 11 - 1
2 Material							
a) PC girder		nos.	13.00	475.41	6,180.33	203.75	2,648.7
b) Light oil		lit.	84.00	0.16	13.44	0.04	3.3
c) Lubricant	20 % of b)	L.S.	1.00		2.69		0.6
sub-total 2					6,196.46		2,652.7
3 Equipment	·		:				
a) Crawler crane	100 t	hr	0,00	75.55	0.00	18.89	0.0
b) Crawler crane	35 t	hr	8.00	25.30	202.40	6.32	50.5
c) Truck crane, hyd.	15 t	hr	0.00	13.34	0.00	3.33	0.0
sub-total 3					202.40		50.5
300-10(4) 3					· <del> · - · · · · · · · · · · · · · · ·</del>		
4 Overhead	20%	LS	1.00		1,280.00		578.0
4 Orthodo							
Total for 1	3 nos.				7,678.86		3,469.8
10/01/01				<u> </u>			
Unit price for 1 no.					591.00		267.0
Chit pite 103 1 ho.		<del></del>	:				-
			· ·				
		<del></del>				1	
		· · · · · · · · · · · · · · · · · · ·					
		<del>-</del>		l	· · · · · · · · · · · · · · · · · · ·		
<del>,</del>				<del>  </del>		l	
<u> </u>						<del></del>	<del></del>
		:			<del></del>	<b>!</b>	
				<b> </b>	<del></del>	<b> </b>	<del></del>
						<b> </b>	·
				. 1			

No. 703		Break	down of Un	it Price				
Work:	Furnishing an	d erection of PC gi	irder, BM·7	0, H (m)≃	450	9.60	m long	
Unit price :	F/C	673.00	US\$/no.		L/C	304.00	USS/no.	
	(Total_	977.00	equiv.USS	Vno.)				
Remarks:	12 no	os. basis		6.95	t/no.			
Particular		Description	Unit	Q'ty	F/C Pot	tion (US\$)	L/C Port	tion (US\$
	•		1 1		Unit cost	Amount	Unit cost	Amou

Particular	Description	Unit	Q'ty	F/C Porti	on (US\$)	L/C Porti	on (US\$)
				Unit cost	Amount	Unit cost	Amount
1 Labor		i				<u> </u>	
a) Foreman		m.d.	2.00		0.00	9.28	18.56
b) Operator A	:	m.d.	1.20		0.00	10.60	12.72
c) Operator B		m.d.	1.20		0.00	7.28	8.74
d) Rigger		m.d.	12.00		0.00	9.28	111.36
e) Common labor		m.d.	8.00		0.00	4.64	37.12
sub-total 1					0.00		188.50
			·		·		
2 Material	:						
a) PC girder		nos.	12.00	543.03	6,516.36	232.73	2,792.76
b) Light oil		lit.	84.00	0.16	13.44	0.04	3.36
c) Lubricant	20 % of b)	L.S.	1.00		2.69		0.67
sub-total 2					6,532.49		2,796.79
					<u> </u>		
3 Equipment						,	<u> </u>
a) Crawler crane	100 t	br	0.00	75.55	0.00	18.89	0.00
b) Crawler crane	35 t	hr	8.00	25.30	202.40	6.32	50.56
c) Truck crane, hyd.	15 t	hr .	0.00	13.34	0.00	3.33	0.00
sub-total 3					202.40		50.56
4 Overhead	20%	L.S.	1.00		1,347.00		607.00
			<del></del>		0.001.00	ļ	2 ( 4 ) 9 (
Total for 12	nos.			<u> </u>	8,081.89		3,642.85
Unit price for 1 no.		_			673.00		304.00
Office for Filo.	·	_				<b> </b>	
<del></del>			<b></b>	l			
				<b> </b>		1	
		-	·	<del></del>		<del>                                     </del>	
					<del></del>	1	
			-	<b>1</b>		11	· · · · · · · · · · · · · · · · · · ·
	- <del> </del>			1			<del></del>
	<del>-</del>	_		-		1	
	<u> </u>		-			1	
<u> </u>	_	<del></del>	-		<del></del>	<b> </b>	<del></del>
			·		<u> </u>	1	
		·	·				·
		·	- <del> </del>		<del> </del>	- - <del></del> -	<del></del>
				-		- <b> </b>	
			- <b> </b>	<del> </del>	. <del> </del>	·	
		ورون المساور					

No. 704		Breakd	down of Un	it Price				
Work:	Dimichina	; and erection of PC gir	indan RM.7	O U (m)a	450	10.50	m long	:
Work: Unit price:	F/C		US\$/no.	U, 11 (11)-	1/C		US\$/no.	ļ
Om piles	(Total		eguiv.US	S/no.)	· ·			
Remarks:		nos. basis	_***	7.60	t/no.			1
								!
-								
Particular	**************************************	Description	Unit	Q'ty	F/C Port	tion (US\$)	L/C Port	tion (USS)
					Unit cost	Amount	Unit cost	Amount
1 Labor	CONTROL VI	(34-78, 2007); Marian						
a) Foreman			m.d.	2.00		0.00		18.56
b) Operator A			m.d.	: 2,40		0.00	10.60	25.44
c) Operator B	<u></u>		m.d.	2.40		0.00	·	17.47
d) Rigger	·		m.d.	12.00	1	0.00		111.36
e) Common labor			m.đ.	8.00		0.00	1	37.12
sub-total I				لينتا		0.00	L	209.95
				ll			L	· · · · · · · · · · · · · · · · · · ·
2 Material				<u> </u>				
a) PC girder	!		nos.	12.00		7,127.52		3,054.72
b) Light oil			lit.	152.00	1	24.32	1·	6.08
c) Lubricant	<u> </u>	20 % of b)	L.S.	1.00	l	4.86	l	1.22
sub-total 2			: · ·	ll	<b>I</b>	7,156.70	l	3,062.02
				<u> </u>				<u> </u>
3 Equipment			<u> </u>	1	1		1	<u> </u>
a) Crawler crane	<u> </u>	100 t	hr	0.00		0.00		0.00
b) Crawler crane	·	35 t	hr	8.00		202.40	6.32	50.56
c) Truck crane, hy	/d.	15 t	<u>hr</u>	8.00	13.34	106.72	3.33	26.64
sub-total 3	<u> </u>		1		<u> </u>	309.12	1	77.20
<u> </u>			.	<u>  </u>	l		1	
4 Overhead		20%	L.S.	1.00	1	1,493.00		670.00
				lI	<u> </u>		<u> </u>	
Total for	12	nos.	1:	<u> </u>	<b> </b>	8,958.82	· · · · · · · · · · · · · · · · · · ·	4,019.17
l	·		.		<b> </b>			
Unit price for 1	no.			l	1	747.00	1	335.00
	·. · · · · ·		.					
			. /	<u> </u>	l	· 	I	
l	<del></del> !		-	I		· · · · · ·	l	
	<del></del> !				l	· · · · · · · · · · · · · · · · · · ·	l	
				l	1		1	
	·		-	<b> </b>			l	
			-			<u> </u>	1	<del></del> _
		-	-	<b>]</b>	l		<del> </del>	
<b> </b>	· · ·			<u>  </u>	l	, <del></del>	1	·
				<u> </u>			l	
İ				i	l	√ <sup>1</sup>	1	
l			· · · · ·				1	<u> </u>
	·		1	l1				· · · · · ·
	- <del></del> !	·	ļl	<del></del> -	l		<u> </u>  :	<u> </u>
4			1 ,	1 7	<i>i</i> 1	J	i 11	

No. 705		Breakdo	wn of Un	it Price			West Marie Post	
Work:	Furnishing a	and erection of PC gire	ler, BM-70	), H (m)=	450	11.30	n long	
Unit price:	EC	801.00			1/C _	358.00	US\$/no.	
<b>,</b>	(Total	1,159.00	equiv.US\$	/no.)				
Remarks:	12 1	nos, basis		8.18	/no.			
Without the property of the control					E/C Doel	ion (US\$)	L/C Porti	on (HSC)
Particular		Description	Unit	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor			A MARINE STATE OF THE STATE OF		THE PERSON NAMED IN COLUMN TWO			
a) Foreman			m.đ.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	2.40		0.00	10.60	25.44
c) Operator B	·- <b>-</b>		m.d.	2.40		0.00	7.28	17.47
d) Rigger			m.d.	12.00		0.00	9.28	111.36
e) Common labor			m. <b>d</b> .	8.00		0.00	4.64	37.12
sub-total 1						0.00		209.95
2 Material								
a) PC girder			nos.	12.00	639.24	7,670.88	273.96	3,287.52
b) Light oil			lit.	152.00	0.16	24.32	0.04	6.08
c) Lubricant		20 % of b)	L.S.	1.00		4.86		1.22
sub-total 2		20 10 01 07		21.7		7,700.06		3,294.82
Sub-total 2								<del></del>
2 Equipment		<u> </u>	·			<del></del>		
3 Equipment		100 t	hr	0.00	75.55	0.00	18.89	0.00
a) Crawler crane	<del></del>	35 t		8.00		202.40		50.56
b) Crawler crane		15 t	hr	8.00		106.72	3.33	26.64
c) Truck crane, hy	u				13.3	309.12		77.20
sub-total 3	<del></del>							
		20%	L.S.	1.00		1,602.00	l	716.00
4 Overhead		20%	L.S.			1,002.00		
						9,611.18		4,297.97
Total for	12	nos.					<b>!</b>	
17-14 14 for 1		·		- <del></del>		801.00	: :	358.00
Unit price for 1	110.							
·			<del></del>					
· <u></u>				l			<del>-</del>	
			l	<u> </u>				· · · · · · · · · · · · · · · · · · ·
	·	l		<b></b>				<del></del>
			<b> </b>	<b> </b>				
			l	<del></del>	ļ			
[ <del>-</del>				ļ		· · · · · · · · · · · · · · · · · · ·		
<u> </u>			·					
			·		ļ		<del></del>	·
	<del></del>						<del>-</del>	· · · · · · · · · · · · · · · · · · ·
				<b> </b>	ļ			
<u></u>					l			_ <del></del>
				<u> </u>	<u> </u>			
I	:	1		1		ł	[	



No. 706		Breakdo	wn of Un	it Price	en en en en en en en en en en en en en e		<del>in de la cont</del> e pui Prompagny Austria	
Work:	Furnishing a	and erection of PC gire	Ser, BM-79	0, H (m)=	450	11.90 (	n long	
Unit price:	F/C	842.00			DC_	376.00	USS/no.	
-	(Total	1,218.00		/no.)	•			
Remarks:	12	nos. basis		8.61	√no.			
							portsjudensjolek alleksidensid (De.	The state of the s
Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Porti	on (US\$)
					Unit cost	Amount	Unit cost	Amount
1 Labor	1 1						<u> </u>	
a) Foreman			_m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	2.40		0.00	10.60	25,44
c) Operator B			m.d.	2.40		0.00	7.28	17.47
d) Rigger			m.d.	12.00		0.00	9.28	111.36
e) Common labor			m.d.	8.00		0.00	4.64	37.12
sub-total I						0.00		209.95
· ·						· · · · · · · · ·	-	
2 Material						·		
a) PC girder			nos.	12.00	673.20	8,078.40	288.52	3,462.24
b) Light oil			lit	152.00	0.16	24.32	0.04	6.08
c) Lubricant		20 % of b)	L.S.	1.00		4.86		1.22
sub-total 2	. 1744			<u> </u>		8,107.58		3,469.54
3 Equipment							<u> </u>	
a) Crawler crane		100 t	pt	0.00	75.55	0.00	18.89	0.00
b) Crawler crane		35 t	hr	8.00	25.30	202.40	6.32	50.56
c) Truck crane, hyd	<u>j.                                      </u>	15 t	hr	8.00	13.34	106.72	3.33	26.64
sub-total 3						309.12		77.20
						· · · · · · · · · · · · · · · · · · ·	<del></del>	
4 Overhead		20%	L.S.	1.00		1,683.00		751.00
					<u> </u>			
Total for	12	nos.	: 	: :	-	10,099.70		4,507.69
			<b> </b>			<del></del>		
Unit price for 1	по.			· <del>· · · · · · · · · · · · · · · · · · </del>		842.00		376.00
	. **							
· · · · · · · · · · · · · · · · · · ·			<u> </u>					
				. <u></u> .				···
			<u> </u>		· .		-	
	<u> </u>			ļ		· · · · · · · · · · · · · · · · · · ·		
			<u> </u>	<b></b>	·			
I		1	10000	1				

No. 707		Bro	akđo	wn of Un	it Price				
	_ :		~ .			***	12.15	. 3	
Work:		and erection of P			J, H (m)≖	500	12.35		
Unit price:	F/C	99				nc -	434.00	US\$/BQ.	
	•	1,42	9.00	equiv.US\$					
Remarks:	17	nos, basis			9.93	vno.			
						-			
				Unit	A)	E/C Davi	ion (US\$)	L/C Davi	ion (US\$)
Particular		Description		Onk	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor			-			Om Cost	SOURCE DE LA CONTRACTION DEL CONTRACTION DE LA C	On Cost	Thion
a) Foreman				m.đ.	2.00		0.00	9.28	18.56
b) Operator A				m.d.	1.20		0.00	10.60	12.72
c) Operator B				m.d.	1.20		0.00	7.28	8.74
d) Rigger		·		m.d.	12.00		0.00	9.28	111.36
e) Common labor				m.d.	8.00		0.00	4.64	37.12
sub-total I							0.00		188.50
300-10141					·				
2 Material							<del> </del>		
a) PC girder				nos.	12.00	776.26	9,315.12	332.69	3,992.28
b) Light oil		<del></del>		lit.	147.20		23.55	0.04	5.89
c) Lubricant		20 % of b)		L.S.	1.00		4.71		1.18
sub-total 2		<del></del>					9,343.38		3,999.35
ALE (E. P. )								1 ,4	
3 Equipment			7, 1						
a) Crawler crane		100 t		br	8.00	75.55	604.40	18.89	151.12
b) Crawler crane		35 t		hr	0.00	25.30	0.00	6.32	0.00
c) Truck crane, hy	d.	15 t		hr	0.00	13.34	0.00	3.33	0.00
sub-total 3							604.40		151.12
									<u> </u>
4 Overhead		20%		L.S.	1.00		1,990.00		868.00
		<u> </u>							
Total for	12	nos.					11,937.78		5,206.97
				· · · · ·					
Unit price for I	no.						995.00		434.00
		<u> </u>						<u> </u>	
		İ							
			· .	·			<u> </u>		<del></del>
				<del></del> .					<u> </u>
·	·		· ———			:			<del>`</del>
	·					<u> </u>			
			17:	<u>:</u>			<u></u>		
	: 		<u> </u>						
	. :							ļ <u>.</u>	·
	····			·		1 1 1 1 1			
	·			ļ		ļ			· · · · · · · · · · · · · · · · · · ·
		ļ			· · · · · · · · · · · · · · · · · · ·	ļ		<b> </b>	
	<del></del>	<b> </b>	<del></del> -		<u> </u>		<u> </u>	<b> </b>	<del></del>
<b>3</b>				1			ŧ.	. !	

	_			
*	5	3		
32		2	3.	
3		: 3	₹	
7	١.	.4		
ч	٠,		5	

No. 708		Breakd	own of Un	it Price				
Work ;	Fumichina	and erection of PC gir	der: BX4.5/	0, Н (տե⊶	500	13.35	m long	
Work : Unit price :	F/C	and crection of PC gir			DC.	466.00 1		
oracpieci.		1,537.00		Vno.)				
Remarks:	-	nos, basis	, - quiriou;	8110.) 10.73 (	ťno.			
								•
								Minds Maries and property
Particular		Description	Unit	Q'ty	F/C Porti	ion (US\$)		ion (US\$)
-	CAACOTT .			-	Unit cost	Amount	Unit cost	Amount
1 Labor							<u></u>	
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A		:	m.đ.	1.20	1	0.00	10.60	12.72
c) Operator B			m.d.	1,20		0.00	7.28	8.74
d) Rigger		:	m.d.	12.00		0.00	9.28	111.36
e) Common labor	:		m.d.	8.00	1	0.00	4.64	37.12
sub-total 1						0.00		188.50
		1	<u>                                     </u>	]				
2 Material	1			<u> </u>				
a) PC girder			nos.	12.00	···	10,072.92	359.75	4,317.00
b) Light oil			lit.	147.20		23.55	0.04	5.89
c) Lubricant		20 % of b)	L.S.	1.00	1	4.71		1.18
sub-total 2			<u> </u>	<b></b>	<u> </u>	10,101.18		4,324.07
				[]	<u> </u>			· <del></del>
3 Equipment				<u> </u>	<u>                                     </u>		<u> </u>	<u> </u>
a) Crawler crane		100 t	<u>hr</u>	8.00		604.40	18.89	151.12
b) Crawler crane		35 t	hr hr	0.00		0.00	6.32	0.00
c) Truck crane, hyd	<u>,                                    </u>	15 t	hr	0.00	13.34	0.00	3.33	0.00
sub-total 3	<del></del>	<u> </u>		ļ	<b> </b>	604.40		151.12
		1-2-	<del> </del>	<del> </del>	I		<del>-</del>  -	
4 Overhead		20%	L.S.	1.00	l	2,141.00	1	933.00
		<u></u>	<del> </del>	[————	<b> </b>	12,846.58		5,596.69
Total for	12	nos.			<b>{</b>	12,840.38		3,390.0
				[ · · · · · · · · · · · · · · · · · · ·	<b>┞</b>	1,071.00	<del></del> -	466.00
Unit price for 1 a	10.		-	<b>{</b>	ļ	1,071,00		400.UL
		<u> </u>	<b> </b>	<b> </b>	l			
	····	<del> </del>	·[	<b>[</b>	<del>                                     </del>		I	<u></u>
		·		<b> </b>	[			<del></del>
<u> </u>		<u> </u>	-	1	<del> </del>		1	<u></u>
[		·	-	<del></del> -			<b>\</b>	<del></del>
<b>[</b>	<u></u>	<u> </u>		1			<del></del>	
<u> </u>					<b>{</b>		<b> </b>	:
]- <del></del>	· · · · · · · · · · · · · · · · · · ·		· <del> </del>	<del></del>	<b>├</b>			
	· · · · · · · · · · · · · · · · · · ·		-		<b> </b>			
<u> </u>			1		l		<u>                                     </u>	<del></del>
		<del> </del>	1		1		<del></del>	
<u> </u>	<del></del>	<del> </del>	-		<b> </b>	<u></u>	<u> </u>	
<b>]</b>		·	<b> </b>	<b> </b>	<del> </del>	<del></del>		:

Work:	Furnishing and erect	ion of PC girder, BM-70, H (m)= 500		14.15 m long
Unit price :	F/C	1,131.00 USS/no.	1/C	492.00 US\$/no.
	(Total	1,623.00 equiv.US\$/no.)		
Remarks:	12 nos. basi	s 11.38 t/no	•	

Particular	Description	Unit	Q'ty	F/C Portion (US\$)		L/C Portion (US\$)	
				Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m,đ.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	1.20		0.00	10.60	12.7
c) Operator B		m.d.	1.20		0.00	7.28	8,7
d) Rigger	1. 1.	m.d.	12.00		0.00	9.28	110.3
e) Common labor		m.d.	8.00		0.00	4.64	37.1
sub-total 1	•				0.00		188.
2 Material							
a) PC girder		nos.	12.00	889.45	10,673.40	381.20	4,574.4
b) Light oil		lit.	147.20	0.16	23.55	0.04	<b>5</b> .8
c) Lubricant	20 % of b)	L.S.	1.00		4.71		. t.1
sub-total 2					10,701.66		4,581.4
3 Equipment							
a) Crawler crane	100 t	hr	8.00	75.55	604.40	18.89	151.1
b) Crawler crane	35 t	hr	0.00	25.30	0.00	6.32	0.0
c) Truck crane, hyd.	15 t	hr	0.00	13.34	0.00	3.33	0.0
sub-total 3					604.40		151.1
4 Overhead	20%	L.S.	1.00		2,261.00		984.0
Total for 12	nos.				13,567.06		5,905.0
Unit price for 1 no.		-			1,131.00		492.0
		T					4
A SATE OF THE PARTY OF THE PART							
		1					
					: :		
		- <del> </del>					
		-			<del></del>		
						4	
			l				<del> </del>
				ļ			<u> </u>
					···,·		
·				I		I~	

No. 710		Breakd	lown of Uni	it Price			-	
Work:	Fumishino s	and erection of PC gir	der, BM-70	), H (m)= _5	550	13.50 r	n long	
Work: Unit price:		1,184.00			L/C			
om pact:	Total	1,699.00	_ = couiv.liss	/no.)			) un en	1.2
Remarks:		nos, basis		11.94 t	t/no.			
ricinal KS i								
-	***************************************		1			on (1700)		AN ALICA
Particular		Description	Unit	Q'ty	F/C Portion Unit cost	ion (US\$) Amount	L/C Porti Unit cost	ion (USS) Amount
1 Labor				THE PERSON OF REAL PROPERTY.				
a) Foreman			m.d.	2.00		0.00	9.28	18.5
b) Operator A			m.d.	1.20	<u> </u>	0.00	10.60	12.7
c) Operator B			m.d.	1.20		0.00	7.28	8.7
d) Rigger		<u> </u>	m.d.	12,00	I	0.00	9.28	111.3
e) Common labor			m.d.	8.00	<u> </u>	0.00	4.64	37.1
sub-total I					\	0.00	<b>\</b>	188.5
			1:	\ <u>-</u> }	<b> </b>		\ <u></u>	
2 Material		<b> </b>	1	1	022 "	11 202 12	400.09	4,801.0
a) PC girder	· ·	1.1	nos.	12.00		11,202.48	I	4,801.0 5.8
b) Light oil		20.00	lit.	147.20		23.55	0.04	5.8 1.1
e) Lubricant		20 % of b)	L.S	1.00	<u> </u>	4.71	¶	
sub-total 2		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-	-	<b>-</b>	11,230.74	l —	4,808.1
3 Equipment								
a) Crawler crane		100 t	hr	8.00		604.40	1	151.1
b) Crawler crane		35 t	hr	0.00	1	0.00		0.0
c) Truck crane, hy	<u>d.</u> i	15 t	· hr	0.00	13.34	0.00	1	0.0
sub-total 3				<u> </u>	<b> </b>	604.40	<b> </b>	151.1
4 Overhead		20%	L.S.	1.00	<u> </u>	2,367.00		1,030.0
Total for	12	nos.		\		14,202.14	<b> </b>	6,177.7
Unit price for 1	DO	. <u>1                                   </u>	-	<b> </b>	<del> </del>	1,184.00	<u> </u>	515.0
San pake 10f 1				( <u> </u>				
	<del></del>		_[	[				:
							[]	
			]					
		, ,				·		:
			-					
								. <u></u>
	<del> </del>	1						
		<b>1</b>		1	·[	r	1 1	1

No. 711	ME-TON HANDAMEN TANDAY	Breakd	lown of Un	it Price		ingerficient de la Colombia de la Co	Physical Street Section 1995	
Work:	Furnishina	and erection of PC gi	inter RM-7	(f) H (m)=	550	14.10	m long	
Unit price :	F/C	1,233.00		0,11(11)-	L/C		US\$/no.	
om piec.	(Total		eguiv.US	\$/no.\	DC	330.00	.033/60.	
Remarks:	_	nos. basis	_ (	12.47	t/no			
Kullaiks.	12	1103, 04513		12.47	UNO.			
Particular	andet skeine Charge de graf gelien in de	Description	Unit	O'm	E/C D	(TICA)		ATTOMA
FAILIÇUIAI		Description	Unat	Q'ty		ion (US\$)	<del></del>	ion (US\$)
1 [ 0 ]	and the second second second		PARTIE BY COMMERCIA		Unit cost	Amount	Unit cost	Amount
1 Labor		<del></del>		3.00	<del></del>			
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	1.20	<del></del>	0.00	10.60	12.72
c) Operator B			m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.d.	12,00	l <del></del>	0.00	9.28	111.36
e) Common labor	<u>r</u>	ļ	m.d.	8,00		0.00	4.64	37.12
sub-total I	· · · · · · · · · · · · · · · · · · ·		.		ļ	0.00	<b> </b>	188.50
		   <del></del>		ļ	l	· · · · · · · · · · · · · · · · · · ·	<b> </b>	
2 Material			<u> </u>					
a) PC girder			nos.	12.00	974.94	11,699.28	417.83	5,013.96
b) Light oil	· · · · ·		lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant		20 % of b)	L.S.	1,00		4.71		1.18
sub-total 2			-		· · ·	11,727.54		5,021.03
3 Equipment								
a) Crawler crane	:	100 t	hr	8.00	75.55	604.40	18.89	151.12
b) Crawler crane		35 t	hr	0.00	25.30	0.00	I — — — — — — — — — — — — — — — — — — —	0.00
c) Truck crane, h	yd.	15 t	hr	0.00		0.00	3.33	0.00
sub-total 3						601.40		151.12
		· · ·						
4 Overhead		20%	L.S.	1.00		2,466.00		1,072.00
Total for	12	nos.				14,797.94		6,432.65
								0,32.0
Unit price for	1 no.		-			1,233.00		536.00
<u></u>						· · · · · · · · · · · · · · · · · · ·		
			·		l		<b></b>	<del></del>
		l			-			
						· · · · · · · · · · · · · · · · · · ·	<u> </u>	
			·	·	l		l	
			I					<del></del>
<del></del>	· · · · · · · · · · · · · · · · · · ·							
		<u> </u>						
·		<b></b>						
				: :	:	<u> </u>		
	<u> </u>	//		:				
				<u> </u>				
*		1	1 !					

No. 712		Breakdown of Unit Price									
Work:	Furnishing	and erection of PC	C girder, BM-7	70, H (m)=	550	14.90	m long				
Unit price :		1,303					US\$/no.				
-		1,87.		\$/no.)	•						
Remarks:	11	nos, basis		13.18	t/no.						
		·									
Particular	44.75.17.17.17.17.17.17.17.17.17.17.17.17.17.	Description	l Hair	O'a	E/C Doz	tion (US\$)	L/C Poet	ion (USS)			
Pariocular		Description	Unit	Q'ty	Unit cost	Amount	Unit cost	Amount			
1 Labor	hard agencyler gent, med selftene a	era iku jaroksiikuus, voi Peresiiseta, ja eta siilista va	NEW CONTROL CONTROL								
a) Foreman			m.d.	2.00		0.00	9.28	18.50			
b) Operator A			m.d.	1.20		0.00	10.60	12.7			
c) Operator B			m.d.	1.20		0.00	7.28	8.7			
d) Rigger			m.d.	12.00		0.00	9.28	111.30			
e) Common labor	·		m.d.	8.00	: 	0.00	4.64	37.1			
sub-total 1		ļ		·		0.00		188.50			
<u> </u>											
2 Material											
a) PC girder		:	nos.	11.00		11,333.85	441.58	4,857.38			
b) Light oil		<u> </u>	lit.	147.20	0.16	23.55	0.04	5.89			
c) Lubricant	<del></del>	20 % of b)	L.S.	1.00		4.71		1.18			
sub-total 2	<u> </u>		<u> </u>			11,362.11		4,864.4			
		<u> </u>	<del></del>	·	- <del></del>						
3 Equipment	<del></del> -			9.00	75.56	604.40	18.89	151.12			
a) Crawler crane	<u> </u>	100 t	hr hr	8.00	75.55 25.30	0.00	6.32	0.00			
b) Crawler crane		35 t		0.00	13.34	0.00	3.33	0.00			
c) Truck crane, hyd	•	15 ţ =	þi –	0.00	13.34	604.40	3,33	151.12			
sub-total 3		l			<del></del>	004.40		131,11			
4 Overbead	· · · · · · · · · · · · · · · · · · ·	20%	L.S.	1.00		2,393.00		1,041.00			
		**:									
Total for	11	nos.				14,359.51		6,245.0			
Unit price for 1 r	10.					1,305.00		568.00			
								<u></u>			
	<u>: : : : : : : : : : : : : : : : : : : </u>		<u> </u>								
		·						<del> </del>			
·	<u> </u>										
				·	· · · · · · · · · · · · · · · · · · ·						
		<b>[</b>									
	<del></del>	<b>[</b>		1 -							
<u></u>				<b></b> ;				<u> </u>			
	<del> :  </del>	<b></b>									
					<u> </u>						
				4 T-1							
				<u></u>							
ŧ		Į		:							

T.

A
. 9

NO. 713		вгеако	own of U	nu race					
Work:	Furnishing	and erection of PC gir	der, BM-	70, H (m)⇒	650	15.80	m long		
Unit price:		1,318.00			PAGE	573.00			
	(Total	1,891.00	equiv.US			_			
Remarks:	11	nos. basis		16.51	t/no.				
						·			
Particular		Description	Unit	T 0' 1	F/C Portion (US\$) L/C				
Tarrenas		Description	Omt	Qʻty	Unit cost	Amount	Unit cost	ion (US\$) Amount	
1 Labor			**********	**************************************		TOTAL STREET	O III COSC	10110011	
a) Foreman	<del></del>		m.d.	2.00		0.00	9.28	18.56	
b) Operator A			m.d.	2.40		0.00	10.60	25.44	
c) Operator B			m.d.	2.40		0.00	7,28	17.47	
d) Rigger			m.d.	12.00		0.00	9.28	111.36	
e) Common labor	: 1	7 : 1	m.d.	8.00		0.00	4.64	37.12	
sub-total 1			-			0.00	:	209.95	
	. 2								
2 Material									
a) PC girder			nos.	11.00	1,030.35	11,333.85	441.58	4,857.38	
b) Light oil			lit.	215.20	0.16	34.43	0.04	8.61	
e) Lubricant		20 % of b)	L.S.	1.00		6.89		1.72	
sub-total 2						11,375.17		4,867.71	
	· · · · · ·			<u>                                     </u>					
3 Equipment									
a) Crawler crane		100 t	br	8.00	75.55	604.40	18.89	151.12	
b) Crawler crane	<u> </u>	35 t	hr	0.00	25.30	0.00	6.32	0.00	
c) Truck crane, hyd.	2 ++	15 t	pi	8.00	13.34	106.72	3.33	26.64	
sub-total 3	•			<del></del>	· <del></del>	711.12		177.76	
4 Overhead	<del></del>	300	l		,				
4 Overneau	<del></del>	20%	L.S.	1.00		2,417.00		1,051.00	
Total for	11	nos.	· <del></del>		1	14,503.29		6,306.42	
						11,303.27			
Unit price for 1 ne	0.		<del></del>		<del></del>	1,318.00		573.00	
			<u> </u>					:	
	· · · · · · · · · · · · · · · · · · ·								
			1						
~~··							:		
<u></u>	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·							
			<u>:</u> _						
<u></u>			· 					:	
			<u> </u>						
	· <del>-</del>								

No. 714		Breakd(	own of Un	lt Price	**************************************			
Work:	Furnishing	and erection of PC gird		0, H (m)=	CHOOSE WALLESON AND ADDRESS.	THE RESERVE OF THE PARTY OF THE PARTY OF THE PARTY.	m long	
Unit price:	F/C	1,327.00	USS/no.		r/c [	578.00	US\$/no.	
	(Total			Vno.)				
Remarks:	10	nos, basis	PARTECO POSTOLICO	17.78	t/no.	Najah Salah Mada da Maria Salah Sala		
	Brafafranti-microbiczki	ensistens Berther MacColours aus materials bude hab hab a 1965 '49 vill steep a 2	MA, TOWN, M. MINESON	Processing and Social Section (Section 1999)	بنار المحدد دوست ، مهرددون (دستمارش).	· Ber (Miller Franch St. Miller and St. on S	e de l'accomment accomment	
Particular	CONTRACTOR OF COMMUNICATION	Description	Unit	Q'ry	F/C Port	tion (US\$)	L/C Port	tion (US\$)
					Unit cost	Amount	Unit cost	Amount
1 Labor							<u> </u>	
a) Foreman			m.đ.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	2.40	Ī	0.00	10.60	25.44
c) Operator B			m.d.	2.40	i	0.00	7.28	17.47
d) Rigger			md.	12.00		0.00	9.28	111.36
e) Common labor			m.d.	8.00		0.00	4.64	37.12
sub-total l			Ĺl	<u>                                     </u>		0.00		209.95
			<u> </u>	<u> </u>				
2 Material	·			<u> </u>				
a) PC girder			nos.	10.00	1,030.35	10,303.50	441.58	4,415.80
b) Light oil			lit.	215.20	0.16	34.43	0.04	8.61
c) Lubricant		20 % of b)	L.S.	1.00		6.89		1.72
sub-total 2				<u> </u>	l	10,344.82		4,426.13
				<u>                                     </u>				i
3 Equipment				<u> </u>				
a) Crawler crane		100 t	hr	8.00	75.55	604.40	18.89	151.12
b) Crawler crane	* + 1	35 t	l br	0.00	25.30	0.00	6.32	0.00

No. 715	STATE OF THE PARTY	Breakdown of Unit Price								
Work:	Fumishing a	and erection of PC gin	der, BM-10	00, H (m)	450	8.40	n long	- 1		
Unit price :			US\$/no.			269.00	US\$/no.			
	(Tota)		equiv.US\$	√no.)				- [		
Remarks:	-	nos, basis		6.08	√no.			i		
	gerangian (ye) me. Perandra Sradia-				20 4.5 4.5 EVENT WITE PA		CAN TO SECUENCE			
	-	A CONTRACTOR AND A CONT								
Particular		Description	Unit	Q'ıy	F/C Port	ion (US\$)	L/C Porti	on (US\$)		
			<u> </u>		Unit cost	Amount	Unit cost	Amount		
1 Labor		THE TAXABLE MANAGEMENT AND ADDRESS OF THE PARTY OF THE PA								
a) Foreman			m.d.	2.00		0.00	9.28	18.56		
b) Operator A			m.d.	1.20		0.00	10.60	12.72		
c) Operator B	,		m.d.	1.20		0.00	7.28	8.74		
d) Rigger		:	m.d.	12.00		0.00	9.28	111.36		
e) Common labor			m.d.	8.00		0.00	4.64	37.12		
sub-total 1						0.00		188.50		
2 Material								•		
a) PC girder			nos.	12.00	475.41	5,704.92	203.75	2,445.00		
b) Light oil			tit.	84.00	0.16	13.44	0.04	3.36		
c) Lubricant		20 % of b)	L.S.	1.00		2.69		0.67		
sub-total 2	1 1 1 1 1 1 1					5,721.05		2,449.03		
380-10121 2	<del></del>	<u></u>								
3 Equipment										
a) Crawler crane		100 t	hr	0.00	75.55	0.00	18.89	0.00		
b) Crawler crane		35 1	br	8.00	<b> </b>	202.40	6.32	50.56		
c) Truck crane, hy		15 t	hr	0.00	1	0.00	3.33	0.00		
sub-total 3	<del></del>					202.40		50.56		
300-10121 3										
4 Overhead	<del></del>	20%	L.S.	1.00		1,185.00		538.00		
4 Ottikas										
Total for	12	nos.	1			7,108.45		3,226.09		
- Joiai loi		103.	7 7	<del> </del>				<del></del>		
Unit price for I	<u> </u>					592.00		269.00		
Ome pike tor I	110.									
					1					
	<del></del>		İ							
			1							
			1							
	<del></del>	<del></del>	<del>-   :</del>							
			1		<b> </b>	· ·				
i	<del></del>	<del> </del>	1	· · · · · · · · · · · · · · · · · · ·						
	<del> </del>				1	24				
	.,		<u> </u>		1		<u> </u>			
<b></b>		<b> </b>	<del> </del>	<del> </del>	1		<u> </u>	·		
		<b> </b>	1	+	<b></b>					
<u> </u>	<del></del>	<del> </del>		<del> </del>	l	<b> </b>	<u> </u>	- ·. ···		
			<b> </b> -	-{	1:		<b> </b>			
	<del>-, </del>	<u> </u>	- <b> </b> -	1	<del> </del>	<del> </del>				
0							وموجوب والمرجوا			

No. 716	-	Breakd	own of Uni	t Price				
			155.4 44	W 117>		11.90	m lone	
Work:		and erection of PC gir		ν, η (m)=	I/C			
Unit price:	F/C	961.00	USS/00.	ina l	IIC _	717.00		
		1,380.00	equiv.055	/no.) 9.57	Ma			
Remarks:	17	nos. basis	AND DESCRIPTION	9.31	VIIO.	The state of the s		
	grane and the	al die die kale anderson anderson en en en en en en en en en en en en en		ngayramidesh whitelette d			TANK THE RESERVE OF THE	
Particular		Description	Unit	Q'ıy	F/C Port	ion (US\$)	L/C Port	ion (US\$)
Panicular		Description		ν,	Unit cost	Amount	Unit cost	Amount
1 Labor		render som en en en en en en en en en en en en en	Dec 24 Personnel de			THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS N	dens superiored	and the second of the second o
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	1.20		0.00	10.60	12.72
c) Operator B			m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.d.	12.00		0.00	9.28	111.36
e) Common labor	<u></u> -		m.d.	8.00		0.00	4.64	37.12
sub-total I						0.00	;	188.50
200-10141 1			[]			1 1 1		
2 Material		<del></del>			<u> </u>			
a) PC girder			nos.	12.00	747.96	8,975.52	320.56	3,846.72
b) Light oil	<del></del>		lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant		20 % of b)	L.S.	1.00		4.71		1.18
sub-total 2						9,003.78		3,853.79
300 (51112						3 7		4
3 Equipment								
a) Crawler crane		1001	hr.	8.00	75.55	604.40	18.89	151.12
b) Crawler crane		35 t	hr	0.00	25.30	0.00	6.32	0.00
e) Truck crane, hy	rd.	15 t	hr	0.00	13.34	0.00	3.33	0.00
sub-total 3						604.40		151.12
4 Overhead		20%	LS.	1.00		1,922.00		839.00
		:						
Total for	12	nos.				-11,530,18		5,032.41
Unit price for I	no.					961.00		419.00
			<u> </u>					
						<u> </u>		· · · · · · · · · · · · · · · · · · ·
			<u> </u>					<del></del>
			1				<b> </b>	10.000
			<b></b>					:
<u> </u>			<u> </u>				<b> </b>	<del></del>
						<u> </u>		<u> </u>
	·			<b></b>				
			.			<u> </u>		<del></del>
			<u> </u>					
					:	<del></del>		
			_	15	<u> </u>			<del></del>
		<u> </u>	<u> </u>		<u> </u>		ļ	
							L	

No. 717		Breakd	own of Un	it Price				]
Work: Fu	ımishine :	and erection of PC gir	der, BM-19	00, H (m)===	sóo	12.90 r	n long	į
Unit price :		1,037.00	US\$/no.		<b>U</b> C_	فت من منظم المنظم ا		1
	(Total	1,489.00	equiv.US\$					
Remarks:	12	nos. basis		10.37	√no.	Andrew The Aspertation of the Control of the Contro		
atoma of the state						the state of the s		
Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Porti	on (USS)
Paroculai		Description	O.I.I.		Unit cost	Amount	Unit cost	Amount
Labor		THE PARTY OF THE P						
a) Foreman		· · · · · · · · · · · · · · · · · · ·	m.d.	2.00		0.00	9.28	18.56
b) Operator A		<u> </u>	m.đ.	1.20		0.00	10.60	12.72
c) Operator B		1	m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.đ.	12.00		0.00	9.28	111.36
e) Common labor			m.đ.	8.00		0.00	4.64	37.12
sub-total l						0.00		188.50
2 Material								
a) PC girder			nos.	12.00	811.11	9,733.32	347.62	4,171.44
b) Light oil			lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant		20 % of b)	L.S.	1.00		4.71		1.18
sub-total 2						9,761.58		4,178.51
300 101213		· <del></del>	1					
3 Equipment			100		1			
a) Crawlet crane	<del></del> -	100 t	hr	8.00	75.55	604.40	18.89	151.12
b) Crawler crane		35 t	hr	0.00	1	0.00	6.32	0.00
c) Truck crane, hyd.		15 t	hr	0.00	t	0.00	3.33	0.00
sub-total 3			<u> </u>			604.40		151.12
340-(0/4) 5			1					
4 Overhead		20%	L.S.	1.00		2,073.00		904.00
4 Offices	<del> </del>	<del></del>	1					1 1
Total for	12	nos.	-			12,438.98		5,422.13
1011101		1100	<u> </u>		1			<del></del>
Unit price for 1 no	<del></del>					1,037.00		452.00
Om pice for the		1	<del> </del>			<del></del>		٠.
	:	f	1					
<u> </u>			<del> </del>	···				
			-	1				
	-,		1	<u> </u>				
			<del></del>	<b></b>	<b></b>			
	<del></del>	<b> </b>	· - ·	<u> </u>				_,
				<del>                                     </del>				
					<b></b>			
	<del></del>	100	<del> </del>	ļ — — —				
		·		<del> </del>		<del> </del>	<u> </u>	
<u> </u>	· · ·				<del> </del>	.:		
	<u> </u>	<u> </u>	<del></del>	1.			<del> </del>	
	<del></del>	<u> </u>		1		<b></b>	<del> </del>	<u></u>
1		1		I	<u> </u>	1	<u> </u>	<u> </u>

No. 718		Breakdown of Unit Price		
Work:	Furnishing and erection	n of PC girder, BM-100, H (m)-	550	13.50 m long
Unit price:	F/C	1,184.00 USS/no.	L/C	515.00 US\$/no.
	(Total	1,699.00 equiv.US\$/no.)		
Remarks:	12 nos. basis	11.94	t/no.	
e de la companya del companya del companya de la co				

Particular	Description	Unit	Q'ty	سارحت ويستونه والمنابع والمنازعون شو	ion (US\$)	the same of the same of the same of	on (US\$)
ng gang an managang managang ang apang Pangganggang an managang an managang an di Araba an Bana di Araba an Ba		****	ELECTRONIC CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONTROL CONT	Unit cost	Amount	Unit cost	Amount
1 Labor							
a) Foreman		m.d.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	1.20		0.00	10.60	12.7
c) Operator B		m.d.	1.20	•	0.00	7.28	8.7
d) Rigger		m.d.	12.00	:	0.00	9.28	111.3
e) Common labor		m.d.	8.00		0.00	4.64	37.1
sub-total l					0.00	1 1	188.5
	<u> </u>					1 to 1	
2 Material					::	·	·
a) PC girder		nos.	12.00	933.54	11,202.48	400.09	4,801.0
b) Light oil		lit.	147.20	0.16	23.55	0.04	5.8
c) Lubricant	20 % of b)	L.S.	1.00		4.71		1.1
sub-total 2			<u>, '</u>		11,230.74		4,808.1
		[]		[			
3 Equipment	,						<u> </u>
a) Crawler crane	100 t	hr	8.00	75.55	604.40	18.89	- 151.1
b) Crawler crane	35 t	hr	0.00	25.30	0.00	6.32	0.0
c) Truck crane, hyd.	15 t	ħг	0.00	13.34	0.00	3.33	0.0
sub-total 3					604.40		151.1
				<u> </u>			
4 Overhead	20%	L.S.	1.00		2,367.00		1,030.0
					·		
Total for 12	nos.				14,202.14		6,177.7
Unit price for 1 no.					1,184.00		515.0
		:					
							· · · · · · · · · · · · · · · · · · ·
			v .				
							· .
			i i				
<del></del>					· · · · · · · · · · · · · · · · · · ·		
		1		· · · · · ·			
	-			I		l	

110. 719	DIESANONE OF CHILLING							
Work:	Furnishing	and erection of PC gir	der, pedest	trian, H (m) =	350	7.30	n tong	
Unit price :			US\$/no.		L/C	186.00		
-	(Total	590.00	equiv.US	Vno.)	-	CONTRACTOR DE LA CONTRA		
Remarks:		nos, basis		4.11	₹no.			
	Control of Control							
Particular Particular		Description	Unit	Q'ty			the state of the late on (US\$)	
				***************************************	Unit cost	Amount	Unit cost	Amount
i Labor			·					
a) Foreman	. <u>,</u>		m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	1.20	·	0.00	10.60	12.72
c) Operator B			m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.d.	12.00		0.00	9.28	111.36
e) Common labor			m.d.	8.00		0.00	4.64	37.12
sub-total I						0.00		188.50
2 Material								
a) PC girder			nos.	14.00	321.11	4,495.54	137.62	1,926.68
b) Light oil			lit.	84.00	0.16	13.44	0.04	3.36
c) Lubricant		20 % of b)	L.S.	1.00		2.69		0.67
sub-total 2						4,511.67		1,930.71
3 Equipment				: .				
a) Crawler crane		100 t	hr	0.00	75.55	0.00	18.89	0.00
b) Crawler crane		35 t	hr	8.00	25.30	202.40	6.32	50.56
e) Truck crane, hyd	<u>.                                    </u>	15 t	hr	0.00	13.34	0.00	3.33	0.00
sub-total 3						202.40		50.56
								<u> </u>
4 Overhead	<u> </u>	20%	L.S.	1.00		943.00		434.00
			. 1					
Total for	14	nos.	1			5,657.07		2,603.77
Unit price for 1	no.					404.00		186.00
	<u> </u>			. :				
						<u> </u>		
			<u> </u>		· · · · · · · · · · · · · · · · · · ·			
			<u> </u>			•		
		<u></u>						·
			<u> </u>					
	<u>;</u>			<u> </u>		<u> </u>		
				ļ				11 4
					<u> </u>	1		
<del></del>		1	T	1	[		1	



No. 720		Breakdown of Unit Price		
Work:	Furnishing and erection	of PC girder, pedestrian, H (m) = 3	50	8.40 m long
Unit price:	F/C	462.00 US\$/no.	DC	211.00 US\$/no.
	(Total	673.00 equiv.US\$/no.)	•	
Remarks:	14 nos. basis	4.73 Vr	10.	•

Particular		Descripti	on	Unit	Q'ty	F/C Porti	on (US\$)	L/C Port	on (US\$)
	MANGEMAN TRANSPORT				icaelor Pierbik-Rivik	Unit cost	Amount	Unit cost	Amount
1 Labor								: }	
a) Foreman				m.d.	2.00		0.00	9.28	18.5
b) Operator A				m.d.	1.20		0.00	10.60	12.7
c) Operator B				m.d.	1.20		0.00	7.28	8.7
d) Rigger				m.d.	12.00		0.00	9.28	111.3
e) Common labor				m.d.	8.00		0.00	4.64	37.1
sub-total i							0.00		188.5
2 Material									· · · · · · · · · · · · · · · · · · ·
a) PC girder				nos.	14.00	369.66	5,175.24	158.43	2,218.0
b) Light oil	·			lit.	84.00	0.16	13.44	0.04	3.3
c) Eubricant		20 % of	b)	LS.	1.00		2.69		0.6
sub-total 2				2.01	- 1100		5,191.37		2,222.0
200 (011)	****		,						
3 Equipment	:								<u> </u>
a) Crawler crane		100 t		hr	0.00	75.55	0.00	18.89	0.0
b) Crawler crane		35 t	- <del></del>	hr	8.00	25.30	202.40	6.32	50.5
e) Truck crane, hyd.		15 t.		DF :	0.00	13.34	0.00	3.33	0.0
sub-total 3					<del></del>		202.40		50.5
1									
4 Overhead		20%	, ;	L.S.	1.00		1,079.00		492.0
Total for	14	nos.					6,472.77		2,953.1
		,							
Unit price for 1 no.							462.00		211.0
	<u> </u>		· · · · ·	:	<u> </u>				
· · · · · · · · · · · · · · · · · · ·	<u> </u>		*	<b> </b>			· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·
<u></u>	<u> </u>		:,	<del> </del>	<del></del>		<del></del>		
	- : :	· <del></del>	<del></del>	<b>  </b>	<del></del>				
	1.0				<del></del>				
	<del>-:</del>			<b> </b>		<del>-</del>			<del></del>
<del></del>	·						·		
				<del>                                     </del>					
<u> </u>		in the	: .	<b> </b>					<del> </del>
	· :			<b> </b>	-	-		<del></del>	
			·						
·							: :		<del> </del>
		<u> </u>	· · · · ·		**				<u> </u>
				i 'l					

No. 721	Breakdown of Unit Price									
Wast -	Damishine :	and erection of PC gis	otsahan sah	ian H(m)-	350	9.20	m long	ļ		
Work : Unit price :		506.00		tent by (111)	L/C	a, 1826-1824 de ministrativa de la constanta de la constanta de la constanta de la constanta de la constanta d	Contract of the last of the la	ļ		
Out pace:	Trust	737.00	equiv.1199	'no.)		The state of the s				
Remarks:	_	nos, basis	, equivious	5.18	t/no.					
Mension in a		NOTE OF THE PROPERTY OF THE PR								
		COMPANY OF THE PARTY OF THE PAR			el man de un se lettro de comune elle elle elle elle elle elle elle e	A THE COMMENT OF STREET SERVICES	·			
Particular		Description	Unit	Q'ty	F/C Port	ion (US\$)	L/C Porti	on (US\$)		
		·	]		Unit cost	Amount	Unit cost	Amount		
1 Labor	er persone de company de la company de la company de la company de la company de la company de la company de l La company de la company de la company de la company de la company de la company de la company de la company d	······································								
a) Foreman		-	md.	2.00		0.00	9.28	18.56		
b) Operator A			m.d.	1.20		0.00	10.60	12.72		
c) Operator B			m.d.	1.20		0.00	7.28	8.74		
d) Rigger			m.d.	12.00		0.00	9.28	111.36		
e) Common labor			m.d.	8,00		0.00	4.64	37.12		
sub total l			<u> </u>			0.00		188.50		
2 Material		:	ļl							
a) PC girder			nos.	13.00	404.81	5,262.53	173.49	2,255.37		
b) Light oil	:		lit.	84.00	0.16	13.44	0.04	3.36		
c) Lubricant	·	20 % of b)	L.S.	1.00		2.69		0.67		
sub-total 2			<u> </u>			5,278.66		2,259.40		
		. <u></u>								
3 Equipment			<b>  </b>							
a) Crawler crane		100 t	hr h	0.00	<b> </b>	0.00		0.00		
b) Crawler crane		35 t	hr	8.00	1	202.40	I	50.56		
c) Truck crane, hy	<i>i</i> đ	15 t	hr hr	0.00	13.34	0.00	<del>-</del>	0.00		
sub-total 3	·		.   <del>-                                  </del>		<b> </b>	202.40		50.56		
			<del>  , _  </del>		<del> </del>	1 004 00	ļ	500.00		
4 Overhead	·	20%	L.S.	1.00	<b> </b>	1,096.00		300.00		
					<u> </u>	6 637 06	<b> </b>	2,998.46		
Total for	13	nos.	-}		<del> </del>	6,577.06	<del> </del>	2,770,40		
			-	<del></del>	<b> </b>	506.00	<u> </u>	231.00		
Unit price for I	i no.		<del> </del>	<u> </u>	<del> </del>	300.00	<del>                                     </del>	231.00		
]	·		-			<del></del>				
:			- [	<del></del>						
					<b> </b>					
<u> </u>		<b> </b>								
	<del></del>		1		:					
			-							
	<del>   -</del>							<del></del>		
		-	<b></b>				<del> </del>			
<u> </u>					<b>†</b>	<u> </u>				
			1				1			
	<del></del>	<b></b>								
		1			1		· · · · · ·			
			1							
<del></del>		<del>                                     </del>								

No. 722		Break	down of Us	it Price			
Work:	Furnishing as	nd erection of PC g	irder, pedes	trian, H (m)	<b>-</b> 400	11.50 m	ı long
Unit price:	F/C	753.00	US\$/no.		L/C	330.00 L	)\$\$/no.
	(Total	1,083.00	equiv.US	5/no.)			
Remarks:	13 no	os. basis		7.40	Vno.		
		Park - 1927	Kalendar offer did in Pa	Ordela z Drugostikowi sod drugol society	Latin de Greek de Miller Latin de de la descripa Latin		of any other section is
Particular	COLD SERVICE COMPANY	Description	Unit	Q'ty	F/C Portion		L/C Portion (US

Labor	Particular	Description	Unit	Q'ty	F/C Por	tion (US\$)	L/C Por	tion (US\$)
1 Labor a) Forman md. 2.00 0.00 9.28 18.56 b) Operator A c) Operator B md. 1.20 0.00 10.60 12.77 c) Operator B md. 1.20 0.00 7.28 8.77 d) Rigger md. 12.00 0.00 9.28 111.30 e) Common labor and 8.00 0.00 4.64 37.11 sub-total I  2 Material a) PC girder nos. 13.00 578.47 7.530.11 247.92 1.222.96 b) Light oil c) Lubricant 20 % of b) L.S. 1.00 4.77 sub-total 2 3 Equipment a) Crawler crane 100 c b) Crawler crane 100 c c) Truck crane, hyd. 151 hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 4 Overhead 20% L.S. 1.00 1,631.00 714.00 Total for 13 nos. 9,783.77 4.283.60 Unit price for 1 no. 153.00  Unit price for 1 no. 153.00  Total for 1 no. 153.00  Discovery and the sub-total sub-tota								
b) Operator A	1 Labor			THE PERSON				TO BE AND AND AND AND AND AND AND AND AND AND
b) Operator A	a) Foreman		m.d.	2.00		0.00	9.28	18.50
d) Rigger e) Common labor m.d. 12.00 0.00 9.28 111.3 e) Common labor m.d. 8.00 0.00 4.64 37.1 sub-total 1 0.00 188.5 e  2 Material a) PC girder nos. 13.00 578.47 7,520.11 247.92 3,222.96 e) Light oil lin. 147.20 0.16 23.55 0.04 5.88 e	b) Operator A		m.đ.	1.20		0.00	10.60	12.7
e) Common labor sub-total 1	c) Operator B		m.đ.	1,20		0.00	7.28	8.7
Sub-total	d) Rigger		m.đ.	12.00		0.00	9.28	111.30
2 Material a) PC girder b) Light oil c) Light oil c) Light oil sub-total 2  3 Equipment a) Crawler crane 100 t b) Crawler crane 35 t b) Truck crane, hyd. sub-total 3  4 Overhead 20% L.S. 1.00 1.51 b) Crawler of a t c) Truck crane, hyd. sub-total 3  4 Overhead 20% L.S. 1.00 1.631.00 714.00 753.00 330.00 330.00 714.00 753.00 330.00 330.00 714.00 753.00 330.00 330.00 330.00 330.00 714.00 714.00 753.00 330.00	e) Common labor		m.d.	8.00		0.00	4.64	37.12
2 Material a) PC girder b) Light oil b) Light oil c) Lubricant c) Lubr	sub-total I				1 2	0.00		188.50
2 Material a) PC girder b) Light oil lit. 147.20 l.16 23.55 0.04 5.83 c) Lubricant 20 % of b) L.S. 1.00 4.71 1.11 sub-total 2 7,548.37 3,230.00 3 Equipment a) Crawler crane l100 t							17.	
b) Light oil	2 Material				1 1	· <u>1</u>		· .
c) Lubricant 20 % of b) L.S. 1.00 4.71 1.11 sub-total 2 7,548.37 3,230.0 7,548.37 3,230.0 3 Equipment a) Crawler crane 100 t hr 8.00 75.55 604.40 18.89 151.11 b) Crawler crane 35 t hr 0.00 25.30 0.00 6.32 0.00 c) Truck crane, hyd. 15 t hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 604.40 151.12 4 Overhead 20% L.S. 1.00 1.631.00 714.00 Total for 13 nos. 9,783.77 4,283.65 Unit price for 1 no. 753.00 330.00	a) PC girder		nos.	13.00	578.47	7,520.11	247.92	3,222.9
Sub-total 2   7,548,37   3,230.0			lit.	147.20	0.16	23.55	0.04	5.89
3 Equipment a) Crawler crane 100 t hr 8.00 75.55 604.40 18.89 151.1; b) Crawler crane 35 t hr 0.00 25.30 0.00 6.32 0.00 c) Truck crane, hyd. 15 t hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 604.40 151.1; 4 Overhead 20% E.S. 1.00 1,631.00 714.00  Total for 13 nos. 9,783.77 4,283.6; Unit price for 1 no. 753.00 330.00	<del></del>	20 % of b)	L.S.	1.00				1.18
a) Crawler crane 100 t hr 8.00 75.55 604.40 18.89 151.12 b) Crawler crane 35 t hr 0.00 25.30 0.00 6.32 0.00 c) Truck crane, hyd. 15 t hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 604.40 151.12 4 Overhead 20% L.S. 1.00 1.631.00 714.00 Total for 13 nos. 9,783.77 4,283.65 Unit price for 1 no. 753.00 330.00	sub-total 2			1 11111		7,548.37	· · · · · · · · · · · · · · · · · · ·	3,230.0
a) Crawler crane 100 t hr 8.00 75.55 604.40 18.89 151.12 b) Crawler crane 35 t hr 0.00 25.30 0.00 6.32 0.00 c) Truck crane, hyd. 15 t hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 604.40 151.12 4 Overhead 20% L.S. 1.00 1.631.00 714.00 Total for 13 nos. 9,783.77 4,283.65 Unit price for 1 no. 753.00 330.00	<del></del>	<u> </u>	<u> </u>				·—————	
b) Crawler crane 35 t hr 0.00 25,30 0.00 6.32 0.00 c) Truck crane, hyd. 15 t hr 0.00 13,34 0.00 3,33 0.00 sub-total 3 604.40 151.17  4 Overhead 20% L.S. 1.00 1,631.00 714.00 Total for 13 nos. 9,783.77 4,283.65  Unit price for 1 no. 753.00 330.00								<u> </u>
c) Truck crane, hyd. 15 t hr 0.00 13.34 0.00 3.33 0.00 sub-total 3 604.40 151.11  4 Overhead 20% L.S. 1.00 1,631.00 714.00  Total for 13 nos. 9,783.77 4,283.63  Unit price for 1 no. 753.00 330.00	·	<del></del>	· <del>[</del>					
Sub-total 3 604,40 151.12 4 Overhead 20% L.S. 1.00 1,631.00 714.00 Total for 13 nos. 9,783.77 4,283.63 Unit price for 1 no. 753.00 330.00								
4 Overhead 20% L.S. 1.00 1,631.00 714.00  Total for 13 nos. 9,783.77 4,283.69  Unit price for 1 no. 753.00 330.00		15 t	pr.	0.00	13.34		3.33	
Total for 13 nos. 9,783.77 4,283.65  Unit price for 1 no. 753.00 330.00	sub-total 3		<b>-</b>			604.40		151.12
Total for 13 nos. 9,783.77 4,283.65  Unit price for 1 no. 753.00 330.00	<u> </u>		ļ					
Unit price for 1 no. 753.00 330.00	4 Overhead	20%	L.S.	1.00	· · · · · · · · · · · · · · · · · · ·	1,631.00		714.00
Unit price for 1 no. 753.00 330.00	7736. 33					0.000.00		
	16(altor 13	nos.	<del>-</del>			9,783.77		4,283.63
	Unit arias for Lan		·	<del></del>	-	753.00	·	220.00
	One pike for tho.		l			755.00		330.00
								<del> </del>
	· · · · · · · · · · · · · · · · · · ·		<b>-</b>					<u> </u>
		· · · · · · · · · · · · · · · · · · ·				<del></del>		
			1					<del></del>
	<del></del>				<del></del>			
		<del> </del>	1					<del>:</del>
			1					<del></del>
			1					<del></del>
	<del></del>			-				<del></del>
		<del></del>						
			1					<del>* - *</del>

No. 723		Break	iown of U	nit Price				
Work:	Furnishing	and erection of PC gi	rder neder	strian H/m) =	- 400	12.50	las-	•
Unit price :	F/C		US\$/no.	2016)14 E1 (111) -	nc T		m long USS/no.	
	(Tota		equiv.US	\$/no.)	-	The second second second	,	
Remarks:	13	nos, basis	· · · · · · · · · · · · · · · · · · ·	8.04	Vno.	a California de la composição de La comp		
	Quart M. Div. Physical and	STOTOPS No. 47/Freedmark.ett.l.sp.ete-glabelischenstern				and the second s		
Particular		Description	Unit	Q'ry	E/C David	ion (US\$)		
		Dextipuon	O.M.	"	Unit cost	Amount	Unit cost	tion (US\$) Amount
1 Labor			Advanced in the second	ON THE RESIDENCE OF THE PARTY O	***********	Water transport	on the street in the street	WHICHIII
a) Foreman			m.đ.	2.00		0.60	9.28	18.56
b) Operator A		·	m.d.	1.20		0.00	10.60	12.72
c) Operator B	:		m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.d.	12.00		0.00	9.28	111.36
e) Common labor	:		m.đ.	8.00		0.00	4.64	37.12
sub-total I						0.00		188.50
	· · · · · · · · · · · · · · · · · · ·							
2 Material		<u> </u>			<u> </u>			
a) PC girder			nos.	13.00	628.81	8,174.53	269.49	3,503.37
b) Light oil			lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant	· · · · · · · · · · · · · · · · · · ·	20 % of b)	L.S.	1.00		4.71		1.18
sub-total 2						8,202.79		3,510.44
3 8				I				
a) Crawler crane		***	<b></b>					
b) Crawlet crane		100 t	hr	8.00	75.55	604.40	18.89	151.12
c) Truck crane, hyd		35 t	hr	0.00	25.30	0.00	6.32	0.00
sub-total 3	·	15 t	hr	0.00	13.34	0.00	3.33	0.00
300-(01213						604.40		151.12
4 Overhead		20%	L.S.	1.00		1 761 00		
		20%	13.5,	1.00		1,761.00		770.00
Total for	13	nos.				10,568.19		4,620.06
							<u> </u>	1,020.00
Unit price for 1 n	0.					813.00		355.00
<u> </u>	·	1						
· · · · · · · · · · · · · · · · · · ·								
· · · · · · · · · · · · · · · · · · ·								
					*			
								<u> </u>
<del></del>								
<del></del>				<del></del>				
<del></del>						<u>-</u> -		
				<del></del>				
					) 			

No. 724		Breakdown of Unit Price		• .	
Work:	Furnishing and erection	n of PC girder, pedestrian, H (tn)	<b>- 450</b>	12.15 m long	
Unit price:	F/C	883.00 US\$/no.	I/C	386.00 US\$/no.	
	(Total	1,269.00 equiv.US\$/no.)			
Remarks:	13 nos. basis	8.79	t/no.		

Particular	Paraintina	Unit	Ole I	E/C Day	tion (US\$)	L/C Daw	on (US\$)
rankular	Description	Onit	Q'ty	Unit cost	Amount	Unit cost	Amount
1 Labor		APPENDER MANAGEMENT	realisation constitution costs.			- Chitecon	A STATE OF THE PARTY OF THE PAR
a) Foreman		m.d.	• 2.00		0,00	9.28	18.56
b) Operator A	<del></del>	m.d.	1.20		0.00	10.60	12,72
c) Operator B		m.d.	1.20		0.00	7.28	8.74
d) Rigger		m.d.	12.00		0.00	9.28	111.36
e) Common labor	·	m.d.	8.00	. *	0.00	4.64	37.12
sub-total 1					0.00		188.50
			·				
2 Material							<del></del>
a) PC girder		nos.	13.00	687.49	8,937.37	294.64	3,830.32
b) Light oil	[ ·	lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant	20 % of b)	L.S.	1.00		4.71		1.18
sub-total 2			1		8,965.63		3,837.39
				•			
3 Equipment							
a) Crawler crane	100 t	рt	8.00	75.55	604.40	18.89	151.12
b) Crawler crane	35 t	hг	0.00	25.30	0.00	6.32	0.00
c) Truck crane, hyd.	15 t	hı	0.00	13.34	0.00	3.33	0.00
sub-total 3					604.40		151.12
4 Overhead	20%	L.S.	1.00		1,914.00		835.00
Total for 13	nos.				11,484.03		5,012.01
Unit price for 1 no.					883.00		386.00
				:			
						·	<u> </u>
		3 .					
		1					
· ·				<u> </u>			
		1 2 2 2				:	
			200	:			
	:		· :				·
			1.5				

J

No. 725		Breakd	Breakdown of Unit Price									
*** 6		and the second	-		<i>3</i> =							
Work:		and erection of PC gir		trian, H (m) =		12.60		. !				
Unit price:	F/C	914.00	USIvno.		1/C _	399.00	USS/no.	1				
Domesta :		1,313.00	egaiv.us:					1				
Remarks:	13	I nos. basis	r o'v-A man-respes	9.12	√no.	***************************************	and a function of the state of	•				
	Brit-recovered and		CONTROL CONTROL VINCOU MARINE	······································	A CONTRACTOR OF THE PARTY OF TH	ACCURATE VIOLENCE PROPERTY AND ACCURATE	in A. Gallain I. Saryan, mayan sag					
Particular	HE HIS THE CONTRACT	Description	11.3	A'	P/O Dae	monormonia		**************************************				
Particulai		Description	Unit	Q'ıy		ion (US\$)	The second second	tion (US\$)				
I Labor		: Carriera de decembra de la carriera del la carriera del la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carriera de la carri		*******	Unit cost	Amount	Unit cost	Amount				
a) Foreman	<del></del>	1		200	ł			10.64				
		1	md.	2.00		0.00		18.56				
b) Operator A c) Operator B		<u> </u>	m.đ.	1.20	l	0.00		12.72				
	<del>-                                    </del>		m.đ.	1.20		0.00	·	8.74				
d) Rigger e) Common labor		1	m.d.	12.00		0.00	<del></del>	111.36				
sub-total 1	<del></del>	<del> </del>	m.d.	8.00	l	0.00	4.64	37.12				
Suo-total 1	······································	<del> </del>		<b> </b>	i	0.00	l	188.50				
2 Material	····	<u> </u>		<b> </b>	<del>                                     </del>		<del> </del>					
a) PC girder	<del></del>	1	nos.	13.00	712.81	9,266.53	305.49	3,971.37				
b) Light oil	•		lit.	147.20	1	23.55	0.04	5.89				
c) Lubricant		20 % of b)	L.S.	147.20	<del> </del>	4.71	V.V.	3.89 1.18				
sub-total 2		** ** ** -/				9,294.79	r	3,978.44				
340 (0		<u> </u>		<u> </u>		7,677,17		7,710.44				
3 Equipment	<del></del>											
a) Crawler crane		100 t	hr	8.00	75.55	604,40	18.89	151.12				
b) Crawler crane	<del></del>	35 t	hr	0.00		0,00	l	0.00				
c) Truck crane, hyd	l	15 1	hr	0.00	1	0.00	<b> </b>	0.00				
sub-total 3	•					604,40	<b>  · -· · · · · · · · · · · · · · · · · ·</b>	151.12				
	<del></del>		— <del>  —  </del>	-								
4 Overhead		20%	L.S.	ž.00		1,980.00		864.00				
Total for	13	nos.				11,879.19	I	5,182.06				
- <del></del>		1			l		r <del></del>	7,100,00				
Unit price for 1 r	no.			. :		914.00	r	399.00				
		1		1	[ <del></del>		<del></del>					
		1		· · · · · · ·	I							
		1										
		1			l							
			<del></del>				i — — —	<del></del>				
						<del></del>						
	<del>}                                    </del>		<del> </del>			<del>-</del>						
			<del></del> -									
						<del></del>		<del></del>				
					<del> </del>		<del></del>					



No. 726		Breakdown of Unit Price									
Work:	Furnishing:	and erection of P			rian, H (m) =	450	13.10	m long			
Unit price:	F/C	94	3.00 t	US\$/no.		υc	413.00	US\$/no.			
	(Total		1.00	quiv.US	\$/no.)						
Remarks:	13	nos, basis			9.40	√no.	g promovina meni media mediale bisaria di 1800.				
	(militarmalizaran casa)		ere erekter erekter	inir 4.07.comP-dd-45.25							
Particular		Description	~~~	Unit	Q'ty	E/C Doe	ion (US\$)	1 /C Doro	ion (USS)		
Pankulai		Description	<b>'</b>	·	6.0	Unit cost	Amount	Unit cost	Amount		
1 Labor		PASTA NATIONAL PASTA NATIONAL PASTA CO.		esmolatika				MOSE WHEN HE			
a) Foreman				m.đ.	2.00		0.00	9.28	18.5		
b) Operator A		· · · · · · · · · · · · · · · · · · ·		m.đ.	1.20	i	0.00	10.60	12.7		
c) Operator B				m.d.	1.20		0.00	7.28	8.7		
d) Rigger				m.d.	12.00	:	0.00	9.28	111.3		
e) Common labor				m.d.	8.00		0.00	4.64	37.1		
sub-total 1							0.00		188.5		
						·					
2 Material											
a) PC girder				nos.	13.00	741.11	9,634.43	317.62	4,129.0		
b) Light oil		· · · · · · · · · · · · · · · · · · ·		lit.	147.20	0.16	23.55	0.04	5.8		
c) Lubricant	·	20 % of b)		L.S.	1.00		4.71		1.1		
sub-total 2							9,662.69		4,136.1		
	<u> </u>			<u>-</u> -							
3 Equipment									<del> </del>		
a) Crawler crane		100 t		hr	8.00	75.55	604,40	18.89	151.1		
b) Crawler crane		35 t		hr	0.00	25.30	0.00	6.32	0.0		
c) Truck crane, hy	d.	15 t		hr	0.00	13.34	0.00	3.33	0.0		
sub-total 3				. !			604.40		151.1		
					1 1 1 1				· · · · · · · ·		
4 Overhead		20%		L.S.	1.00		2,053.00		895.0		
							12 220 00		6 220 7		
Total for	13	nos.	-				12,320.09		5,370.7		
Unit price for 1	no			··	· · · · · ·		948.00		413.0		
Our price for i	110.					<del>-</del>	7 10:00				
					——			- <del></del>			
	·————			: .							
							<del></del>				
				1	: .						
	11 (1)	:									
					1				1		
	- (4										
	- 1	<del></del>		:		:	The second		1.0		
	<del></del>										
	<del></del>	·				·———			1000		
				1	- A 1	:					
	<del></del> -	· · · · · · · · · · · · · · · · · · ·							!		
						:					

NO. 721		DIFAKU	MBOLOB	H I I I K				
Work:	Furnishing	and erection of PC gin	der, pedest	trian, H (m) =	450	£4.60	m long	
Unit price :		1,054.00			L/C		US\$/no.	4
•		1,513.00		√no.)	_	Faller Asher du sente de deri		
Remarks:		nos. basis		10.56	√no.			
Particular		Description	Unit	Q'ty	F/C Port	ion (USS)	1/C Port	ion (US\$)
		an makana saran katan bahar bahar bahar ba	or and the second		Unit cost	Amount	Unit cost	Amount
1 Labor				<b></b>			<u> </u>	
a) Foreman			m.d.	2.00		0.00	9.28	18.56
b) Operator A			m.d.	1.20		0.00	10.60	12.72
c) Operator B	<u></u>		m.d.	1.20		0.00	7.28	8.74
d) Rigger			m.d.	12.00		9.00	9.28	111.36
e) Common labor		; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;	m.d.	8.00		0.00	4.64	37.12
sub-total i						0.00		188.50
2 Material								
a) PC girder			nos.	12.00	826.01	9,912.12	354.01	4,248.12
b) Light oil			lit.	147.20	0.16	23.55	0.04	5.89
c) Lubricant	i	20 % of b)	LS.	1.00		4.71		1.18
sub-total 2						9,940.38		4,255.19
3 Equipment		i Austra					. :	
a) Crawler crane		100 t	hr	8.00	75.55	604.40	18.89	151.12
b) Crawler crane		351	hr	0.00	25.30	0.00	6.32	0.00
c) Truck crane, hyd		15 t	hr	0.00	13.34	0.00	3.33	0.00
sub-total 3						604.40		151.12
							1 1	
4 Overhead	s de	20%	L.S.	1.00		2,109.00		919.00
						·		
Total for	12	nos.				12,653.78		5,513.81
			<del></del>					
Unit price for 1 m	10.				1	1,054.00		459.00
-			· · · · · · · · · · · · · · · · · · ·	1 1				
						1 .		
								·
<del></del>							: .	
							1	
	·····						l	
	<del></del>		l					
<u></u>								
			· ·		-		l	
			ļ					
<u> </u>	1.7						<b> </b>	
	<del></del>	<del> </del>					f	



No. 728		Breakdown of Unit Price		
Work:	Furnishing and erection	n of PC girder, pedestrian, H (m) = 500		15.80 m long
Unit price:	F/C	1,261.00 US\$/no.	L/C	549.00 US\$/no.
	(Total	1,810.00 equiv.US\$/no.)		
Remarks:	11 nos, basis	12.70 Vno.		

Particular	Description	Unit	Q'ty		tion (USS)	L/C Port	ion (US\$)
		Market Market Andrews	androje programa i populari i populari populari populari populari populari populari populari populari populari	Unit cost	Amount	Unit cost	Amount
i Labor							
a) Foreman		m.d.	2.00		0.00	9.28	18.5
b) Operator A		m.d.	1.20		0.00	10.60	12.7
c) Operator B		m.d.	1.20		0.00	7.28	8.7
d) Rigger		m.d.	12.00		0.00	9.28	111.3
e) Common labor		m.d.	8.00		0.00	4.64	37.1
sub-total l					0.00		188.5
	·				· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·
2 Material				<u> </u>			
a) PC girder		nos.	11.00	993.41	10,927.51	425.75	4,683.2
b) Light oil		lit.	147.20	0.16	23.55	0.04	5.8
c) Lubricant	20 % of b)	L.S.	1.00		4.71		1.1
sub-total 2					10,955.77		4,690.3
3 Equipment							
a) Crawler crane	100 t	hr	8.00	75.55	604.40	18.89	351.1
b) Crawler crane	35 t	hr	0.00	25.30	0.00	6.32	0.0
c) Truck crane, hyd.	15 t	hr	0.00	13.34	0.00	3.33	0.0
sub-total 3	i i	11			604.40		151.1
4 Overhead	20%	L.S.	1.00		2,312.00		1,006.0
Total for 31	nos.				13,872.17		6,035.9
							<u> </u>
Unit price for 1 no.					1,261.00		549.0
			,				
<u> </u>	·						
		<u> </u>					
		<u> </u>	7				:
							. :
					V		
							· · · · · · · · · · · · · · · · · · ·
					-		
		T				:	
					_		<del></del>
		1					

No. 801	Breakdown of Unit Price							
551	The sandon o	4 =- alltamı matarista						[
Work:	F/C	and ancillary materials	1166/m		I /C	1.00	**************************************	
Unit price :		4.26 5.26	Anio DS1	(m)	DC.	I.W	023/W	1
Remarks :		m basis	equiv.ous	viuj	0.98	ba'm		
RCHAIRS .	100	III Uasis			V.70	AX III	**************************************	
		***************************************				entransantarias value (1 to 1 to 1 to 1 to 1 to 1 to 1 to 1 t	THE PARTY OF THE P	
Particular		Description	Unit	Q'ty	F/C Po	rtion (US\$)	1 /C bost	ion (US <b>\$</b> )
rainculai		Description	Viii	ν,	Unit cost	Amount	Unit cost	Amount
1 Labor			***************************************	x.anonomous tales.	Omeon	70110an	VIII (OS)	AHQUH Pampananan
			m.d,	1,00		0.00	0.29	0.20
a) Foreman	· ·			2.00		0.00	9.28 7.28	9.28
b) Skilled labor	<del></del>		m.d.	4.00				14.56
c) Common Labor			m.đ.	7.00		0.00	4.64	18.56
sub-total I				···-		0.00	<del></del>	42.40
2 142-1							<del> </del>	
2 Material	· <del></del>	·	<u>-</u>	00.00		100.22	0.01	
a) PC bar			kg	98.00		180.32		20.58
b) PC cable sheath		16mm	lin.m	100.00	1.42	142.00	- <del></del>	16.00
c) Non-shrink more	N.		lit	0.50	1.44	0.72	f —	0.31
d) Miscellaneous	<u>-</u> -	10%	L.S.	1.00		32.30		3.69
sub-total 2						355.34		40.58
		<u></u>			· · · · · · · · · · · · · · · · · · ·	·		
. :: <u>:</u>								
3 Overhead	· · · · ·	20%	L\$.	1.00	<u> </u>	71.07		16.60
								· · · · · · · · · · · · · · · · · · ·
Total for	100	m	<u> </u>			426.41		99.58
	· · · · · ·							
Unit price for 1 r	n	 				4.26		1.00
<u> </u>					<u> </u>			
·								
·			<u> </u>			·		× . :
			<u> </u>					
			·	<u> </u>				
				<u> </u>				
	*							
								: '
1 1 1		1						
	<del></del>					1		· · · · · · · · · · · · · · · · · · ·
	<del></del>			1,44	*	· · · · · · · · · · · · · · · · · · ·	l	
			7.		<del></del>			
							l	
	<u>:</u>		1	1	· · · · · · · · · · · · · · · · · · ·			





No. 802		Breakd	own of U	nit Price				. *
		ring pad: t=33mm, W		inicialismo de Mariacite. El est Delinio 1984		THE PARTY OF THE P		
Unit price :			US\$/sq.m		nc.	25.70	US\$/sq.m	
Remarks:	(Total	242.70 m basis	equiv.US		m wide			
Kemarks:		A STATE OF THE THE THE THE THE THE THE THE THE THE			III WALL			
Particulas	hadron hadrideler	Description	Unit	Q'ty	F/C Po	rtion (US\$)	UC Por	tion (US\$)
		27111-7412		\ \	Unit cost	Amount	Unit cost	Amount
1 Labor			**********		PSCOUPERST PORTO			A CARLON AND SHAPE
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Skilled labor			m.d.	1.00		0.00	<b>7.28</b>	7,28
c) Common Labor			m.d.	2.00		• 0.00	4.64	9.28
sub-total l			<u> </u>		-	0.00		25.8
2 Material		· <u>··············</u>		· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·
a) Elastic bearing pad		t=33mm,W=15cm	lin.m	20.00	179.14	3,582.80	19.91	398.20
b) Miscellaneous		1%	L.S.	1.00		35.83		3.99
sub-total 2						3,618.63		402.18
								·
3 Overhead	· ·	20%	L.S.	1.00		723.73		85.60
Total for	20	m2				4,342.36		513.6
Unit price				11.		217.00		25.7
								:
		<u></u>						<u></u>
<u> </u>	116			l				
	·					···		
					·			·
			<b>-</b>	· · · · · · · · · · · ·	<del></del> -		:	<del>_</del>
								<del> </del>
					:			
			1 - 1 - 1 -			<u> </u>	·	
			·					
	. :			11				
	<del>:</del> _		<del> </del>	<b> </b>				<del></del>
			· · · · · · · · · · · · · · · · · · ·			_ <del></del> _		
<u>- ^                                   </u>				<u> </u>		<u></u>		<del></del>
			<del> </del>	<b> </b>				
<del></del>			1	<b> </b>				
			+	ļ				<del></del>

							2 42.1402Ex.17132	
No. 803		Breakd	own of Ur	nit Price				
Work:	Non-shrink	moriar						
Unit price :		and the statement of th	US\$/lit.	الطبات الدوانات المالية	I/C	1.27	US\$/lit.	
p > + V	(Total	3.11	-	Mic)			·	
Remarks:		: D 10 34 m x 0.56 kg/			kg / 100 lit.			
grantfood Bull a	the contract of the safety of the	lit. basis		- 7.47°				
	100	www.4 at any gas a security - make week at a security and a security at a securi	······································			no-grape and se specially and appropriate months to		
Particular		Description	Unit	Q'ty:	F/C DA	rtion (US\$)	I/C Por	tion (USS)
* EUCLUM	ļ	est indicit	, ,,,,,,	40	Unit cost	Amount	Unit cost	Amount
1 Labor	**************************************		-	*****		PARTY OF THE PARTY		CHECK OFFICE CONTRACT
a) Foreman		<del> </del>	m.đ.	1.00		0.00	10.00	10.00
b) Skilled labor			m.đ.	2.00		0.00	6.74	13.48
c) Common Labor			m.d.	4.00		0.00		
sub-total 1	<u> </u>	<del> </del>		7.00		0.00	7.10	42.28
SUC-LUIAN I			<del> </del>			V.W		72.40
2 Material			1				<u> </u>	
a) Reinforcing bars		D 10	kg	19.04	0.43	8.19	0.05	0.95
b) Non-shrink mort		1	lit.	100.00	1.44	144.00		62.00
c) Miscellaneous		1%	L.S.	1.00	3.44	1.52		0.63
sub-total 2	<del></del>		1.3.	1.00		153.71		63,58
300-10t41 Z			1			133,71		95,36
	<del></del>	<del>                                     </del>			<u> </u>	<u> </u>		<del>                                     </del>
3 Overhead	<del></del>	20%	Ł.S.	1,00		30.74		21.17
3 Ottmesu:		20%	٤٠,٥,	,		30.74		41,17
Total for	100	lit.	<del>                                     </del>			184.45		127.03
10/41 R#		† <del>************************************</del>				104.43		321.03
Unit price	<del></del>	<u> </u>	·			1.84		1.27
Ond PARE		1	1			1.04	<b> </b>	1.21
		<del>                                     </del>				<del>-</del>		-
	· · · · · · · · · · · · · · · · · · ·	<b> </b>	<del> </del>			7.		
<del>· · · · · · · · · · · · · · · · · · · </del>		<del></del>	1:	<u></u>				
		<del>                                     </del>	<del>     </del>		, , , , , ,			
	·	<del> </del>	-	<b> </b>				
							[	
	<del></del>		<del>                                     </del>	<b> </b>				
	<del></del>		<del></del>					<u> </u>
		1	<del>                                     </del>				[	
	<u>.</u> :		<del></del>					
			1					
		<del> </del>	- <b> </b>		· · · · · · · · · · · · · · · · · · ·		l	
<del> </del>		1	1	1	1			
	<del></del>	1	1	<b> </b>				
	· · · · · · · · · · · ·		1		<u> </u>			l
	····							
	<del> </del>		1					
	<u> </u>							
	<del></del>							<del></del>
	<del></del>	·					<u> </u>	
				<ul> <li></li></ul>		t ·		•

No. 804		Breakd	own of Ur	ait Price				
Work:	Anchoring	in fixed bearing shoe						
Unit price:	F/C	12.02	US\$/no.		L/C	6.48	US\$/no.	
	(Total		equiv.US\$	/no.)	•			
Remarks:	Arichor bai	r:32mm x 730mm x 6.2	3kg/m =		4.55 k	gino.		
	Anchor ca	esteel pipe -	0.32	m/no.		distribution of the same and distributions	nos. basis	
	Steel pipe.	140 mm diam. =	0.4	m∕no.	THE RESERVE OF THE PARTY OF THE	E TO COMPANY AND A STATE OF THE PARTY OF THE		
Particular	DOS-TOTAL SERVICE AS ASSESSED.	Description	Unit	Q'ıy	F/C Por	tion (US\$)	L/C Port	ion (USS)
		1	1 1		Unit cost	Amount	Unit cost	Amount
1 Labor	ON A COMPANY OF THE STATE OF THE STATE AND A	Designation of the second section of the second section is the second section of the second section is the section is the second section is the second section is the second section is the second section is the second section is the second section is the second section is the second section is the second section is the second section is the section is the section section is the section is the section is the section is the section is the section is the section is the section is the section section is the sectio		MONTH AND AND AND AND AND AND AND AND AND AND		THE PARTY OF THE P		
a) Foreman			m.d.	1.00		0.00	9.28	9.28
b) Skilled labor			m.đ.	2.00		0.00	7.28	14.56
c) Common Labor			m.d.	4.00		0.00	4.64	18.56
sub-total 1		. 1	1			0.00		42.40
			1	:		0.00		14.70
2 Material								
a) Anchor bar		D 32 mm	1	45.50	0.43	19.57	0.05	2.28
		Diam. 50mm	kg lin.m	3.20	4.06	12.99	0.46	
b) Anchor cap	<del></del>		1		<del></del>			1.47
c) Sicel pipe	· · ·	Diam. 140mm	lin.m	4.00	15.94	63.76	1.78	7.12
d) Non-shrink mort	ar		liL	0.62	1.44	0.89	0.62	0.38
e) Miscellaneous	<del></del>	3%	L.S.	1.00		2.92		0.34
sub-total 2						100,13		11.59
<del></del>	<u> </u>			·				
3 Overhead		20%	L.S.	1.00		20.03		10.80
							:	<u> </u>
Total for	10	nos.		·		120.16		64.79
Unit price for 1 r	ю.					12.02		6.48
				·				
								<del></del>
	<del></del>							
		<del></del>						
	·		:					
			·					
	7	<del>  · · · · · · · · · · </del>						
· · · · · · · · · · · · · · · · · · ·	<del></del>		<del>-</del>					
		<del>                                     </del>	l			<del></del>		
<del></del>	<del></del>			· · · · · · ·				. <del></del>
	<del></del>	<u> </u>				<del></del>		<del></del>
								<del></del>
								··
<del></del>	<del></del>							
	· · · · · · · · · · · · · · · · · · ·					<del> </del>		<u> </u>
- · · · - · · · · · · · · · · · · · · ·			<b> </b>					<del></del>
			<b> </b>					
		1	i i	ľ	Į	į.	1	

()

Breakdown of Unit Price No. 805 Work: Anchoring in movable bearing shoe 6.31 US\$/no. 10.60 US\$/no. L/C Unit price: (Total 16.91 equiv.USS/no.) Anchor bar:32mm x 590mm x 6.23kg/m = 3.68 kg/no. Remarks: Anchor capisteel pipe = 0.41 m/no. 10 nos, basis Steel pipe, 140 mm diam. = 0.33 m/no. Particular Description Unit Q'ty F/C Portion (US\$) L/C Portion (US\$) Unit cost Unit cost Amount Amount 1 Labor m.đ. 1.00 0.00 9.28 9.28 a) Foreman b) Skilled labor 2.00 14.56 m.d. 0.00 7.28 m.d. 4.00 0.00 4.64 18.56 c) Common Labor 0.00 42.40 sub-total I 2 Material 36.80 0.05 0.43 15.82 1.84 a) Anchor bar D 32 mm kg b) Anchor cap oval, 95mm lin.m 4.10 4.06 16.65 0.46 1.89 3.30 15.94 5.87 Diam. 140mm m.nif 52.60 1.78 c) Steel pipe d) Non-shrink mortar lit 0.51 1.44 0.73 0.62 0.32 1.00 e) Miscellaneous 3% L.S. 2.57 0.30 sub-total 2 88.37 10.22 20% 1.00 17.67 10.52 3 Overhead L.S. 106.04 63.14 Total for 10 nos. 10.60 Unit price for 1 no. 6.31





No. 806	. 806 Breakdown of Unit Price							
Work:	Bearing sho	e Gr						* .
	F/C		US\$/nos.		L/C	231.00	IISS/noe	
Unit price:	(Total		equiv.US\$	inos )	DC_	EJI,UU	Ç G G 11 (13).	
Remarks:	(Total	2,143.00	equiv.053	1100.7				# **
Keniars.	10	nos. basis	TOTAL CANADA PARA CONTRACTOR CO	interestada estra alternatura de la compositación.	Markey Markey (Section Section Section), Section			
	10	1105. 04575	~~~~	Charles of American	Carrier of the Contract of the	and the second section of the section of t		
Particular		Description	Unit	Q'ty	F/C Po	rtion (US\$)	L/C Por	tion (USS)
					Unit cost	Amount	Unit cost	
1 Labor	Control of the particle.							
a) Foreman			m.d.	1.00		0.00	10.00	10.00
b) Skilled labor			m.d.	4.00		0.00	6.74	26.90
c) Common Labor		- in	m.d.	4.00		<b>0.0</b> 0	4.70	18.80
seb-total I						0.00		55.76
	<u>,</u>					4 4 1 4 4		
2 Material	1 2		:					
a) Bearing shoe		fix	nos.	10.00	1,665.39	16,653.90	185.05	1,850.50
b) Miscellaneous		1%	L.S.	1.00		166.54		18.5
sub-total 2						16,820.44		1,869.01
		· · · · · · · · · · · · · · · · · · ·		·				
3 Overhead		20%	L.S.	1.00		3,364.09	<del>-                                    </del>	384.95
						20 194 53		2 200 2
Total for	01	nos.				20,184.53		2,309.72
•fair pains						2,018.00	· <del></del>	231.00
Unit price	<del></del>				· · · · · · · · · · · · · · · · · · ·	2,010.00		231.0
	. :				<u></u>			
	<del></del>					:		<del></del>
								<u> </u>
					: :	:		
		- 1						
	1.0							
	· · · · · · · · · · · · · · · · · · ·							
		<u></u>						
	<u> </u>						·	<u> </u>
			1 1 1				<u></u>	<del></del>
: .	<u> </u>	. :						
							-	<u> </u>
		:						
		•						

No. 807	Breakdown of Unit Price								
Niz-a-	Decide at a								
Work: Unit price:	Bearing sho		1156/noc	<u> </u>	1/0	213.00	HS\$/nne	1	
ompke.		1,852.00 2,065.00		(nos )	170	213,00	033 1103.	i	
Remarks:	(1041)	# 1,000,000	equit.oss	riios.)					
Killars .	10	nos. basis		apanan Amahar wakamani		Problemski va "Bati-mi, ostan skulton Armoviyasi	Bennantagan mar ang	ı	
		Committee of the Commit		AND DESCRIPTION OF THE PARTY OF		**************************************	Estano esta esta esta esta esta esta esta esta		
Particular	·C.AC. Anterior policy	Description	Unit	Q'ty	E/C Po	rtion (US\$)	L/C Port	tion (USS)	
• 65 (141)		2000.,200.		\ \ \	Unit cost	Amount	Unit cost	Amount	
1 Labor		in Cartain an School State Cartain Cartain Cartain Cartain Cartain Cartain Cartain Cartain Cartain Cartain Cart	V (1)				AND ADDRESS OF THE PARTY OF THE	<del></del>	
a) Foreman	:		m.d.	1.00		0.00	10.00	10.00	
b) Skilled labor		· · · · · · · · · · · · · · · · · · ·	m.đ.	4.00		0.00	6.74	26.96	
c) Common Labor			m.d.	4.00		• 0.00	4.70	18.80	
sub-total 1	· · · · · ·					0.00		55.76	
	1						~		
2 Material	:							· · · · · · · · · · · · · · · · · · ·	
a) Bearing shoe		movable	nos.	10.00	1,528.44	15,284.40	169.83	1,698.30	
b) Miscellaneous		1%	L.S.	1,00	· · · · · · · · · · · · · · · · · · ·	152.84	-	16.98	
sub-total 2		:		:		15,437.24		1,715.28	
3 Overhead		20%	L.S.	1.00		3,087.45	,,	354.21	
Total for	. 10 :	nos.				18,524.69		2,125.25	
Unit price	1.1					1,852.00		213.00	
		·	:	<u> 1900 yyan a 19</u>	· · · · · · · · · · · · · · · · · · ·				
	<u> </u>			<u> </u>	<u> </u>				
					:. 				
	:							<u> </u>	
		:							
	·						<u></u>		
		_ <del></del>			:		<u>.</u>		
	<del>,</del>			<u></u>			· ·	<u> </u>	
	<del></del>		<b> </b>						
	<del> </del>						<u> </u>		
			<u> </u>		<b> </b>	<b> </b>			
<u> </u>	<u> </u>			<u> </u>			<del></del>	<del> </del>	
	<del></del>		<u> </u>						
	<u> </u>		l	<b></b>	<b></b>	<del> </del>			

No. 808	Breakdown of Unit Price								
Work:	Guard pipe.	for roadway bridge							
Unit price:		Appropriate the second	US\$/lin.m		L/C	11.30	US\$/lin.m		
· · · · · · · · · · · · · · · · · · ·	(Total	52.70			-	engineran artakondoli (1944) den aras eskarda (1944)	•		
Remarks :	(,,,,,,,		-4						
Kiduks .	10	m basis			Togrand and the second				
		111 (1931)	************						
		Description	Unit	Q'ıy	E/C D.	rtion (US\$)	1 /C Por	tion (USS)	
Particular		Description	Onn	νυ	Unit cost	Amount	Unit cost	Amount	
			en en en en en en en en en en en en en e	radioale a resident de la Calabara			AND DESCRIPTION OF THE PARTY OF		
1 Labor								10.00	
a) Foreman			m.d.	1.00		0.00	10.00		
b) Skilled labor			m.d.	4.00		0.00	6.74	26.90	
c) Common Labor		. <u> </u>	m.d.	4.00		0.00	4.70	18.80	
sub-total I						0.00		55.76	
			:				- <del></del>		
2 Material									
a) Guard pipe		roadway	lin.m	10.00	33.52	335.20	3.73	37.30	
b) Miscellaneous		3%	L.S.	1,00		10.06		1.13	
sub-total 2						345.26		38.4	
3 Overhead		20%	L S.	1.00		69.05		18.8	
J Ottikao		200	15.0.						
T-4-3 for		m	<del></del>			414.31		113.0	
Total for	10	m ·		: : : : : : : : : : : : : : : : : : : :		414.51		113.0	
			}			41.40		11.30	
Unit price		<del></del>				41.40	<del></del>	11.3	
						<del> </del>			
					1				
	· · ·	<del> </del>		<del></del> -					
								-	
							<del></del>		
1				· · · · · · · · · · · · · · · · · · ·				<u> </u>	
						·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	
	· .					<u> </u>			
				l	l				
	, , , , , , , , , , , , , , , , , , ,		1.5						
						;			
			<u> </u>						
			<b></b>					<del>-</del> -	
<u> </u>			<del> </del>						
<u> </u>				<del> </del>	. 1			<del></del>	
			l		<del> </del>				
	•		1 1	<b> </b>					
			<b>}</b>	ļ	<b> </b>	<del></del>			
E		I	i .	I	1 .				

No. 809	Breakdown of Unit Price								
Work:	Condition	for and orbitan bridge							
		for podestrian bridge 174.00	US\$/lin.m	n or all delivery on the state of the state	L/C _	27 AO 1	US\$/lin.m		
Unit price:			equiv.US\$		DC_	27.00	QS\$/IIII.Sti	i	
Remarks:	(10:2)	201.00	equiv.oss	» ma-617)					
Wind KS.	10	m basis	The second section of the latest described			Santo-Carra Actoritation Appellant		ì	
	10	111 (43)13		CONTRACTOR CONTRACTOR	CONTRACTOR OF THE PARTY OF THE				
Particular		Description	Unit	Q'ty		rtion (US\$)	L/C Port	ion (US\$)	
	1			.,	Unit cost	Amount	Unit cost	Amount	
i Labor		e de l'Unit d'abbas de l'Abbas de l'Estat		***************************************	1				
a) Foreman			m.d.	1.00		0.00	10.00	10.00	
b) Skilled labor	· · · · · · · · · · · · · · · · · · ·	·	m.d.	5.00		0.00	6.74	33.70	
c) Common Labor			m.d.	5.00		0.00	4.70	23.50	
sub-total I						0.00	i	67.20	
2 Material	. :								
a) Guard pipe		pedestrian	lin.m	19.00	140.56	1,405.60	15.62	156.20	
b) Miscellaneous		3%	L.S.	1.00		42.17		4.69	
sub-total 2	1.1					1,447.77		160.89	
		, -							
							:		
3 Overhead		20%	LS.	1.00		289.55	7	45.62	
	:								
Total for	10	m.				1,737.32		273.71	
							10,120		
Unit price						174.00		27.00	
		·							
					4.0				
							, ·	<u> </u>	
<u></u>	<u> </u>								
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1							
· · · · · · · · · · · · · · · · · · ·		<u> </u>		ļ					
	· · · · · · · · · · · · · · · · · · ·								
					<b></b>				
			<u> </u>						
			7						
			: -		ļ			<u> </u>	
	<u> </u>								
	<del></del>	·	<b> </b>	· · ·					
	:	<u> </u>				<u> </u>			
		·		<u> </u>					
			<b> </b>			<u> </u>			
	<u> </u>			ļ					
<del></del>	·			ļ	ļ.,			<u> </u>	
	<u> </u>		<b> </b>	ļ	• •	· :			
<u> </u>				<u> </u>		·			
						1			



No. 810		Breakdo	wn of U	nit Price					
Work:		D=100mm, L=84cm, v	vith cap		of Constants State of Constants	· almantana and a filipana	understand der einer seiner State de		
Unit price :	F/C	the State of the Paris and the State of the	US\$/no.		1/0	2.14	US\$/no.		
	(Total	6.86	equiv.US	\$/no.)					
Remarks:	۸۶	nos. basis	r'antineratristallingirali i	O MARIO PARTO NAMED AND ADDRESS OF THE PARTON NAMED AND ADDRES		abouted-to-take market relations with the second			
	30	nos, pasis				AN THE LEASE SERVICE TO AN OWNER THE PROPERTY AND AND	makertarne, a may neg		
Particular		Description	Unit	Q'iy	F/C Portion (USS)		L/C Port	on (USS)	
·					Unit cost	Amount	Unit cost	Amount	
l Labor									
a) Foreman			m.d.	1.00		0.00	10.00	10.00	
b) Skilled labor	· .		rn.d.	5.00		0.00	6.74	33.70	
c) Common Labor			m.d.	5.00		0.00	4.70	23.50	
sub-total I						0.00		67.20	
0.34								,	
2 Material		D=100mm, L=84cm	lin.m	50.00	3.82	191.00	0.43	21.50	
a) Drain pipe, with o b) Miscellaneous	ар	3%	LS.	1.00		5.73	0.43	0.6	
sub-total 2			1,0.			196.73		22.1	
					:				
								· · · · · · · · · · · ·	
3 Overhead		20%	L.S.	1.00		39.35		17.8	
			· :						
Total for	50	m	· .			236.08		107.2	
	* * * * * * * * * * * * * * * * * * *	<del></del>				4.22			
Unit price		·				4.72		2.1	
<u> </u>						<del></del>			
			:						
			· 						
				* * . * * * .	:			:	
	· · · · · · · · · · · · · · · · · · ·	<u> </u>							
						······································		<del></del>	
	<del></del>							<u> </u>	
	<del>:</del>			ł <del></del>					
						١			
								<u></u>	
	: 			· · · · · · · · · · · · · · · · · · ·					
i		1		I .	4 m g t		`		

DESCRIPTION OF THE PARTY OF	AMERICAN DESCRIPTION	MINION CONTRACTOR	A CONTRACTOR OF THE PARTY	AND THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS		A PARTICULAR DE MAIN DE PRÉSENTATION	The Control of Control	
No. 811	-	Breakdo	own of U	Init Price			A Company of the Comp	- Total Control
Work:	Drain pipe	. D-75mm, L-70cm						1
Unit price:	F/C	4.15	US\$/no.		I/C	2.08	US\$'no.	
	(Total	6.23	equiv.US	\$/no.)	The second section of the section of the sect			
Remarks:	*************				tariates escentes pe		A yen bidi arrangan ang mg	!
	50	) nos. basis	N. They Washer March records that	mayanan dan dan dan dan dan dan dan dan dan	- Maria Maria da managrapaya	FATTAN AFTERNA CONTRACT	-	1
Particular	ers er senskirstrae	Description	Unit	Q'ty	F/C Por	rtion (US\$)	L/C Por	tion (US\$)
· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·			Unit cost	Amount	Unit cost	Amount
1 Labor	V-100					***************************************	1	
a) Foreman	· !	<u> </u>	m.d.	1.00	1	0.00	10.00	10.00
b) Skilled labor		<u> !</u>	m.d.	5.00	····	0.00	6.74	33.70
c) Common Labor			m.d.	5.00	<b></b>	0.00		23.50
sub-total I	<del></del>	<b></b> /	<del> </del>	ļ/	<b> </b>	0.00	<i></i>	67.20
2 Material			<b> </b>		<b> </b>		<b></b>	
2 Material		7 75 1 30cm	<del> </del> _			:(2.00		
a) Drain pipe     b) Miscellaneous		D-75mm, L-70cm	lin.m	50.00		168.00	0.38	19.00
sub-total 2		3%	L.S.	1.00	<b> </b>	5.04	<del></del>	0.57
Suo-total &		<del></del>		<del> </del>	<del> </del>	173.04		: 19.57
				<b> </b>	l			
3 Overhead		20%	L.S.	1.00		34.61	,	17.35
							,———	3 Feerw
Total for	50	m				207.65		104.12
							, <del></del>	
Unit price						4.15		2.08
<del></del>								
			<u>                                     </u>	<b> </b>	<b></b>			
	<del></del> !		<u>                                     </u>	<b> </b>				· · · · · · · · · · · · · · · · · · ·
				<b> </b>			, <u>:</u>	1 [+]
		<b> </b>	!	<b> </b>	I			
				<b>  </b>				
<u> </u>		1	ļI	<del> </del>	ı <del></del>			
<u> </u>		<u> </u>	<u>-</u>					
				<del></del> ;	/ <del></del>			
	<del></del>		<del>                                     </del>	<del> </del>	ı <del></del>		<del></del>	
		1 2 2 2		<u> </u>				
	:				·			
								11.
				2 1				
	,		[ ]					

No. 813	Breakdown of Unit Price							
	Expansion joint, for roadway bridge							
Unit price:	F/C _	306.00 US\$/lin.m L/C 42.00 US\$/lin.n 348.00 equiv.US\$/lin.m)						
<b>.</b> .	(Total_	348.00	equiv.USS	(tin.m)				
Remarks:	10 m basis							
			merch mechanic					
Particular		Description	Unit	Q'ty	F/C Portion (US\$) Unit cost Amount		Unit cost	ion (US\$) Amount
reds.l		HANNEY OF THE WAY NAMED IN THE PARTY OF THE	raidu sinsanakaisisis	vä. Perroti en siere	Unit Cost	Amount	Cintost	Vincent
a) Foreman			m.d.	1.00		0.00	10.00	10.00
b) Skilled labor			m.d.	5.00		0.00	6.74	
c) Common Labor			m.d.	5.00		0.00	4.70	23.50
sub-total I						0.00		67.20
2 Material								
a) Expansion joint		roadway	lin.m	10.00	242.69	2,426.90	26.97	269.70
b) Miscellaneous		5%	L.S.	1.00		121.35 2,548.25		13.49 283.19
sub-total 2		:	· <del></del>			2,348.23		203.13
3 Overhead		20%	L.S.	1.00		509.65		70.08
J OTTIKES		20%		1.00				
Total for	10 1	n				3,057.90		420.41
Unit price						306.00		42.00
				·				
			·					+ *!
		<del></del>						
		· · · · · · · · · · · · · · · · · · ·						
<del></del>								
				1.				<u>,,</u>
				<del> i,</del>		i		
				:				
							<u> </u>	
	· · · · · · ·						:	
<u> </u>							<del></del>	· · · · · · · · · · · · · · · · · · ·
		:	<u> </u>	. :				<u> </u>
	<u> </u>	<u> </u>		<u> </u>		* * *	·	
		<u> </u>			<u></u>		<del></del>	
		:						\ <u></u> -